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301 
fo"k; %fo"k; %fo"k; %fo"k; % fgUnhfgUnhfgUnhfgUnh    

Subject: HINDI 
le; % 03 ?k.Vs                                                                           iw.kk±d % 100 
Time: 03 Hours                                                                   Maximum Marks:  100 

funsZ’k & funsZ’k & funsZ’k & funsZ’k &         

    (i)    iz’uiz’uiz’uiz’u    i= esa [k.M &^^d**]i= esa [k.M &^^d**]i= esa [k.M &^^d**]i= esa [k.M &^^d**]    ^^[k**] ^^x** gSaA [k.M ^^d** djuk ^^[k**] ^^x** gSaA [k.M ^^d** djuk ^^[k**] ^^x** gSaA [k.M ^^d** djuk ^^[k**] ^^x** gSaA [k.M ^^d** djuk vfuok;Z gSvfuok;Z gSvfuok;Z gSvfuok;Z gSA [k.M ^^[k** A [k.M ^^[k** A [k.M ^^[k** A [k.M ^^[k** 

rFkk [k.M ^^x** esa ls dksbZ ,d [k.M gy djuk rFkk [k.M ^^x** esa ls dksbZ ,d [k.M gy djuk rFkk [k.M ^^x** esa ls dksbZ ,d [k.M gy djuk rFkk [k.M ^^x** esa ls dksbZ ,d [k.M gy djuk vfuok;Z vfuok;Z vfuok;Z vfuok;Z gSAgSAgSAgSA        

                                    (ii)    iz’u 1 ls 4 rd oLrqfu"B iz’u gSaA iz’u 1 ls 4 rd oLrqfu"B iz’u gSaA iz’u 1 ls 4 rd oLrqfu"B iz’u gSaA iz’u 1 ls 4 rd oLrqfu"B iz’u gSaA     

                                    (iii)    nksnksnksnks    &&&&    nks vadksnks vadksnks vadksnks vadksaa aa    okys okys okys okys iz’uksa dh 'kCn lhek 20 'kCn gSiz’uksa dh 'kCn lhek 20 'kCn gSiz’uksa dh 'kCn lhek 20 'kCn gSiz’uksa dh 'kCn lhek 20 'kCn gSAAAA    

    (iv)    rhurhurhurhu    &&&&    rhu vadksrhu vadksrhu vadksrhu vadksaa aa    aa aaokys okys okys okys iz’uksa dh 'kCn lhek 40 'kCn gSiz’uksa dh 'kCn lhek 40 'kCn gSiz’uksa dh 'kCn lhek 40 'kCn gSiz’uksa dh 'kCn lhek 40 'kCn gSAAAA    

    (v)    pkj & pkjpkj & pkjpkj & pkjpkj & pkj    vavavavadksdksdksdksaa aa    okys iz’uksa dh 'kCn lhek 6okys iz’uksa dh 'kCn lhek 6okys iz’uksa dh 'kCn lhek 6okys iz’uksa dh 'kCn lhek 60 'kCn gS0 'kCn gS0 'kCn gS0 'kCn gSA A A A     

                                        (vi)        lHkh lHkh lHkh lHkh iz’uksa esa vkarfjd fodYi fn, x, gSaAiz’uksa esa vkarfjd fodYi fn, x, gSaAiz’uksa esa vkarfjd fodYi fn, x, gSaAiz’uksa esa vkarfjd fodYi fn, x, gSaA    

       (vii)  lHkh iz’uksa ds fu/kkZfjr vad muds lEeq[k vafdr gSaAlHkh iz’uksa ds fu/kkZfjr vad muds lEeq[k vafdr gSaAlHkh iz’uksa ds fu/kkZfjr vad muds lEeq[k vafdr gSaAlHkh iz’uksa ds fu/kkZfjr vad muds lEeq[k vafdr gSaA        
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 [k.M & ^^d^^ vfuok;[k.M & ^^d^^ vfuok;[k.M & ^^d^^ vfuok;[k.M & ^^d^^ vfuok;ZZZZ     

iz-1 fjDr LFkkuksa dh iwfrZ fn;s x;s fodYi ds vk/kkj ij dhft, %&  

¼1½   dfork dh izsj.kk ls dk;Z esa ------------------- c<+rh gSA ¼izo`fÙk] dqo`fÙk] o`fÙk½ 

¼2½ euq"; dk tUe feyuk ------------------------ gSA ¼dfBu] nqyZHk] vklku½ 

¼3½ g¡lh ,d lkFk gh ---------------------------------- dks izlUu djrh gSA ¼’kjhj vkSj  

     eu] 'k=q vkSj fe=] tM+ vkSj psru½ 

¼4½ Øks/k] 'kkafr -------------------------------- euksfodkj gSA ¼iznku djus okyk] Hkax djus  

     okyk] c<+kus okyk½ 

¼5½ ^^jk/kk cnu paæ lkS lqUnj^^ esa vyadj gSA ¼:id] mRizs{kk] miek½ 

¼1¼1¼1¼1××××5555====5½5½5½5½ 

iz-2 fuEufyf[kr okD;ksa ds fy, lgh fodYi pqudj fyf[k, %& ¼1¼1¼1¼1××××5555====5½5½5½5½ 

 ¼1½ izdk’k dk foykse 'kCn gS &  

 ¼1½ re                   ¼2½ dkyk  

 ¼3½ va/ksjk                           ¼4½ mtkyk 

    

 ¼2½ jke HkfDrdkO; esa dkSu lk Hkko izeq[k gS &  

 ¼1½ izse       ¼2½ nkL;  

 ¼3½ iwtk       ¼4½ l[; 

 

 ¼3½ ^^nkx yxuk^^ eqgkojss dk vFkZ gS &  

 ¼1½ vPNk yxuk     ¼2½ cqjk yxuk  

 ¼3½ bTtr ikuk      ¼4½ dyafdr gksuk 

 

 ¼4½ loZizFke fgUnh x| dk lkfgfR;d :i esa fodkl gqvk &  

 ¼1½ “kjrsUnq ;qx      ¼2½ Nk;koknh ;qx 

 ¼3½ f}osnh ;qx      ¼4½ iz;ksxoknh ;qx 

 

 ¼5½ dkSu lk okD; 'kq) gS &  

 ¼1½ 'kadj vkSj mldk fe= cktkj x,A 

        ¼2½ 'kadj vkSj mldk fe= cktkj tkb;sxkA  

 ¼3½ 'kadj vkSj mldk fe= cktkj esa x,A 

       ¼4½ 'kadj vkSj mldk fe= cktkj x;kA 
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iz-3 lgh tksfM+;k¡ cukb, %&         

           ¼v½           ¼c½ 

¼1½ ihf<+;k¡ vkSj fxfV~V;k¡    vof/k Hkk"kk 

¼2½ jfr dk LFkkbZ Hkko    cztHkk"kk 

¼3½ eq>s dne&dne ij    gfj’kadj ijlkbZ 

¼4½ paæ dk i;kZ;okph    J`axkj 

¼5½ HkkjrsUnq ;qxhu dkO; dh “k"kk   egknsoh oekZ 

                                    'k’kkad 

                                           xtkuu ek/ko HkqfDr cks/k 

¼1¼1¼1¼1××××5555====5½5½5½5½ 

iz-4 fuEufyf[kr dFkukas esa ls lR;@vlR; pqudj fyf[k, & 

¼1½ ^^n’kkuu^^ esa f}xq lekl gSA 

¼2½ “fDrdky fgUnh lkfgR; dk Lo.kZ;qx dgykrk gSA 

¼3½ ^^lw;Z^^ dk i;kZ;okph jfo gksrk gSA 

¼4½ vk¡[kksa ls fudys vk¡lw O;fDr ds eu ds nq%[k dks O;Dr dj nsrs gSaA 

¼5½ izR;;] 'kCn ds vkjaHk esa yxrs gSaA 

¼1¼1¼1¼1××××5555====5½5½5½5½ 

iz-5 jSnkl us bZ’oj dh miek fdu & fdu rRoksa ls nh gS\ 

vFkokvFkokvFkokvFkok 

gkFkh tgk¡ rgk¡ D;ksa /kwy mM+krk jgrk gS\ 

¼2½¼2½¼2½¼2½ 

iz-6 fp=k dk fp= fdldk izrhd Fkk\    

vFkokvFkokvFkokvFkok 

lw[kk o`{k ns[kdj ys[kd dks D;k yxk vkSj D;ksa\ 

¼2½¼2½¼2½¼2½ 
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iz-7 Hkko&iYyou dhft, &  

tSlk djksxs oSlk HkjksxsA    

vFkokvFkokvFkokvFkok 

vkRe & fuHkZjrk ,d Js"B xq.kA 

¼2½¼2½¼2½¼2½ 

iz-8 NUn fdls dgrs gSa\    

vFkokvFkokvFkokvFkok 

jl dh ifjHkk"kk fyf[k,A 

¼2½¼2½¼2½¼2½ 

iz-9 fuEufyf[kr esa ls dksbZ nks eqgkojksa dk vFkZ crkrs gq;s okD; esa iz;ksx dhft,%& 

¼1½ vkx ccwyk gksuk 

¼2½ ukS nks X;kjg gksuk 

¼3½ dej dluk    

vFkokvFkokvFkokvFkok 

fuEufyf[kr esa ls dksbZ nks okD; 'kq) dhft, %& 

¼1½ [kjxks’k dks dkVdj xktj f[kykvksA 

¼2½ dksi gh n.M dk fo/kku gSA 

¼3½ esjh vadlwph xqe gks xbZ gSA 

¼2½¼2½¼2½¼2½ 

iz-10 ^^ekSu^^ dfork dk dsaæh; Hkko fyf[k,A 

vFkokvFkokvFkokvFkok 

ijEijk ds yqIr gksus ij D;k&D;k gkfu gksrh gS\    

¼3¼3¼3¼3½½½½ 

iz-11 dfo eqfDrcks/k us pkSjkgs dks vPNk D;ksa ekuk gS\ 

vFkokvFkokvFkokvFkok 

^^’kkfUr dh nqdku^^ dfork esa fNis O;aX; dks Li"V dhft,A    

¼3¼3¼3¼3½½½½ 
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iz-12 dqVt dk D;k mins’k gS\  

vFkokvFkokvFkokvFkok 

Øks/k dh vko’;drk D;ksa iM+rh gS\ 

¼3¼3¼3¼3½½½½ 

iz-13 laLÑfr dk vFkZ Li"V dhft,A 

vFkokvFkokvFkokvFkok 

ys[kd us vkf[kjh pV~Vku fdls dgk gS\ 

¼3¼3¼3¼3½½½½ 

iz-14 ^^fojkVk dh ifùuh^^ ds izeq[k ik=ksa dk la{ksi esa ifjp; nhft,A 

vFkokvFkokvFkokvFkok 

^vui<+ cuk, j[kus dh lkft’k^ esa ys[kd us i<+us dks [krjukd D;ksa ekuk gS\    

¼4¼4¼4¼4½½½½ 

iz-15 ehjk dh HkfDr&Hkkouk ij fVIi.kh dhft,A    

vFkokvFkokvFkokvFkok 

in~ekdj dk laf{kIr thou ifjp; nhft,A 

¼4¼4¼4¼4½½½½ 

iz-16 fuEufyf[kr x|ka’k dh lanHkZ&izlax lfgr O;k[;k dhft, & 

nks Vwd ckr ;ksa fd thou og gS tks le; ij fgy Hkh ldrk gS vkSj le; ij  

>qd Hkh] ij Bw¡B r¨ og gS] tks vM+ gh ldrk gS] >qd ugha ldrkA    

vFkokvFkokvFkokvFkok 

^^nqfu;k ds lkjs rkuk’kkgksa us lcls igys ;k rks iqLrdky; tyk, gSa ;k  

fdrkcksa dks dqpyk gS^^A 

¼5¼5¼5¼5½½½½ 

iz-17 fuEufyf[kr i|ka’k dh lanHkZ&izlax lfgr O;k[;k dhft, %& 

     foLr`r uHk dk dksbZ dksuk 

     esjk u dHkh viuk gksuk 

     ifjp; bruk bfrgkl ;gh 

     meM+h dy Fkh feV vkt pyhA 

vFkokvFkokvFkokvFkok 

gfj lk ghjk NkafM+ dfj] djsa vku dh vklA 

rs uj teiqfj tkblh lfr Hkk"kS jSnklAA    

¼5¼5¼5¼5½½½½ 

iz-18 uxj ds lgk;d ;a=h dks ty dh vfu;fer ^iwfrZ^ ds fy, f’kdk;rh i= 
fyf[k,A       

vFkokvFkokvFkokvFkok 
vius fo|ky; ds izkpk;Z egksn; dks 'kqYd ekQh gsrq vkosnu i= fyf[k,A     

¼5¼5¼5¼5½½½½ 
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iz-19 fuEufyf[kr vifBr x|ka’k dks i<+dj uhps fy[ks iz’uksa ds mÙkj fyf[k,%& 

^^Hkkstu lkexzh dh Hkk¡fr dqN iqLrdas vPNh gksrh gSa dqN cqjhA izfrdwy Hkkstu  

ds leku fuÑ"V iqLrdas R;kx nsuh pkfg,A ftu iqLrdksa dh fo"k; oLrq nwf"kr  

gS] 'kCnkoyh vkMEcjiw.kZ gS] os gkfudkjd gksrh gSaA v/;;u’khy O;fDr dk  

drZO;] tks dksbZ iqLrd gkFk yxs] mls i<+uk ek= ugha gS] cfYd vPNh vkSj  

lq#fpiw.kZ iqLrdsa p;u djuk lh[kuk gSA^^ 

¼1½ mijksDr x|ka’k dk mfpr 'kh"kZd fyf[k,A 

¼2½ geas dSlh iqLrdsa i<+uk pkfg,\ 

¼3½ x|ka’k dk lkjka’k vius 'kCnksa esa fyf[k,A 

vFkokvFkokvFkokvFkok 

fuEufyf[kr vifBr i|ka’k dks i<+dj uhps fy[ks iz’ukas ds mÙkj fyf[k,%& 

     ^^feV~Vh dh efgek feVus esa] 

     feV&feV gj ckj l¡ojrh gS] 

     feV~Vh&feV~Vh ij feVrh gS] 

     feV~Vh&feV~Vh dks jprh gSA 

¼1½ mijksDr i|ka’k dk mfpr 'kh"kZd fyf[k,A 

¼2½ feV~Vh fdl dks l¡okjrh gS\ 

¼3½ mi;qZDr ifDr;ksa dk HkkokFkZ fyf[k,A 

    

    

    

    

    

    

¼¼¼¼1111½½½½    

¼¼¼¼2222½½½½    

¼¼¼¼2222½½½½ 

iz-20 ¼v½ fuEufyf[kr fo"k;ksa esa ls fdlh ,d fo"k; ij yxHkx 200 'kCnksa esa fuca/k 

fyf[k,%& 

     ¼1½ i;kZoj.k iznw"k.k leL;k vkSj funku 

 ¼2½ ty gh thou gS 

     ¼3½ thou esa [ksyksa dk egRo 

                    ¼4½ baVjusV vkt dh vko’;drk 

     ¼5½ orZeku f’k{kk iz.kkyh    

¼c½ mi;qZDr fo"k;ksa esa ls fuca/k ys[ku ds vfrfjDr fdlh ,d fo"k; dh 

:ijs[kk fyf[k,A            

¼¼¼¼7777½½½½    

    

    

    

    

¼¼¼¼3333½½½½ 
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 [k.M & ^^[k.M & ^^[k.M & ^^[k.M & ^^[k[k[k[k^^^^^^^^     

iz-21 fuEufyf[kr iz’uksa ds mÙkj ,d 'kCn ;k ,d okD; esa fyf[k, & 

¼1½ nwjn’kZu vU; ek/;eksa dh rqyuk eas D;k gS\ 

¼2½ lapkj ek/;e dkSu&dkSu ls gSa\ 

¼3½ jsfM;ks dh ^fofo/k Hkkjrh lsok^ eq[; :i ls fdl izdkj dh lsok gS\ 

¼4½ dEI;wVj dSlk midj.k gS\ 

¼5½ ,d lekpkj okpd esa D;k xq.k gksus pkfg,\    

¼¼¼¼5555½½½½ 

iz-22 lapkj ek/;e fdls dgrs gaS\    

vFkokvFkokvFkokvFkok 

^^pkSFkh nqfu;k^^ ls D;k rkRi;Z gS\ 

¼2½¼2½¼2½¼2½ 

iz-23 lEiknd eaMy ds lnL; dkSu&dkSu gksrs gSa\    

vFkokvFkokvFkokvFkok 

Qhpj fdls dgrs gSa\ 

¼2½¼2½¼2½¼2½ 

iz-24 ^^lekpkj ds eq[; L=ksr^^ dk yxHkx 150 'kCnksa esa ifjp; nhft,A 

vFkokvFkokvFkokvFkok 

lekpkj dh ifjHkk"kk crykrs gq, mlds cqfu;knh igyqvksa dks fyf[k,A 

¼2½¼2½¼2½¼2½ 

iz-25 ^^baVjusV^^ D;k gS\ bldh dk;Z iz.kkyh dks foLrkj ls le>kb,A    

vFkokvFkokvFkokvFkok 

lapkj ØkfUr ds eq[; dkj.kkas dks le>kb,A 

¼¼¼¼3333½½½½ 

iz-26 jsfM;ks vkSj nwjn’kZu dh Hkk"kk esa D;k varj gksrk gS\ le>kb,A    

vFkokvFkokvFkokvFkok 

lapkj ek/;eksa esa iz;qDr Hkk"kk dh izeq[k fo’ks"krk,¡ fyf[k,A 

¼¼¼¼3333½½½½    

iz-27 izsl foKkiu D;k gS\    

vFkokvFkokvFkokvFkok 

okrkZ o HksaVokrkZ eas vUrj fyf[k,A 

¼¼¼¼3333½½½½    
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 [k.M & ^^[k.M & ^^[k.M & ^^[k.M & ^^xxxx^^^^^^^^     

iz-21 fuEufyf[kr iz’ukas ds mÙkj ,d 'kCn ;k ,d okD; esa fyf[k, & 

¼1½ i= fdrus izdkj ds gksrs gSa\ 

¼2½ Qkby ij fVIi.kh D;ksa fy[kh tkrh gaS\ 

¼3½ fVIi.kh ys[ku ds fdrus pj.k gksrs gSa\ 

¼4½ izk:i D;k gS\ 

¼5½ dk;kZy;hu fgUnh esa fdl izdkj ds okD;ksa dk iz;ksx vf/kd gksrk gS\    

¼¼¼¼5555½½½½ 

iz-22 dk;kZy; Kkiu dk iz;ksx fdu&fdu ds chp gksrk gS\    

vFkokvFkokvFkokvFkok 

dk;kZy; vkns’k dk iz;ksx fdl iz;kstu ls gksrk gS\ 

¼2½¼2½¼2½¼2½ 

iz-23 Qkby ds nks Hkkx dkSu&dkSu ls gksrs gaS\    

vFkokvFkokvFkokvFkok 

fVIi.kh dh Hkk"kk dSlh gksuh pkfg,\ 

¼2½¼2½¼2½¼2½ 

iz-24 fVIi.kh fdls dgk tkrk gS\  

vFkokvFkokvFkokvFkok 

fgUnh dh iz;qfDr ls D;k rkRi;Z gS\ 

¼2½¼2½¼2½¼2½ 

iz-25 Hkkjr esa fdl Hkk"kk dks jk"VªHkk"kk ekuk x;k gS vkSj D;ksa\    

vFkokvFkokvFkokvFkok 

lEidZ Hkk"kk fdls dgrs gSa\ 

¼¼¼¼3333½½½½ 

iz-26 ljdkjh i= vkSj dk;kZy; Kkiu esa :ijs[kk dh n`f"V ls D;k varj gksrk gS\    

vFkokvFkokvFkokvFkok 

fVIi.kh fy[krs le; fdu&fdu ckrksa dk /;ku j[kuk pkfg,\ 

¼¼¼¼3333½½½½    

iz-27 lkj&ys[ku ls dk;kZy;h dk;Z fuiVkus esa D;k lqfo/kk,¡ gksrh gSa\    

vFkokvFkokvFkokvFkok 

,d vPNs lkj&la{ksi.k esa dkSu&dkSu ls xq.k gksus pkfg,\ 

¼¼¼¼3333½½½½    

------------------------------- 
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Higher Secondary Examination June    & 2018& 2018& 2018& 2018 

302 

fo"k; %fo"k; %fo"k; %fo"k; % vaxzsthvaxzsthvaxzsthvaxzsth    
Subject: ENGLISH 

le; % 03 ?k.Vs                                                                                iw.kk±d % 100  
Time : 03 Hours                                                                       Maximum Marks : 100 

 

Note:-   

 (i) Attempt all questions.  

 (ii)  ESP set have choice. 

          (iii) Hand writing should be good.       

Q.1 Read the following extract carefully and answer the questions  

given below:  

Grasses are a large family of plants that grow all over the world. It 

is the most important family of plants because it includes the 

cereals which are one of the main basic foods, and it also provides 

food for man’s domestic animals.  

There are about 10,000 species of rasses. Some pecies such  as 

star grass also known as Barmuda grass, are very short (about 10 

cm) and others such as bamboo reach a height of 30m. Most 

species of grasses are perennial (live for many years), and others, 

such as cereals are annual (live for one year). The roots of grasses 

bind the soil together and prevent soil erosion. Most species are 

herbaceous, that is their stems are green and contain little wood. 

Bamboo and a few other species have woody stems. Most species 

have hollow stems, but maize has a solid stem. The stems of 

sugarcane contain sugar.  
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 The stems of bamboo are used for making furniture and houses. 

The stems of some species, such as esparto grass are used for 

making paper. The leaves of grasses are long and narrow. The 

bottom of the leaf forms a covering over the stem. The flowers of 

grasses are very small and not brightly coloured. They grow in 

large groups called spikelets. The fruits contain a lot of starch, 

some protein and traces of mineral salts and vitamins. We use the 

fruit of many cereals such as maize, rice, millet, sorghum and 

wheat for our foods.  

Sedges are related to grasses. There are about 3000 species  

which grow all over the World. Most of them are not useful 

economically and some species such as nut grass grows in Sudan 

are very troublesome weeds. 

 

 Questions: 

(i) Barmuda grass grows up to…….  

  (a) 6 cm 

  (b) 10 cm 

  (c) 12 cm 

 (d) 15 cm    

 

(1) 

 (ii) Most species of grass live for…..  

  (a) one year 

  (b) five years 

  (c) many years 

 (d) few months 

(1) 

 (iii) The stems of some species are used for……  

  (a) making cloth 

  (b) making food 

  (c) making utensils 

 (d) making paper 

(1) 
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 (iv) Nut grass grows in…….  

  (a) Sudan                       (b)    Africa 

  (c) Philippines                (d)    North America 

(1) 

 (v) There are about………species of grasses.  

  (a) 1,00,000                   (b)     10,000 

  (c) 2,00,000                   (d)     15,000 

(1) 

 (vi) Give adverb form of ‘annual’.  

(vii) Give the noun form of ‘contain’.  

(viii) Give the noun form of ‘relate’.  

(ix) Why is grass most important form of plants?  

(x) How are the roots of grasses helpful?  

(1) 

(1) 

(1) 

(2) 

(2) 

Q.2 Read the following passage carefully and answer the questions 

given below: 

The visit to the Planet earth museum is always exciting and 

teaches some interesting facts about the world we live in. Forests 

are home to nearly half of the world’s plants and animals. Trees 

clean the air and produce oxygen for us to breathe. Every day we 

cut down trees and destroy more than 36 football field of forests. 

Rivers collect rain water and carry it to the oceans. Farms and 

factories pollute the rivers with pesticides and chemicals. This is 

harmful to the marine animals and the humans who drink it. At 

opposite ends of the World. Arctic and Antarctic are freezing cold. 

So cold that they are always covered in ice. The fuel we use makes 

the climate heated. It melts the ice and the water level rises which 

results in floods. Our planet is precious. We must conserve it by 

using as much renewable sources of energy as possible. Every 

individual must play his part to help to the protection of the 

environment.  

 

 Questions: 

(a) Read the above passage carefully and make notes on it. 

(b) Supply a suitable title and write summary of the passage. 

 

(5) 

(3) 
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Q.3 Write an essay on any one of the following topics:  

(i) Value of Games and Sports 

(ii) A Cricket Match 

(iii) Science in our daily life 

(iv) The book I like most 

(v) A Great man 

(7) 

Q.4 Write an application to the principal for issuing character certificate. 

OR 

Write a letter to your friend telling him about your aim in life. 

(6) 

Q.5 (a) Edit the following passage for mistakes in spelling,  

        punctuation and grammar:-   

        Undoubtedly women at ancient India enjoyed a much higher     

        status  then  their  descendants  in  the  eighteenth  and  

        nineteenth centuries. From the earliest day there had been   

        many notable women in India - poets, scholars, capable  

        administrators and leaders of religious movement. 

(5) 

 (b) Fill in the blanks with suitable words given in the brackets. 

 (i) You………………….drive carefully. (may, must, can) 

 (ii) Strike the iron………it is hot. (before, while, as longer as) 

 (iii) I cannot jump………..I have pain in my stomach.(as,  

                because, while) 

 (iv)   Put the keys………….…you can find them without any  

                Difficulty. (where, when) 

 (v) Both pens are good. Give me………..(any, some, a few) 

(5) 
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 (c) Do as directed: (any five)   

 (i) He is building a new house in Bhopal. 

  (change into past indefinite) 

 (ii) She did it correctly. 

  (change into negative) 

 (iii) He is singing a song. 

  (change the voice) 

 (iv) My father believes this. I will get very good marks in  

                Higher Secondary School examination. 

  (combine the pair of sentences using Noun clause) 

 (v) He is attending English spoken class regularly. He wants   

                to speak English fluently. 

  (combine the pair of sentences with ‘to’ infinitive) 

 (vi) He will take admission in an engineering college. 

  (frame a question beginning with ‘where’) 

(5) 

Q.6 (A) Read the following extract and answer the questions  

        given below:  

It was good that I lost my sight when I did, because having no 

memories of seeing, there was nothing to look back to, nothing to 

miss. I went blind in November 1937. At that time we were living in 

Gujarat, in the province of Punjab in Northern India. After my 

sickness we moved to Lahore, a few miles away, but the number of 

relatives who came to sympathise made my father ask for another 

transfer, this time to karnal, where we had neither friends nor 

relatives. There we got a cottage on the canal bank, built in very 

peaceful and quiet surroundings. 

Questions: 

(a) Why does the speaker appreciate losing his sight when he  

        was very young? 

(b) Where did the speaker live when he lost his sight? 

(c) Where did the speaker’s family move after his sickness? 

(d) What made the speaker’s father ask for another transfer? 

(e) Where did the speaker live in Karnal? 

(5) 
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 (B) Read the poem carefully and answer the questions given  

        below it:  

 No time to see, when woods we pass 

 Where squirrels hide their nuts in grass. 

 No time to turn at Beauty’s glance, 

 And watch her feet, how they can dance. 

        Questions: 

 (a) What does the poet wish to see in the forest? 

 (b) Does the poet have time to see beauties of the nature? 

 (c) Which word rhymes with ‘glance’? 

 (d) Which word rhymes with ‘pass’? 

 (e) What does the word woods means in the above poem? 

(5) 

Q.7 Answer the following questions: (any five)                                           

(a) Why is the story given title ‘The big brother’? 

(b) What kind of letter did the father write to his son? 

(c) Why does sunlight not melt the ice on the poles? 

(d) How did the doctor realise that he was not looking at his  

        own watch? 

(e) How did Tembu know the train was coming? 

(f) Why were Aradhana’s family members proud of her? 

(2××××5=10) 

Q.8 Could the intruder carry out his plan? If not, why?  

OR 

What plans does Pt. Nehru have for India’s advancement on  

the material plane? 

(4) 
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Q.9 Answer the following questions: (any four)                                                

(a) What according to poet is a poor life? 

(b) Why was the poetess not able to read the books? 

(c) Why does the poet call, the stream of reason ‘clear’? 

(d) Which road did the poet take? Why? 

(e) Why had the scorpion entered the hut? 

(2××××4=8) 

ESP Science 

Q.10 Match the items in column ‘A’ and their description given in  

column ‘B’          

 Column ‘A’     Column ‘B’ 

(i) Atom   (a) Particles (+ve) in central nucleus 

(ii) Isotopes                 (b) A simple technological device   

                                               that can exploit solar energy 

(iii) Fission   (c) Smallest  particle  in  which  a  

                                               substance can exist 

(iv) Solar cooker  (d) Atoms  having  same  number of 

                                               protons but different numbers of 

                                               Neutrons. 

(v) Protons   (e) Breaking of an atom into two  

                                               Particles of approximately the same  

                                               size. 

(10) 

Q.11 (a) What are the various processes involved in care and   

        maintenance of the garden?                                                                                            

(b) What is emotional stress? How does it affect the body?                     

(c) What is radioactivity?                                                                           

(d) What are the usual faults in the reception of a T.V. set?                   

(2½) 

 

(2½) 

(2½) 

(2½) 
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           OR  

ESP Receptionist     

Q.10 (a) What are the duties of a receptionist? What special  

        qualities should a receptionist have?                                                                              

(b) List some of the materials that may help a receptionist in  

        her work? 

(10) 

Q.11 Write down the requests for which the following are possible  

answers:          

(a) I’am sorry Mr. Sen is not here right now. 

(b) Yes, the check out time is 12 noon. 

(c) Yes, I’ll send in the waiter with a glass of milk. 

(d) I am afraid but you’ll have to send someone to collect the  

        refund. We do not send cash by mail. 

(e) Yes, I’ll send the sweeper to get your bathroom cleaned. 

(10) 

 

------------------------------- 
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fo"k; % fo"k; % fo"k; % fo"k; % laLd`rlaLd`rlaLd`rlaLd`r    

Subject: Sanskrit 
le; % 03 ?k.Vs                                                                           iw.kk±d % 100 
Time: 03 Hours                                                                    Maximum Marks: 100 

funsZ’k%funsZ’k%funsZ’k%funsZ’k%&&&&    

        (i) vfLevfLevfLevfLeuuuu~ iz’ui=s }kS [k.MkS Lr%A~ iz’ui=s }kS [k.MkS Lr%A~ iz’ui=s }kS [k.MkS Lr%A~ iz’ui=s }kS [k.MkS Lr%A    

        [k.M & [k.M & [k.M & [k.M & vvvv    ¼dsfUnzd ikB~;Øe%½¼dsfUnzd ikB~;Øe%½¼dsfUnzd ikB~;Øe%½¼dsfUnzd ikB~;Øe%½    

        [k.M & [k.M & [k.M & [k.M & cccc    ¼oSdfYid ¼oSdfYid ¼oSdfYid ¼oSdfYid I ,oa oSdfYid ,oa oSdfYid ,oa oSdfYid ,oa oSdfYid II½ Lr%A½ Lr%A½ Lr%A½ Lr%A    

  (ii) [k.M & [k.M & [k.M & [k.M & vvvv    vfuok;Z%Avfuok;Z%Avfuok;Z%Avfuok;Z%A 

 (iii) [k.M & [k.M & [k.M & [k.M & cccc    ,d% ,oa oSdfYid% lek/ks;%A,d% ,oa oSdfYid% lek/ks;%A,d% ,oa oSdfYid% lek/ks;%A,d% ,oa oSdfYid% lek/ks;%A 

          (iv) iz’ukuka lEeq[ks% viz’ukuka lEeq[ks% viz’ukuka lEeq[ks% viz’ukuka lEeq[ks% vVk% iznÙkk%Ak% iznÙkk%Ak% iznÙkk%Ak% iznÙkk%A  

 

[k.M & [k.M & [k.M & [k.M & ^̂̂̂vvvv^̂̂̂    
¼dsfUnzd ikB~;Øe¼dsfUnzd ikB~;Øe¼dsfUnzd ikB~;Øe¼dsfUnzd ikB~;Øe%%%%½½½½    

iz-1 v/kksfyf[krs"kq dL;kfpnsdL; ikBL; lkja "kM~okD;s"kq fy[kr & 
(i) vuUr% Kkulkxj%A 
(ii) Øks/kks·uFkZdkjd%A 
(iii) ijkFksZ vkReksRlxZ%A  

¼6¼6¼6¼6½½½½ 

iz-2 v/kksfyf[kra x|ka’ka ifBRok iz’uku~ laLÑrsu mÙkjr & 
v= fof’k"Va /;kuefUnje~ vfLrA LekjdL; va/kdkje;s izdks"Bs iqjr% ^Å¡̂  
bR;L; fp=a n`’;rsA v= losZ ekSua fr"BfUrA f’kykLekjdL; fo’kkys ifjljs 
ns’k & fons’ksH;% i;ZVdk% vkxR; vL; lqUnjrka i';fUr lk/kuka p dqoZfUrA  
(i) v= fof’k"Va fde~ vfLr\  
(ii) LekjdL; vU/kdkje;s izdks"Bs fda n`’;rs\ 
(iii) v= losZ dFka fr"BfUr\  
(iv) i;ZVdk% r= vkxR; fda dqoZfUr\ 

¼1¼1¼1¼1××××4¾4½4¾4½4¾4½4¾4½ 
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iz-3 v/kksfyf[krkuka iz’ukuke~ mfpreqÙkja fpRok fy[kr &                         

(i) vfryksHkL; d% ifj.kke%\¼fouk’k%@fodkl%½ 

(ii) dkfu dekZf.k f’k";s.k lsforO;kfu\ ¼vo/kkfu@lqpfjrkfu½ 

(iii) oSKkfudk% vUrfj{kkr~ dL;k% lkSUn;Za of.kZroUr%\¼u|k%@i`fFkO;k%½ 

(iv) cdklqj% izfrfnua dku~ Hk{k;fr\¼thoku~@tuku~½ 

¼1¼1¼1¼1××××4¾4½4¾4½4¾4½4¾4½ 

iz-4 ¼d½ js[kkfVr inekfJR; iz’ufuekZ.ka dq#r &                               

 (i) ^uklk^ dsUnzs rL;k% fu;qfDr% tkrkA 

 (ii) Hkkxoriqjk.ks nzqek% nhuk% dfFkrk%A 

¼[k½ iz’uku~ mÙkjr &                                                   

 (i) 'kY;fpfdRldS% oz.klhoukFkZa fda iz;qT;rs\ 

 (ii) osns"kq i;kZoj.kfo"k;s dk n`’;rs loZ=\ 

¼1¼1¼1¼1××××2222====2222½½½½    

    

    

¼1¼1¼1¼1××××2222====2222½½½½ 

iz-5 ,rr~ dFkua d% da izfr dFk;fr\                                          

(i) lk/ko% ijnq%[ksu nq%f[ku% HkofUrA 

(ii) t;rq egkjkt%A ,rn~ chtiwjQye~A 

¼1¼1¼1¼1××××2222====2222½½½½ 

iz-6 v/kksfyf[kr i|ka’k};a ifBRok iz’uku~ mÙkjr & 

¼d½ iwftra á’kua fuR;a cyewt± p ;PNfrA 

 viwftra rq rn~HkqDreqHk;a uk’k;sfnne~AA  

    iz’u};e~ iz’u};e~ iz’u};e~ iz’u};e~ &&&&    

 (i)  iwftre~ v’kua fde~ ;PNfr\ 

 (ii)  dhn`’ke~ v’kua cye~ ÅtZa p uk’k;fr\ 

¼[k½ vkRekua jfFkua fof) 'kjhja jFkeso rqA 

 cqf)a rq lkjfFka fof) eu% izxzgeso pAA  

    iz’u};e~ &iz’u};e~ &iz’u};e~ &iz’u};e~ &    

 (i)  vkRekua fda fof)\ 

 (ii)  'kjhj:fi.k% jFkL; izxzg% fde~\ 

¼2¼2¼2¼2××××2¾4½2¾4½2¾4½2¾4½ 
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iz-7 v/kksfyf[kr;ks% vUo;};ks% fjDrLFkkuiwfrZa dq#r & 

¼d½ cya f’kj% dikykuka fo’ks"ks.kkfHko/kZrsA 

 n`<ewyk’p nh/kkZ’p Ñ".kk% ds’kk% HkofUr pAA 

 vUo;% & 

 f'kjfl rSyenZusu f’kj% dikykuke~ --------------------fo’ks"ks.k vfHko/kZrs ds’kk% --

-------------------nh?kkZ Ñ".kk% p HkofUrA 

¼[k½ vfgalz% loZHkwrs"kq lR;okd~ ln`<+ozr%A 

 l pdkj ;Fkkdkyekgkja ifrrS% QyS%AA 

 vUo;% & 

 loZHkwrs"kq vfgalz% ----------------- lqn<̀+ozr% l% ;Fkkdkye~ ifrrS% -----------  

     vkgkje~ pdkjA 

¼2½¼2½¼2½¼2½ 

iz-8 v/kksfyf[kr i|ka’k};L; HkkokFkZ;ks% fjDrLFkkukfu iwj;r &    

¼d½ lUrks"kke`rr`Irkuka ;r~ lq[ka 'kkUrpsrLkke~A 

 HkkokFkZ% &  

 ;s larks"k #fi.kk ve`rsu r`Irk rs ,o -----------------------izktqofUrA 

¼[k½ fda lEHkk|a euqtSfoZ|k foÙka cya ;’k% iq.;e~A 

 HkkokFkZ% & 

 euqtS% fo|k] foÙke~] cye~ ;’k% iq.;e~ p -------------------------A 

¼2½¼2½¼2½¼2½ 

iz-9 ^v^ LrEÒkr~ ^c^ LrEHksu lg esy;r & 

            ¼v½                                                                    ¼c½    

(i) ,dksfg nks"kks xq.klféikrs     ¼d½  v’ok% ogfUr esa jFke~A  

(ii) viwoksZ·;a e;k n`"V%      ¼[k½  fueTtrhUnks% fdj.ksf"ookV%A 

(iii) fuR;a jFksu xPNkfe      ¼x½  eeRoeqPpS% f’kjlka lrhoA 

(iv) {kqnzks·fi uwua 'kj.ka iziés  ¼?k½ dkUr% dey ykspusA 

¼2½¼2½¼2½¼2½ 
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iz-10 ^dkys Qyfr lkSHkkX;e~^ bfr ukVdL; lkjka’ka "kM~okD;s"kq fy[krA lgk;rk;S  

fcUno% nÙkk% &     

fcUno%fcUno%fcUno%fcUno%  

 

    

    

vFkokvFkokvFkokvFkok  

^ân; & ifjorZue~^ bfr ukVdL; lkjka’ka "kM~ okD;s"kq fy[krA lgk;rk;S 

fcUno% nÙkk% &  

 

 

 

 

¼¼¼¼6666½½½½ 

iz-11 v/kksfyf[krkS ukV~;ka’kkS ifBRok iz’uku~ mÙkjr &                              

¼d½ fonw"kd% & ee lqo.kZHkk.Me~! dqr% ee lqo.kZHkk.Me~\ 

 o)Zekud% & dFka foLe`ra Hkork\ olUrlsu;k ;r~ Lo.kkZHkw"k.ke~ vk;Z 

pk#nÙkk; U;kl:is.k nÙke~ ------------- 

 fonw"kd% & nÙka Hkosr~] rr~ fda e;k\ 

 o)Zekud% & vk;sZ.k dfFkre~ vklhr~ ^bna Lo.kZHkk.Ma jk=kS eS=s;s.k fnok 

p o)Zekusu jf{krO;e~ bfrA rn~ x`gk.k ,rr~A  

 iz’uk% &iz’uk% &iz’uk% &iz’uk% &    

 (i) olUrlsu;k Lo.kkZHkw"k.ka dLeS U;kl:is.k nÙke~\ 

 (ii) Lo.kZHkk.Ma jk=kS dsu jf{krO;e~\ 

¼2¼2¼2¼2××××2¾4½2¾4½2¾4½2¾4½ 

yC/knÙk%] izk.kj{kka] jkK%] fdefi] u] ,dnk] jktk] chtiwja] Qya] l%] 
mnjiwj.kk;] foØhroku~] f=H;%] tusH;%] lUrks"ko`fÙka] n`"V~ok] jRuiwfjra] Qya 
rLeS nÙkoku~A  

vaxqfyekyd%] yq.Bd%] uouofr%] vaxqyhuka ekyka /kkj;fr]  
'krkaxqyhuke~] /kkjf;rqe~] ,dnk cq)e~] vkgw;] ekyk;ka] 'krek   
vaxqyh  rL;  vk;pr~] cq)%] Roa dnk fojr%] izkf.ko/ka R;t%]  
vfgalk ijeks/keZ%A 
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 ¼[k½ jktk & ;kongefi izklknek#º;a pkowjeqf"Vd & ;ks;q)a i';kfeA  

     ¼vk#º;½ e/kqfjds fo?kkV~;rka }kje~A  

 izrhgkjh &  ;n~HkÙkkZ vkKki;frA ¼jktk izfo’;ksifo’kfr½ ¼rr% izfo’kr%  

     pk.kwjeqf"VdkS½ 

 HkV% & ,"k% egkjkt%A milisZrka HkoUrkSA  

 mHkkS & ¼misR;½ t;rq HkrkZA 

 jktk & pk.kwjeqf"VdkSA loZ;Rusu ;qokH;keku`.;a dÙkZO;e~A 

 (i) jktk izklknek#º; d;ks% ;q)a i';fr\ 

 (ii) pk.kwjeqf"VdkE;ka dsu vku.̀;a dÙkZO;e~\ 

    

iz-12 v/kksfyf[kra x|ka’ka i|ka’ka p ifBRok mHk;ks% iznÙk iz’uku~ mÙkjr &  

¼d½ x|ka’ka & i;kZoj.kL; izFkea LFkkua Hkwfe%A i`fFkO;ka ;s iknik% oh#/kks   

ouLir;ks ok tk;Urs rs loZs {ksek; HkoUrqA ;= r= fuf{kIrkfu IykfLVd 

oLrwfu iznw"k.ka tu;fUrA ,rkfu u {kh;Urs] u fDy|Urs] u ok u’;fUr vfirq 

ouLirhuka izjksg.ks ck/kka tu;fUrA  

iz'uk% &iz'uk% &iz'uk% &iz'uk% &    

(i) dL; izFkea LFkkua Hkwfe%\                             

(ii) ;= r= fuf{kIrkfu dkfu oLrwfu iznw"k.ka tu;fUr\                      

(iii) ouLirhuka izjksg.ks IykfLVd oLrwfu dsu izdkjs.k ck/kka tu;fUr\           

¼[k½ i|ka’ka &   

 ?kuksixw<a xxua u rkjk 

  u HkkLdjks n’kZueH;qiSfrA 

 uoStZykS?kS/kZj.kh for`Irk  

  reksfofyIrk u fn’k% izdk’k%AA 

iz’uk% &iz’uk% &iz’uk% &iz’uk% &    

(i) ?kuS% fde~ mixw<e~\                                             

(ii) uoStZykS?kS% dk for`Irk tkrk\                                        

(iii) o"kZrkSZ reksfofyIrk% dk% HkofUr\                                      

    

    

    

    

    

    

¼1½¼1½¼1½¼1½    

¼¼¼¼2222½½½½    

¼2¼2¼2¼2½½½½    

    

    

    

    

    

    

¼1½¼1½¼1½¼1½    

¼¼¼¼2222½½½½    

¼2¼2¼2¼2½½½½ 
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iz-13 eUtw"kkin lgk;rk ^^tyL; mi;ksfxrk^^ bfr fo"k;ef/kÑR; n’kokD;kfu  

fy[krA    

e¥tw"kk 

 

 

 

 

¼1¼1¼1¼1××××10¾10½10¾10½10¾10½10¾10½ 

iz-14 Hkor% vxztL; Lukrd ijh{kk;k% ifj.kke% ?kksf"kr%A l% izFkeJs.;ke~ mÙkh.kZ%A 
rLeS o/kkZiui=afy[krqA 

¼¼¼¼6666½½½½ 

iz-15 Hkor% uke nhid%A 'o% Hkor% vuqtL; miu;u&laLdkj% vfLrA vr% 
Lofe=k; clUrk; dk;ZØee~ miy{; laokna  pRokfjokD;kfu fy[kr & 

¼¼¼¼1111××××4444¾4½¾4½¾4½¾4½  

iz-16 js[kkfVrins lfU/kPNsna dq#r & 

¼d½ ve`re~ bg ;qT;rs lnqins’k%A 
¼[k½ rs"kka nq%[ksukga egknq%[kh bfrA 

¼¼¼¼1111½½½½ 

iz-17 ¼d½ js[kkfVrins dk foHkfDr% fda p ewyine~\                                   

    rL; ioZrL; fudVs iyk’k uxjefLrA 
¼[k½ js[kkfVrin};a yV~ydkjs ifjoR;Z fy[kr &                                 

    (i) r= ,d% HkSjokuUn% uke ;ksxh volr~A 
 (ii) rs rL; eBe~ vxPNu~A 

¼2½¼2½¼2½¼2½    
    
    
¼2½¼2½¼2½¼2½ 

iz-18 leqfprin fuekZ.ka ÑRok fjDrLFkkua iwj;r &                                     
¼d½ Ro;k x`ga --------------------------A ¼xe~ $ rO;r~½ 
¼[k½ ----------------------,o fouk’k% tk;rsA ¼Øks/k~ $ mfpr foHkfDr%½ 
¼x½ o;e~ 'o% m|kua ---------------------------A¼n`’k~&yV̀~½ 
¼?k½ dFka ----------------------- Hkork\ ¼fo $ Le` $ Dr½ 

¼¼¼¼4444½½½½ 

iz-19 ;FkkfufnZ"V dq#r & 
¼d½ l% jktn’kZue~ bPNfrA ¼js[kkfVrL; foxzga dq#r½ 

¼[k½ ;fn ifB";fr rfgZ mÙkh.kZ% Hkfo";frA ¼vO;;a fpuqr½ 
¼x½ Roe~ lE;d~ i"̀Voku~A ¼deZokP;s ifjorZua dq#r½ 
¼?k½ ,"k% egkiq#"k% fr"BfrA¼js[kkfVrinL; foxzga dq#r½ 

¼¼¼¼4444½½½½ 

tye~ ,o thoue~] fu>Zjk%] u|%] dwik%] rMkxk%] thouo`R;S] 

if{ko%Ñrs] LokLF;o/kZue~] o`{kk%] mious"kaq] ikukFkZe~ Ñf"kÑrs] rf}uk  

thoueso vlEHkoe~] laj{k.ke~ vko’;de~A 
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iz-20 v/kksfyf[kr okD;};s ,de~ vO;;e~ ,de~ milxZa p fpRok fy[kr &                

¼d½ vlR;a ek onA 

¼[k½ iznwf"kra i;kZoj.ka loZ= fouk’kk; dYirsA 

¼2½¼2½¼2½¼2½ 

[k.M & [k[k.M & [k[k.M & [k[k.M & [k    
oSdfYid & oSdfYid & oSdfYid & oSdfYid & I    

¼laLÑr¼laLÑr¼laLÑr¼laLÑraaaa    & laLÑfr’p½& laLÑfr’p½& laLÑfr’p½& laLÑfr’p½    
iz-21 v/kksfyf[krdkO;kuka rs"kka ys[kdS% lg esyua ÑRok fy[kr &                         

  ¼v½      ¼c½ 

¼d½ foosdkuUn fot;e~  (i) jktsUnz feJ% 

¼[k½ mÙkjlhrk pfjre~   (ii) jfld fcgkjh tks’kh 

¼x½ tkudh thoue~   (iii) Jh/kj HkkLdjo.ksZdj% 

¼?k½ d#.kkdVk{kygjh       (iv)  jsokizlkn f}osnh 

¼2½¼2½¼2½¼2½ 

iz-22 v/kksfyf[kr iz’uku~ mÙkjr &                                                  

¼d½ v/kksfyf[kr la[;kuka Ñrs laLÑr inkfu fy[kr &  

 106, 1012, 1037, 1055 

¼[k½ ^vk;ZHkVh;e~^ bfr dL; xzUFkefLr\ ys[kdL; dfLeu~ {ks=s  

     egRoiw.kZa ;ksxnkue~ vfLr\                                                                

¼x½ osn _"k;% dL; iwtdk% vklu~\ 

    

¼2½¼2½¼2½¼2½    

    

¼2½¼2½¼2½¼2½    

    

¼¼¼¼1111½½½½ 

iz-23 ¼d½ fp=kRed fyfi% dL;k% Hkk"kk;k% vfLr\                                    

¼[k½ ckS)xzUFkL; xzUFkk% dL;ka Hkk"kk;ka orZUrs\                                    

¼x½ ew/kZ;k mPpkfjrk% o.kkZ% ds dF;Urs\                                         

¼?k½ laLÑrHkk"kk;k% O;kdj.kL; jpf;rk d%\ 

¼¼¼¼1111½½½½    

¼¼¼¼1111½½½½    

¼¼¼¼1111½½½½    

¼¼¼¼1111½½½½ 

iz-24 ¼d½ Hkkjrh;laLÑrs% foLr`ra fp=.ka dq= orZrs\                                  

¼[k½ dL; tkrdeZlaLdkj% fØ;rs\                                             

¼x½ Hkkjrh;kuka thoudky% dfr vkJes"kq foHkDr%\                                

¼?k½ lekorZu laLdkj% dnk Hkofr\ 

¼¼¼¼1111½½½½    

¼¼¼¼1111½½½½    

¼¼¼¼1111½½½½    

¼¼¼¼1111½½½½ 
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oSdfYid & oSdfYid & oSdfYid & oSdfYid & II    

¼iz;kstuewyd laLÑre~½¼iz;kstuewyd laLÑre~½¼iz;kstuewyd laLÑre~½¼iz;kstuewyd laLÑre~½    

iz-21 v/kksfyf[krokD;s"kq fjDrLFkkukfu iwj;r &                       

¼d½ lkalkfjdokd O;ogkj% -----------------------------fouk u izpyfrA                     

¼[k½ bfrgklL; /keZKkuL; p dks’kks·;a ------------------------------- xzUFk%A                

¼x½ ch- ,- ,e- ,l- ikB~;Øes -----------------Kkue~ vfuok;Zrk vis{krsA     

¼?k½ lw;ZpUnz xzg.k dky% ----------------------------- lEcfU/k fpUrua orZrsA 

¼¼¼¼1111××××4444¾4½¾4½¾4½¾4½ 

iz-22 v/kksfyf[krku~ iz’uku~ mÙkjr &                                           

¼d½ okÙkkZizlkjod{ka dhn`’ke~ Hkosr~\ 

¼[k½ okÙkkZizlkj.kL; volkua fda dFkf;Rok mn~?kks";rs\                

¼x½ nwjn’kZus laLÑr okÙkkZuka nSfud izlkj.ka dfLeu~ o"ksZ vkjC/ke~\    

¼?k½ vkdk’kok.kh Hkous vusds lEikndk% dq= mifo’kfUr\ 

¼¼¼¼1111××××4444¾4½¾4½¾4½¾4½     

iz-23 =Sekfldh if=dk dk Hkofr\ ,dL;k% =Sekfld&if=dk;k%  
ukeksYys[ka dq#rA           

¼2½¼2½¼2½¼2½    

iz-24 ¼d½ if=dk;k% ukekVua dL; dk;kZy;s dj.kh;e~\                              

¼[k½ lX.kd ;U=a dL; funsZ’kkuqlkja dk;Za djksfr\                                

¼x½ Li"Vkuka lVsrfpg~ukuke~ vHkkos fda Hkofr\                              

¼?k½ =qfV 'kks/kus iz;qDre~ v/kksfyf[kr fpg~ukuke~ vfHkizk;s.k lg  

     esy;r &       

        ¼v½           ¼c½ 

 (i) iw.kZfojke%     ¼d½ ¼ ! ½ 

 (ii) foLe;kfncks/kdfpUg   ¼[k½ ¼ & ½ 

 (iii) vYifojke%     ¼x½ ¼ A ½ 

 (iv) funsZ’k fpUge~                ¼?k½  ¼ , ½ 

¼1½¼1½¼1½¼1½    

¼1½¼1½¼1½¼1½       

¼1½¼1½¼1½¼1½    

¼¼¼¼½××××4¾24¾24¾24¾2½½½½    

 

------------------------------- 
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dqy iz’uksa dh la[;k % 26                                                                dqy i`"Bksa dh la[;k % 12 
Total No. of Questions:  26                                                        Total No. of Pages: 12 

gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018 

311 

fo"k; %fo"k; %fo"k; %fo"k; % mPp xmPp xmPp xmPp xf.krf.krf.krf.kr    
Subject: Higher Mathematics 

(Hindi & English Versions) 

le; % 03 ?k.Vs                                                                           iw.kk±d % 100 
Time: 03 Hours                                                                                                              Maximum Marks: 100 

funsZ’k %&funsZ’k %&funsZ’k %&funsZ’k %&    

     (i)        lHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaA    

    (ii)        iz’u iz’u iz’u iz’u i= i= i= i= esa rhu [k.M fn;s x;s gSa [k.M ^^v^^] [k.M ^^c^^ vkSj [k.M ^^l^^esa rhu [k.M fn;s x;s gSa [k.M ^^v^^] [k.M ^^c^^ vkSj [k.M ^^l^^esa rhu [k.M fn;s x;s gSa [k.M ^^v^^] [k.M ^^c^^ vkSj [k.M ^^l^^esa rhu [k.M fn;s x;s gSa [k.M ^^v^^] [k.M ^^c^^ vkSj [k.M ^^l^^AAAA    

    (iii)    [k.M ^^v^^ esa fn;s x;s iz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSaA[k.M ^^v^^ esa fn;s x;s iz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSaA[k.M ^^v^^ esa fn;s x;s iz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSaA[k.M ^^v^^ esa fn;s x;s iz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSaA    

 (iv)    [k.M ^^c^^ esa iz’u Øekad 6 ls 24 rd vkUrfjd fodYi fn;s x;s gSaA[k.M ^^c^^ esa iz’u Øekad 6 ls 24 rd vkUrfjd fodYi fn;s x;s gSaA[k.M ^^c^^ esa iz’u Øekad 6 ls 24 rd vkUrfjd fodYi fn;s x;s gSaA[k.M ^^c^^ esa iz’u Øekad 6 ls 24 rd vkUrfjd fodYi fn;s x;s gSaA    

 (v)        [k.M ^^l^^ esa nks fodYi gSaA ijh{kkFkhZ [k.M ^^l^^ esa nks fodYi gSaA ijh{kkFkhZ [k.M ^^l^^ esa nks fodYi gSaA ijh{kkFkhZ [k.M ^^l^^ esa nks fodYi gSaA ijh{kkFkhZ dks dsoy ,d fodYi ds gh iz’uksa ds mÙkj nsus dks dsoy ,d fodYi ds gh iz’uksa ds mÙkj nsus dks dsoy ,d fodYi ds gh iz’uksa ds mÙkj nsus dks dsoy ,d fodYi ds gh iz’uksa ds mÙkj nsus 

gSaAgSaAgSaAgSaA    

 (vi)        lHkh iz’uksa ds lEeq[k muds vad fn;s x;s gSaA lHkh iz’uksa ds lEeq[k muds vad fn;s x;s gSaA lHkh iz’uksa ds lEeq[k muds vad fn;s x;s gSaA lHkh iz’uksa ds lEeq[k muds vad fn;s x;s gSaA     

Instructions:- 

  (I) All questions are compulsory.  

 (Ii) Question paper has three Sections section “A”, Section “B” and Section     

                             “C”.   

 (Iii) In Section “A” Question Nos. 1 to 5 are objective type.   

 (Iv) In Section “B” Question Nos. 6 to 24 has Internal options.    

 (v) Section “C” has two options. Candidates are required to attempt  

                             questions from one option only.  

 (vi) Marks for each Question are indicated against it.   
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[k.M & [k.M & [k.M & [k.M & ^̂̂̂vvvv^̂̂̂    

SECTION – ‘A’ 

iz-1 lgh fodYi pqudj fyf[k, & ¼1¼1¼1¼1××××5555====5½5½5½5½ 
 (i) bdkbZ ds ?kuewyksa esa ls ,d gS &  

 (a) 
2

3i - 1
              (b) 

2

i - 3
  

 (c) 
2

3i 1 - +                       (d) 
2

3i  1+
 

 

 (ii) ;fn lehdj.k 4x2 + px + 9 = 0  ds ewy leku gksa] rks p dk eku  
      gksxk &  

 (a) ± 12       (b) 12 

 (c) 144       (d)  - 12 

 

 (iii) ;fn lehdj.k ax2 + bx + c = 0 ds ewy l o 2l gSa] rks &  

 (a) b2 = 9ac      (b) 2b2 = 9ac 

 (c) b2 = - 4ac      (d) a2 = c2 

 

 (iv) lfEeJ la[;k 3 i 1 - + dk dks.kkad gS &  

 (a) 120°       (b) - 120°  

 (c) - 60°       (d) 60° 

 

 (v) lfEeJ la[;k 1 + i dk ekikad gS &  

 (a) 2        (b) 2−  

 (c) 
2

1
       (d) 

2

1
 −  

 

 Choose the correct option-   

 (i) One of the cube roots of unity is -  

 (a) 
2

3i - 1
      (b) 

2

i - 3
 

 (c) 
2

3i 1 - +
      (d) 

2

3i  1+
 

 

 (ii) If the roots of the equation 4x2 + px + 9 = 0 are equal, then  

 the value of p is-  

 (a) ± 12       (b) 12 

 (c) 144       (d)  - 12 
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 (iii) If the roots of the equation ax2 + bx + c = 0 are l  and 2l , 

  then - 

 (a) b2 = 9ac      (b) 2b2 = 9ac 

 (c) b2 = - 4ac      (d) a2 = c2 

 

 (iv) The argument of complex number 3i  1- + is - 

 (a) 120°       (b) - 120°  

 (c) - 60°       (d) 60° 

 

 (v) The modulus of complex number 1 + i is - 

 (a) 2        (b) 2−  

 (c) 
2

1
       (d) 

2

1
 −  

 

iz-2 fuEufyf[kr dFkuksa esa lR;@vlR; fyf[k, & 

(i) a ,oa b dk lekUrj ek/; 
2

b  a +  gksxkA   

(ii) 0, 1, 2, 3, 4 dk lekUrj ek/; 5 gSA 

(iii) ek/;] ekf/;dk o cgqyd esa laca/k gS & 

     cgqyd = 3 ekf/;dk - 2 ek/; 

(iv) ekud fopyu xq.kkad 
x

σ
 gksrk gSA 

(v) ∫ x sin

dx

  
dk eku log sin C  

2

x
+  gSA 

¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Write true/false in the following statements -   

(i) The Arithmetic Mean of a and b will be
2

b  a +
. 

(ii) The Arithmetic mean of 0, 1, 2, 3, 4 is 5.  

(iii) Relationship between Mean, Median and Mode is –  

        Mode = 3 Median – 2 Mean . 

(iv) Coefficient of Standard Deviation is 
x

σ
 . 

(v) The value of ∫ x sin

dx

 
is log sin C  

2

x
+ . 

 



[311]  Page 4 of 12                                                             

iz-3 fjDr LFkkuksa dh iwfrZ dhft, & 
(i) Js.kh 9 + 5 + 1…… ds 16 inksa rd dk ;ksxQy ------------------------- gSA  

(ii) nks la[;kvksa dk xq.kksÙkj ek/; okLro esa mudk --------------------------- gksrk gSA 
(iii) fcUnq (3,4) dh ewy fcUnq ls nwjh -------------------------------- gSA 
(iv) ;fn fcUnq (3,0), (6,9) rFkk (x,3) lajs[k gSa] rks x = -------------------------------------------------- 
(v) nks ijLij yacor~ js[kkvksa dh izo.krk dk xq.kuQy ---------------------------gksrk  
     gSA 

¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Fill in the blanks - 

(i) The sum of the series 9 + 5 + 1 ………up to 16 terms is...... 

(ii) Geometric mean of two numbers is their……………. 

(iii) The distance of origin from point (3,4) is ……………. 

(iv) If point (3,0), (6,9) and (x,3) are collinear, then x = ………. 

(v) The product of gradient of two perpendicular lines is………..  

 

iz-4 izR;sd dk ,d 'kCn@ okD; esa mÙkj nhft, &     

(i) 
15

3

2

x

2
 - x 







 ds izlkj esa x ls Lora= in D;k gksxk\  

(ii) n vo;oksa okys leqPp; ds mileqPp;ksa dh la[;k D;k gksxh\ 

(iii) ;fn A = {1, 2} rFkk B = {3, 4}, rc A × B Kkr dhft,A 

(iv) ;fn y = ax gks] rc 
dx

dy
 dk eku gksxk\  

(v) 2, 8, 6, 10, 16, 4, 3 dh ekf/;dk Kkr dhft,A 
 

¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Give answers in one word/sentence - 

(i) In the expansion of 

15

3

2

x

2
 - x 








, the term independent of x  

         will be?  

(ii) What will be the number of subsets of a set containing  

        n  elements?  

(iii) If A = {1, 2} and B = {3, 4}, then find A × B.  

(iv) If y = ax, then the value of 
dx

dy
will be? 

(v) Find the median of 2, 8, 6, 10, 16, 4, 3.  
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iz-5 lgh tksM+h cukb, & 

(a)  dx 
a - x

1
22

             (i) ( )[ ]22222  x a x  log a  x ax
2

1
++++  

(b)  dx 
 x- a

1
22

             (ii)      [ ]22 a  x x  log ++  

(c)  dx 
a  x

1

22
+

         (iii) 






 +

 x- a

 x a
 log 

2a

1
 

(d)  dx 
a - x

1

22
          (iv) 









+

−

a x 

a x 
 log 

2a

1
 

(e) dx  x a 22
+           (v) [ ]22 a  x x  log −+  

¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Match the column- 

(a)  dx 
a - x

1
22

             (i) ( )[ ]22222  x a x  log a  x ax
2

1
++++  

(b)  dx 
 x- a

1
22

             (ii)      [ ]22 a  x x  log ++  

(c)  dx 
a  x

1

22
+

         (iii) 






 +

 x- a

 x a
 log 

2a

1
 

(d)  dx 
a - x

1

22
          (iv) 









+

−

a x 

a x 
 log 

2a

1
 

(e) dx  x a 22
+           (v) [ ]22 a  x x  log −+  

 

 

 

 

 

 

 

 

 

 

 

 

 

∫

∫

∫

∫

∫

∫

∫

∫

∫

∫
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[k.M & [k.M & [k.M & [k.M & ^c^^c^^c^^c^    
SECTION – ‘B’    

iz-6 ( )122  yx x + ds izlkj esa lkekU; ¼O;kid½ in Kkr dhft;sA 

Write the general term in the expansion of ( )122  yx x + . 

vFkokvFkokvFkokvFkok@OR 
fl) dhft;s fd ¼xf.krh; vkxeu fl)kar ls ½    

1 + 2 + 3 + …………… 1)  (n 
2

n
  n +=+ ] tgk¡ n ,d izkÑr la[;k gSA    

Prove that [By the Principle of Mathematical Induction ] 

1 + 2 + 3 + …………… 1)  (n 
2

n
  n +=+ , where n is a natural  

number.  

¼2½¼2½¼2½¼2½ 

iz-7 
Js.kh  

2

3
 - 3, - 6, - ------------------------------------- dk NBk in Kkr dhft,A  

Find 6th term of the sequence  
2

3
 - 3, - 6, - ……………..    

vFkokvFkokvFkokvFkok@OR 
6 vkSj 9 dk xq.kksÙkj ek/; Kkr dhft,A     
Find the Geometric Mean of 6 and 9.  

¼2½¼2½¼2½¼2½ 

iz-8 
;fn f(x) = x2 + 2x – 3 gks] rks f(0) rFkk 









3

1
 f dk eku Kkr dhft,A 

If  f(x) = x2 + 2x – 3 ,then find the value of f(0) and 








3

1
 f .    

vFkokvFkokvFkokvFkok@OR 

;fn  1 x   (x) f += rFkk g(x) = x2 + 2 gks rks fog rFkk gof dk eku Kkr 
dhft,A                 
It  1 x   (x) f += and g(x) = x2 + 2, then calculate fog and gof.  

¼2½¼2½¼2½¼2½ 

iz-9 

        4 -x 

256 - x4

 dk eku Kkr dhft,A 

Evaluate-                
4 -x 

256 - x4

.    

vFkokvFkokvFkokvFkok@OR 

ex cos x dk vody xq.kkad Kkr dhft,A        
Find the Differential coefficient of ex cos x.  

¼2½¼2½¼2½¼2½ 
lim

4 x →

lim
4 x →
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iz-10 ,d FkSys esa 5 lQsn vkSj 8 dkyh xsansa gSaA buesa ls ,d lQsn xsan fudkyus  
dh izkf;drk Kkr dhft,A  
A bag contains 5 white and 8 Black balls. If a ball is drawn at 
random from the bag, what is the probability of getting a white 
ball?       
 

vFkokvFkokvFkokvFkok@OR 
nks iklksa dks ,d lkFk Qsadus ij ;ksx 9 vkus dh izkf;drk Kkr dhft,A        
In a single throw of two dice, what is the probability of obtaining  
a total of 9? 

¼2½¼2½¼2½¼2½ 

iz-11 fdlh ∆ ABC esa fl) dhft, fd&  
a sin A – b sin B = c sin (A - B)  
In any triangle ABC, show that - 
a sin A – b sin B = c sin (A - B).    

vFkokvFkokvFkokvFkok@OR 
;fn a = 2, b = 3, c = 4 gks] rks cos A, cos B rFkk cos C dk eku Kkr  
dhft;sA                 
If a = 2, b = 3, c = 4, then find the value of cos A,  cos B and  
cos C.  

¼3¼3¼3¼3½½½½ 

iz-12 fl) dhft;s fd R esa fn;k x;k Qyu f(x) = x3 – 3x2 + 3x – 100 o/kZeku 
gSA      
Show that function given by f(x) = x3 – 3x2 + 3x – 100 is  
increasing on R.  

vFkokvFkokvFkokvFkok@OR 
vUrjky [1, 3] esa Qyu 2x3 – 24x + 107 dk mfPp"B eku Kkr dhft,A    
Find the maximum value of 2x3 – 24x + 107 in the interval [1, 3]. 

¼3¼3¼3¼3½½½½ 

iz-13 ;fn  60  P 2 - n
n

= ]rks n dk eku Kkr dhft,A 

If  60  P 2 - n
n

= ,then compute n.     
vFkokvFkokvFkokvFkok@OR 

;fn nc14 = nc16 rks 
32cn dk eku Kkr dhft,A    

If nc14 = nc16 then evaluate 32cn. 

¼3¼3¼3¼3½½½½ 

iz-14 ,d oÙ̀k dk dsUnz (- 2 , 5) rFkk f=T;k 3333 gSA o`Ùk dk lehdj.k Kkr  
dhft,A      
If the centre of a circle is (- 2 , 5) and radius is 3, find the  
equation of the circle.     

vFkokvFkokvFkokvFkok@OR 
k ds fdl eku ds fy, fcUnq (1,4),(k, - 2) rFkk (- 3, 16) lajs[k gSa\    
The points (1,4), (k, - 2) and (- 3, 16) are collinear. Find the  
value of k. 

¼¼¼¼3333½½½½ 
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iz-15 fl) dhft, fd &      
Prove that – 

2c) - (a c) b  (a   

cbb  a

aca c 

bac b

    ++=

+

+

+

 

vFkokvFkokvFkokvFkok@OR 
lehdj.k gy dhft,-                
Solve the equation. 

 0   

c x ba

cb x a

cba x 

 =

+

+

+

 

¼4¼4¼4¼4½½½½ 

iz-16 nh?kZoÙ̀k~ 9x2 + 16y2 = 144, ds fy, nh?kZ&v{k] y?kq&v{k dh yEckb;k¡] 
ukfHk;ksa ds funsZ’kkad] 'kh"kZ rFkk mRdsUnzrk Kkr dhft,A 
For the ellipse 9x2 + 16y2 = 144, find the length of major and  
minor axis, co-ordinates of foci ,vertices, and eccentricity.   

vFkokvFkokvFkokvFkok@OR 

js[kkvksa 0  16  y x 3 =++  rFkk 0  9  y -x 3 =+ ds chp dks.k Kkr dhft;sA 
             

Find out the angle between 0  16  y x 3 =++  and 0  9  y -x 3 =+  

¼4¼4¼4¼4½½½½ 

iz-17 fl) dhft, fd  &     
Prove that - 

tanθ - secθ  
sinθ  1

sinθ - 1
=

+
 

vFkokvFkokvFkokvFkok@OR 

;fn 
3

 A 
π

=  rFkk 
6

  B
π

=  gks rks fl) dhft, fd         

cos (A + B) = cos A.cos B – sin A.sin B    

If 
3

 A 
π

=
  

and  
6

  B
π

= , then verify that 

cos (A + B) = cos A.cos B – sin A.sin B. 

¼¼¼¼4444½½½½ 

iz-18 izFke fl)kUr ls sin x dk vodyt Kkr dhft,A 
Differentiate sin x by first Principle.     

vFkokvFkokvFkokvFkok@OR 

cosx - 1

cosx  1+
log  dk x ds lkis{k vodyu dhft,A         

Differentiate log 
cosx - 1

cosx  1+
 with respect to x.  

¼¼¼¼4444½½½½ 
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iz-19 

 dx 
x

1
 x 

3









+  dk eku Kkr dhft,A 

Evaluate  
 

dx 
x

1
 x 

3









+     

vFkokvFkokvFkokvFkok@OR 

   dx 
 xtan -sec x 

sec x

 
dk eku Kkr dhft,A        

Evaluate     dx 
 xtan -sec x 

sec x
 

¼4¼4¼4¼4½½½½ 

iz-20 fl) dhft, fd  &     
Prove that – 









=








+









9

2
  tan  

13

1
  tan  

7

1
   tan 1 -1 -1 -     

vFkokvFkokvFkokvFkok@OR 

fl) dhft, fd  &             
Prove that – 

 
2

x
 - 

4
  

 xsin  1

 xcos
 tan 1 π

=






+

−  

¼4¼4¼4¼4½½½½ 

iz-21 ekf/;dk ls ek/; fopyu Kkr dhft,& 
Calculate the mean deviation from median – 

7, 4, 10, 15, 9, 12, 7, 9, 7.  

vFkokvFkokvFkokvFkok@OR 

fuEu lkj.kh ds fy;s ekud fopyu Kkr dhft, &        
Calculate the Standard deviation for the following data –  

oxZ 
Class Interval  

0 – 10 10 – 20 20 – 30 30 – 40 40 - 50 

ckjEckjrk 
Frequency  

3 5 9 6 2 

 

¼4¼4¼4¼4½½½½ 

∫

∫

∫
∫
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iz-22 
;fn 








=+

52

07
  y x  vkSj 








=−

30

03
  y x ]Rkc x ,oa y Kkr dhft,A  

Find x and y ,if 







=+

52

07
  y x  and 








=−

30

03
  y x . 

vFkokvFkokvFkokvFkok@OR 

;fn 







=

21 -

32
 A  vkSj f(x) = x2 – 4x + 7 ,rks fl) dhft, fd f(A) = 0.  

             

If 







=

21 -

32
 A and f(x) = x2 – 4x + 7, then show that  f(A) = 0.   

¼¼¼¼5555½½½½ 

iz-23 
,d lekUrj Js.kh dk p ok¡ in 

q

1
 rFkk q ok¡ in 

p

1

 
gks] rks fl) dhft,  

fd (pq) ok¡ in 1 gksxkA   

The pth term of an A. P. is 
q

1

 
and its qth term is

p

1
 . Prove that its  

pqth term is 1 .  

vFkokvFkokvFkokvFkok@OR 

nks la[;kvksa dk lekUrj ek/; 9 gS rFkk mudk xq.kuQy 80 gSA la[;k,¡  
Kkr dhft,A                 
Arithmetic Mean of two numbers is 9 and their product is 80.  

Find the numbers.  

¼5¼5¼5¼5½½½½ 

iz-24 ;fn ,d yhi o"kZ dk ;kn`fPNd p;u fd;k tkrk gS ]rks bl o"kZ esa 53  
jfookj gksus dh izkf;drk Kkr dhft,A  

Find the probability that a leap year selected at random will  

contain 53 Sundays.     
vFkokvFkokvFkokvFkok@OR 

52 rk’k ds iÙkksa dh ,d xìh esa ls ,d iÙkk ;nP̀N;k fudkyk tkrk gS] rks  

mlds xqyke] csxe ;k ckn’kkg fudyus dh izkf;drk Kkr dhft,\         

One card is drawn at random from a pack of 52 cards. Find the  

probability of it being Jack, Queen or King.  

¼5¼5¼5¼5½½½½ 
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 [k.M & ^l^[k.M & ^l^[k.M & ^l^[k.M & ^l^    ¼fodYi&¼fodYi&¼fodYi&¼fodYi&I½½½½    
SECTION – ‘C’ (Option-I) 

    

iz-25 fcUnq A o B ds fLFkfr lfn’k Øe’k% k̂ - ĵ3  î +  o k̂3- ĵ  î3 −  gks] rks  
fl) dhft, fd AB ds e/; fcUnq dk fLFkfr lfn’k k̂2 - ĵ  î2 +  gksxkA  
Position  vectors of point A and B are k̂ - ĵ3  î +  and k̂3-  ĵ î3 −  

respectively. Then prove that, Position vector of the mid point of  

AB is k̂2 - ĵ  î2 + .     
vFkokvFkokvFkokvFkok@@@@OR 

;fn fdlh ∆ABC dk dsUnzd G gks] rks fl) dhft, fd  
0  GC  GB  GA =++             

If G is the centroid of any triangle ,then show that (Prove that)  

0  GC  GB  GA =++ .   

¼5¼5¼5¼5½½½½ 

iz-26 fcUnqvksa A (2, - 3, 4) o B (- 5, 6, 7) dks feykus okys js[kk[k.M dks O;kl  
ekudj cuk;s x;s xksys dk lehdj.k Kkr dhft,A 
Obtain the equation of the sphere described on the line joining 

the points  A (2, - 3, 4) and B (- 5, 6, 7),taking it as a 
diameter 

vFkokvFkokvFkokvFkok@OR 
fl) dhft, fd nks lekUrj leryksa 2x – 2y + z + 3 = 0  rFkk   

4x – 4y+ 2z + 5 = 0 ds chp dh nwjh 
6

1  gSA    

Prove that the distance between two parallel planes  

2x – 2y + z + 3 = 0 and 4x – 4y + 2z + 5 = 0  is 
6

1
. 

¼5¼5¼5¼5½½½½    

 [k.M & ^l^[k.M & ^l^[k.M & ^l^[k.M & ^l^ ¼fodYi&¼fodYi&¼fodYi&¼fodYi&II½½½½ 
SECTION – ‘C’ (Option-II) 

    

iz-25 dkSu lk fuos’k T;knk csgrj ¼ykHknk;d½ gS & 

(a) 95 ij 14% LVkWd 

(b) 105 ij 15% LVkWd 
Which is the better investment - 

(a)    14% stock at 95 

(b)    15% stock at 105. 

vFkokvFkokvFkokvFkok@OR 
,d O;fDr us 10% dk 12,000 ` dk LVkWd 92 ds Hkko ls [kjhnk rFkk  
mldk ewY; 98 ` gksus ij csp fn;kA mldk dqy ykHk rFkk izfr’kr Kkr  
dhft,A                    
A man bought `12,000 of 10% stock at 92 and sold it when its  
price raised to `98. Find his total gain and gain percent.  

¼5¼5¼5¼5½½½½    
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iz-26 o"kZ 2000 dks vk/kkj o"kZ ekudj o"kZ 2003 ds lwpdkad dh x.kuk dhft, & 
Construct the price index number for 2003, taking the year 2000  

as base year.  

Commodity Price in the  
year 2000    

Price in the  
year 2003    

oLrq o"kZ 2000 esa ewY; 
 

o"kZ 2003 esa ewY; 

A 60 80 

B    50 60 

C    70 100 

D    120 160 

E    100 150 

 
vFkokvFkokvFkokvFkok@OR 

,d O;fDr 25 o"kZ dh vk;q esa 50,000 ` dh ,d chek ikWfylh 30 o"kZ ds  
fy;s ysrk gSA fuEu fooj.k ds vuqlkj mldk v/kZ&okf"kZd izhfe;e Kkr  
dhft, &             
A person at the age of 25 years takes an insurance policy of 

sum assured `50,000 for 30 years term. Calculate the half-

yearly premium assuming the following details –  

rkfydk izhfe;e                 %                    ` 40/1000 

Tabular Premium   

vf/kd chek jkf’k ds fy;s NwV     %                    ` 2/1000 

Rebate for large sum assured  

v/kZ&okf"kZd Hkqxrku ds fy;s NwV   %                    1.5% 

Rebate for half-yearly payment  

¼5¼5¼5¼5½½½½    

 

------------------------------- 
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dqy iz’uksa dh la[;k % 20                                                  dqy i`"Bksa dh la[;k % 12 

Total No. of Questions: 20                                                     Total No. of Pages: 12 

gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018 

312 

fo"k; % HkkSfrd 'kkL=fo"k; % HkkSfrd 'kkL=fo"k; % HkkSfrd 'kkL=fo"k; % HkkSfrd 'kkL=    

Subject: PHYSICS 

(Hindi & English Versions) 

le; % 03 ?k.Vs                                                                         iw.kk±d % 075 

Time: 03 Hours                                                                 Maximum Marks: 075 

funsZ’k%& funsZ’k%& funsZ’k%& funsZ’k%&         

    (i)    iz’u i= nks iz’u i= nks iz’u i= nks iz’u i= nks [k.Mksa ^v^ rFkk ^c^ esa foHkkftr[k.Mksa ^v^ rFkk ^c^ esa foHkkftr[k.Mksa ^v^ rFkk ^c^ esa foHkkftr[k.Mksa ^v^ rFkk ^c^ esa foHkkftr    gSAgSAgSAgSA    

    (ii)    [k.M[k.M[k.M[k.M    ^v* ^v* ^v* ^v* ds lHkh iz’u ds lHkh iz’u ds lHkh iz’u ds lHkh iz’u gy djuk vfuok;Z gSA iz’u Øgy djuk vfuok;Z gSA iz’u Øgy djuk vfuok;Z gSA iz’u Øgy djuk vfuok;Z gSA iz’u Ø----    5 ls5 ls5 ls5 ls    17 rd izR;sd iz’u 17 rd izR;sd iz’u 17 rd izR;sd iz’u 17 rd izR;sd iz’u 

esesesesaa aa    vkarfjd fodYi fn;s x;s gSvkarfjd fodYi fn;s x;s gSvkarfjd fodYi fn;s x;s gSvkarfjd fodYi fn;s x;s gSaa aaAAAA    

    (iii)    ^c* [k.M ds dsoy ,d fodYi ds lHkh iz’u gy djsaA^c* [k.M ds dsoy ,d fodYi ds lHkh iz’u gy djsaA^c* [k.M ds dsoy ,d fodYi ds lHkh iz’u gy djsaA^c* [k.M ds dsoy ,d fodYi ds lHkh iz’u gy djsaA    

 (iv)    izR;sd iz’u gsrq fu/kkZfjr vad izR;sd iz’u gsrq fu/kkZfjr vad izR;sd iz’u gsrq fu/kkZfjr vad izR;sd iz’u gsrq fu/kkZfjr vad iz’u ds lEeq[k vafdr gSaAiz’u ds lEeq[k vafdr gSaAiz’u ds lEeq[k vafdr gSaAiz’u ds lEeq[k vafdr gSaA    

 (v)    vko’;drkvko’;drkvko’;drkvko’;drkuqlkj Li"V o ukekafdr fp= cuk,auqlkj Li"V o ukekafdr fp= cuk,auqlkj Li"V o ukekafdr fp= cuk,auqlkj Li"V o ukekafdr fp= cuk,aAAAA    

INSTRUCTIONS:-  

 (i) Question paper is divided into two parts ‘A’ and ‘B’.  

 (ii)  All questions of part ‘A’ are compulsory to attempt. Internal options are given 

in each question from question No. 05 to 17. 

 (iii) Attempt all questions of only one option of part ‘B’ 

 (iv) Marks allotted on each question are mentioned in front of the question. 

            (v) Draw neat and labelled diagram wherever  necessary.  
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[k.M & [k.M & [k.M & [k.M & ^̂̂̂vvvv^̂̂̂    
SECTION – ‘A’ 

iz-1 izR;sd iz’u esa fn;s x;s fodYiksa esa ls lgh fodYi pqudj fyf[k;s%& 

¼v½ vf/kdre {kSfrt ijkl ds fy, iz{ksI; dk iz{ksi.k dks.k gksuk pkfg,& 

 (i) 30°                   (ii) 60°  

 (iii) 45°                           (iv) 90° 

¼¼¼¼5½5½5½5½ 

 ¼c½ oLrq dk og xq.k tks viuh voLFkk esa ifjorZu dk fojks/k djrk gS] 

dgykrk gS&  

 (i) tM+Ro                   (ii) pky  

 (iii) ?k"kZ.k                           (iv) izR;kLFkrk 

 

 ¼l½ dk;Z dk foeh; lw= gS&  

 (i) 2 2TML −       (ii) 2 MLT −  

 (iii)  2 20 T L M −      (iv) 3 22 T L M −  

 

 ¼n½ fo|qr /kkfjrk dk S.I ek=d gS&  

 (i) LVsV QSjM              (ii) QSjM  

 (iii) LVsV dwykWe                      (iv) dwykWe 

 

 ¼b½ fdlh ifjiFk esa /kkjk dk ekiu djus ds fy, yxkrs gSa&  

 (i) oksYVehVj              (ii) /kkjkekih  

 (iii) vehVj                      (iv) oksYVkehVj 

 

 Select and write the correct option from the options given in 

each question:- 

(a) The angle of projection of projectile for maximum range 

must be- 

 (i) 30°       (ii) 60° 

 (iii) 45°       (iv) 90° 

 

 (b) The property of a body which opposes the change in its 

state is called- 

 (i) inertia             (ii) speed 

 (iii) friction      (iv) elasticity 
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 (c) Dimensional formula of work is- 

 (i) 2 2TML −       (ii) 2 MLT −  

 (iii)  2 20 T L M −      (iv) 3 22 T L M −  

 

 (d) The S.I. unit of electrical capacity is- 

 (i) stat - farad      (ii) farad 

 (iii) stat - coulomb             (iv) coulomb 

 

 (e) To measure current in a circuit, the instrument used is- 

 (i) voltmeter      (ii) galvanometer 

 (iii) ammeter      (iv) voltmeter 

 

iz-2 fjDr LFkkuksa dh iwfrZ dhft;s&  

¼v½ æo pkfyr fy¶V-------------------------------------------------------ds fu;e ij vk/kkfjr gSA  

¼c½ ,d vPNk vo’kks"kd----------------------------------------------------------------mRltZd gksrk gSA 

¼l½ Bkslksa esa Å"ek dk LFkkukUrj.k------------------------------------------------fof/k ls gksrk gSA 

¼n½ lsds.M yksyd dk vkorZdky-----------------------------------------------------------------gksrk gSA 

¼b½ xksyh; niZ.k ds /kqzo ls Qksdl rd dh nwjh dks] ml niZ.k dh         

----------------------------------------------------dgrs gSaA 

¼¼¼¼5½5½5½5½ 

 Fill in the blanks-  

(a) Hydraulic lift is based on………………………………….law. 

(b) A Good Absorber is a…………………………..………emitter. 

(c) The transfer of heat takes place in solids by……..…method. 

(d) The time period of seconds pendulum is…………………….. 

(e) The distance from pole of spherical mirror to its focus is 

called…………………………………..of the mirror. 
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iz-3 lgh tksM+h cukb;s&         

 dkWye Þvß      dkWye Þcß 

¼v½ xSl ds v.kqvksa dh xfr    (i) ( ) RT  b-V  
V

a
 P

2
=








+  

¼c½ ok.MjokYl xSl lehdj.k  (ii) tesZfu;e 

¼l½ 'kq) v)Zpkyd    (iii) oksYVst fu;ked 

¼n½ ljy lw{en’khZ dh vko/kZu {kerk (iv) f=foeh; xfr 

¼b½ t+suj Mk;ksM    (v) 
f

D
1+  

¼¼¼¼5½5½5½5½ 

 Make the correct pairs-  

 Column “A”      Column ”B”  

(a) motion of molecules of gas (i) ( ) RT  b-V  
V

a
 P

2
=








+  

(b) Vander walls gas equation (ii) germanium 

(c) pure semiconductor  (iii) voltage regulator 

(d) magnifying power of simple    (iv) three dimensional                           

microscope      motion 

(e) Zener diode    (v) 
f

D
1+  

    

iz-4 izR;sd iz’u dk mÙkj ,d okD; esa nhft;s&  

¼v½ nks Lofj= f}Hkqtksa dh vko`fÙk;k¡ 24 gV~Zt+ vkSj 22 gVZ~t+ gSA ;fn nksuksa 

,d lkFk /ofu mRiUu djrs gSa] rks izfr lsd.M fdrus foLiUn lqukbZ 

nsaxs\ 

¼c½ ,d dwykWe vkos’k esa bysDVªkWuksa dh la[;k fyf[k;sA 

¼l½ 2 vkse vkSj 3 vkse ds izfrjks/kksa dks Js.kh Øe esa tksM+us ij rqY; 

izfrjks/k fdruk gksxk\ 

¼n½ fdl xsV dks mRØed xsV dgrs gSa\ 

¼b½ ysDyka’kh lsy esa iz;qDr fo/kzqod dk uke fyf[k;sA 

¼¼¼¼5½5½5½5½ 
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 Give answer of each question in one sentence- 

(a) The frequencies of two tuning forks are 24 Hz and 22 Hz. If 

both are sounded together, then what no. of beats will be 

heard together? 

(b) Write no. of electrons in one coulomb charge.  

(c) Two resistors of resistance 2 Ω and 3 Ω  are connected in 

series. What will be the equivalent resistance of this 

combination? 

(d) Name the gate which is called inverter? 

(e) Which substance is used as depolariser in a Lechanche 

cell? 

 

iz-5 jsfxLrku fnu esa cgqr xeZ rFkk jkr esa cgqr B.Ms gks tkrs gaSA D;ksa\ 

In deserts, days are very hot and nights are very cold. Why?    

vFkokvFkokvFkokvFkok@@@@ OR 

rk¡cs ds ,d VqdM+s dk æO;eku 100 xzke rFkk izkjafHkd rki 20°C    gSA ;fn 

rk¡cs dh fof’k"V Å"ek 0-1 dSyksjh@xzke °C gS rks VqdM+s dks 50°C rd xeZ 

djus ds fy, vko’;d Å"ek dh x.kuk dhft,A 

The mass of a piece of Copper is 100 gm. and its initial 

temperature is 20°C. If Specific heat of Copper is 0.1 cal /gm. 

°C, calculate the heat required to raise its temperature up to 

50°C. 

¼2½¼2½¼2½¼2½ 
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iz-6 ijkorZu ds fu;e fyf[k;sA  

State Laws of reflection.    

vFkokvFkokvFkokvFkok@@@@ OR 

iw.kZ vkarfjd ijkorZu dh 'krasZ fyf[k;sA        

Write the conditions for Total internal reflection. 

¼2½¼2½¼2½¼2½ 

iz-7 ,d ijek.kq dk ijek.kq Øekad 11 rFkk ijek.kq Hkkj 23 gSA crkb;s& 

(i)   ijek.kq esa izksVkWuksa dh la[;k 

(ii)   ijek.kq esa U;wVªkWuksa dh la[;k 

The atomic number of an atom is 11 and atomic weight is 23 

State- 

(i)   No. of Protons in the atom. 

(ii)  No. of Neutrons in the atom. 

vFkokvFkokvFkokvFkok@@@@ OR 

jsfM;ks,fDVork fdls dgrs gSa\        

What is radioactivity? 

¼2½¼2½¼2½¼2½ 

iz-8 pkyu] laogu rFkk fofdj.k esa dksbZ rhu varj fyf[k;sA 

State any three differences between conduction, convection and 

radiation.    

vFkokvFkokvFkokvFkok@@@@ OR 

,d dkuksZ batu 427°C rFkk 27°C ds e/; dk;Z djrk gSA bldh n{krk Kkr 

dhft,A         

A carnot engine works between 427°C and 27°C. Calculate its 

efficiency. 

¼3¼3¼3¼3½½½½ 
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iz-9 ljy vkorZ xfr fdls dgrs gSa\ bldh dksbZ nks fo’ks"krk;as fyf[k;sA 

What is Simple harmonic motion? State its any two 

characteristics.    

vFkokvFkokvFkokvFkok@@@@ OR 

foLiUn fdls dgrs gSa\ foLiUn cuus ds fy, vko’;d 'krasZ fyf[k;sA        

What are Beats? State conditions required for the formation of 

beats. 

¼3¼3¼3¼3½½½½ 

iz-10 vory niZ.k ds fy, u,v o f esa lEcU/k LFkkfir dhft,A 

Establish relationship between u, v and f for a concave mirror.    

vFkokvFkokvFkokvFkok@@@@ OR 

la;qDr lw{en’khZ dk o.kZu fuEu 'kh"kZdksa esa dhft,& 

(i)  izfrfcac fuekZ.k dk ukekafdr js[kkfp=        

(ii)  lw{en’khZ uyh dh yackbZ 

tcfd vafre izfrfcac Li"V n`f"V dh U;wure nwjh ij cusA 

Describe Compound microscope under the following heads- 

(i)   Labelled ray diagram for the formation of image. 

(ii)   Length of microscope tube. 

When the final image is formed at the least distance of distinct 

vision. 

¼3¼3¼3¼3½½½½ 
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iz-11 osx vkSj pky esa dksbZ pkj vUrj fyf[k;sA 

Write any four differences between velocity and speed.    

vFkokvFkokvFkokvFkok@@@@ OR 

,d fi.M ij 40 U;wVu dk cy yxkdj mls cy dh fn’kk ls 60° dk dks.k 

cukrs gq, 20 ehVj foLFkkfir fd;k tkrk gSA fd;s x;s dk;Z dh x.kuk 

dhft,A                 

A force of 40 N is applied on a body to displace it by 20 m. in a 

direction at an angle 60° with the direction of force. Calculate the 

work done. 

¼4¼4¼4¼4½½½½ 

iz-12 U;wVu dk lkoZf=d xq#Rokd"kZ.k dk fu;e fyf[k;s rFkk bldh lgk;rk ls 

lkoZf=d xq#Rokd"kZ.k fu;rkad “G” dk eku rFkk foeh; lw= fyf[k;sA 

State Newton’s Universal Gravitational Law and use it to obtain 

the value of Universal gravitational constant “G” and its 

dimensional formula.    

vFkokvFkokvFkokvFkok@@@@OR 

fl) dhft, fd  cgrs gq, æo dh leLr ÅtkZvksa dk ;ksx lnSo fu;r 

jgrk gSA                 

Prove that the sum of all energies of a flowing liquid always 

remains constant. 

¼4¼4¼4¼4½½½½ 

iz-13 xkWl dk izes; fyf[k;s rFkk bls fl) dhft,A 

State Gauss’s theorem and prove it.    

vFkokvFkokvFkokvFkok@@@@ OR 

ikfFkZo pqaEcdRo ds vo;o V, H, I o Q esa lEcU/k LFkkfir dhft,A        

Establis Establish the relationship among the elements of terrestrial 

magnetism V, H, I and Q. 

¼4¼4¼4¼4½½½½ 
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iz-14 ukfHkdh; lay;u rFkk ukfHkdh; fo[k.Mu esa dksbZ pkj vUrj fyf[k;sA 

Write any four differences between nuclear fusion and nuclear 

fission.    

vFkokvFkokvFkokvFkok@@@@ OR 

,d  ,d jsfM;ks,fDVo ukfHkd U
92

238
 yxkrkj {k; gksrs gq, Pb 

82

206
 esa cnyrk 

gSA bl {k; esa fdrus α rFkk β d.k mRlftZr    gkasxs\    

A radioactive nucleus U
92

238
 continuously decays and changes 

into Pb 
82

206
. In this decay how many α and β particles are 

emitted? 

¼4¼4¼4¼4½½½½ 

iz-15 v)Z rjax fn"Vdkjh ds :i esa P-N laf/k Mk;ksM dk o.kZu fuEu 'kh"kZdksa esa 

dfj;s& 

(i)  fo|qr ifjiFk dk ukekafdr fp=        

(ii) fuos’kh ,oa fuxZr foHko dk le; ds lkFk ifjorZu vkjs[k 

Describe the use of P-N junction diode as a half wave rectifier 

under the following headings- 

(i)  Labelled circuit diagram 

(ii) Graphs showing the variation of input potential and output 

potential with time. 

vFkokvFkokvFkokvFkok@@@@ OR 

NOR xsV dh lkoZf=d izd`fr dh O;k[;k dhft, rFkk crkb;s fd blls 

OR, AND rFkk NOT xsV dSls izkIr fd;s tkrs gSa\        

Explain the universal character of NOR gate and explain how 

are OR, AND and NOT gates obtained from it?                                                   

¼4¼4¼4¼4½½½½ 
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iz-16 dkj.k crkb;s] D;ksa\ 

(1)  fØdsV dk f[kykM+h xsan yidrs le; viuk gkFk ihNs [khap ysrk gSA  

(2)  dacy dks NM+h ls ihVus ij mlls /kwy ds d.k vyx gks tkrs gaSA 

(3)  yach dwn ds f[kykM+h dqN nwjh ls n©M+dj dwnrs gaSA 

(4)  canwd ls xksyh pykus ls] pykus okys dks /kDdk yxrk gSA 

(5)  ldZl ds dykdkj tkyh ;k eksVs xn~ns ij dwnrs gSaA 

Give reason, why? 

(1)  While catching a ball, the cricketer withdraws his hands. 

(2) On beating a blanket with a stick, the dust particles get 

isolated from it. 

(3)  An athlete often runs before taking a long jump. 

 (4) On firing a bullet from a gun, the gunner experiences a 

backward push. 

(5)  In a circus, the artist often jumps on a net or thick cushion. 

vFkokvFkokvFkokvFkok@@@@OR 

tM+Ro vk?kw.kZ lEcU/kh yac v{k dk izes; fyf[k;s rFkk fl) dhft;sA        

State theorem of perpendicular axis of moment of inertia and 

prove it. 

¼5¼5¼5¼5½½½½ 
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iz-17 fdlh xksykdkj la/kkfj= dh /kkfjrk ds fy, lw= LFkkfir dhft,A bldh 

/kkfjrk dks dkSu&dkSu ls dkjd izHkkfor djrs gaS\ 

Establish formula for the capacity of a spherical condenser. 

What are the factors affecting its capacity? 

vFkokvFkokvFkokvFkok@@@@ OR 

fn"V /kkjk eksVj dk o.kZu fuEu 'kh"kZdksa esa dhft,& 

(i)   fl)kar                 

(ii)   ukekafdr js[kkfp= 

(iii)  izeq[k Hkkx                 

(iv)  dksbZ nks mi;ksx   

Describe D.C. motor under the following points- 

(i)  principle 

(ii)  labelled diagram 

(iii)  main parts 

(iv)  any two uses 

¼5¼5¼5¼5½½½½ 

 [k.M & [k.M & [k.M & [k.M & ^c^^c^^c^^c^@@@@    SECTION – ‘B’ 

oSdfYid ekWM~;wyoSdfYid ekWM~;wyoSdfYid ekWM~;wyoSdfYid ekWM~;wy@@@@    Optional-Module 

    

iz-18 
 

 

iz-19 
 
 
iz-20 

,ukykWx flXuy rFkk fMftVy flXuy esa dksbZ nks varj fyf[k;sA 

Write any two differences between analog signal and digital 

signal. 

izdkf’kd rarq dk fl)kar fyf[k;s rFkk blds nks mi;ksx fyf[k;sA 

State the principle of optical fibre and write its two uses. 

QSDl ls D;k rkRi;Z gS\ CykWd vkjs[k }kjk bldh dk;Zfof/k le>kb;sA 

What is Fax? Explain its working with a block diagram. 

¼2½¼2½¼2½¼2½    

    

¼3¼3¼3¼3½½½½    

    

¼5¼5¼5¼5½½½½ 
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iz-18 

 

iz-19 

vFkokvFkokvFkokvFkok@@@@ OR 

VªkalM~;wlj fdls dgrs gSa\ blds nks mnkgj.k fyf[k;sA    

What are transducers? Give any two examples of it. 

ohfM;ks fMLd ds nks ykHk ,oa ,d deh fyf[k;sA        

Write any two advantages and one demerit of video disc. 

    

¼¼¼¼2222½½½½    

    

¼3½¼3½¼3½¼3½ 

iz-20 
 

fMftVy dSejs dk o.kZu djrs gq, bldh izeq[k fo’ks"krk,¡ fyf[k;sA        

Describe digital camera and state its main characteristics. 

¼5¼5¼5¼5½½½½ 

 

------------------------------- 
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gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018 

313 
fo"k;%fo"k;%fo"k;%fo"k;% jlk;u ’kkL=jlk;u ’kkL=jlk;u ’kkL=jlk;u ’kkL=    

Subject: CHEMISTRY 

(Hindi and English Version) 

le; % 03 ?k.Vs                                                  iw.kk±d % 075 

Time: 03 Hours  Maximum Marks: 075 

    

funsZ’k %&funsZ’k %&funsZ’k %&funsZ’k %&        

    (i)    iz’ui= nks [k.Mksa ^v* rFkk ^c* esa foHkDr gSAiz’ui= nks [k.Mksa ^v* rFkk ^c* esa foHkDr gSAiz’ui= nks [k.Mksa ^v* rFkk ^c* esa foHkDr gSAiz’ui= nks [k.Mksa ^v* rFkk ^c* esa foHkDr gSA    

    (ii)    ^v* [k.M ds lHkh iz’u gy djuk^v* [k.M ds lHkh iz’u gy djuk^v* [k.M ds lHkh iz’u gy djuk^v* [k.M ds lHkh iz’u gy djuk    vfuok;Z gSA iz’u Øvfuok;Z gSA iz’u Øvfuok;Z gSA iz’u Øvfuok;Z gSA iz’u Ø----    5 ls iz5 ls iz5 ls iz5 ls iz----ØØØØ----    16 rd izR;sd iz’u esa 16 rd izR;sd iz’u esa 16 rd izR;sd iz’u esa 16 rd izR;sd iz’u esa 

vkarfjd fodYi fn;s x;s gSaAvkarfjd fodYi fn;s x;s gSaAvkarfjd fodYi fn;s x;s gSaAvkarfjd fodYi fn;s x;s gSaA    

    (iii)    ^c* [kaM ds dsoy ,d fodYi ds lHkh iz’u gy djsaA^c* [kaM ds dsoy ,d fodYi ds lHkh iz’u gy djsaA^c* [kaM ds dsoy ,d fodYi ds lHkh iz’u gy djsaA^c* [kaM ds dsoy ,d fodYi ds lHkh iz’u gy djsaA    

    (iv)    izR;sd iz’u gsrq fu/kkZfjr vad izR;sd iz’u gsrq fu/kkZfjr vad izR;sd iz’u gsrq fu/kkZfjr vad izR;sd iz’u gsrq fu/kkZfjr vad iz’u ds lEeq[k vafdr gSAiz’u ds lEeq[k vafdr gSAiz’u ds lEeq[k vafdr gSAiz’u ds lEeq[k vafdr gSA        

    (v)    vko’;drkuqlkj Li"V o ukekafdr fp= cukb;sAvko’;drkuqlkj Li"V o ukekafdr fp= cukb;sAvko’;drkuqlkj Li"V o ukekafdr fp= cukb;sAvko’;drkuqlkj Li"V o ukekafdr fp= cukb;sA    

Instruction:-  

(i) Question paper is divided in to two parts “A” and “B” 

(ii) All questions of part ‘A’ are compulsory to attempt. Internal options are given in each 

question from question No. 5 to 16. 

(iii) Attempt all questions of only one option of part B. 

(iv) Marks for each question are written in brackets. 

                     (v) Draw well labelled diagram if required.  
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[k.M & [k.M & [k.M & [k.M & ^̂̂̂vvvv^̂̂̂    

SECTION – ‘A’ 

iz-1 lgh fodYi pqfu,%& ¼5½¼5½¼5½¼5½ 

 (i) ijek.kq Hkkj dk vk/kqfud vk/kkj gS &  

 (a) 14
7N         

 (b) 16
8 O  

 (c) 12
6 C        

 (d) Ar  

 

 (ii) 'kq) ty dh eksyyrk gS &  

 (a) 18       

 (b) 50 

 (c) 1.33       

 (d) 55.6 

 

 (iii) gsl dk fu;e lacaf/kr gS &  

 (a) vfHkfØ;k dh xfr ls     

 (b) lkE; fLFkjkad ls  

 (c) vfHkfØ;k Å"ek esa ifjorZu ls  

 (d) xSl ds vk;ru ij nkc ds izHkko ls 

 

 (iv) jklk;fud vfHkfØ;k dh nj fuHkZj djrh gS &  

 (a) lfØ; æO;eku ij     

 (b) ijek.kq nzO;eku ij  

 (c) rqY;kadh Hkkj ij         

 (d) vkf.od nzO;eku ij 

 

 (v) fuEu esa ls fdldk vk;uu foHko loksZPp gS\  

 (a) Ca        

 (b) Ba 

 (c) Sr        

 (d) Mg 
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 Choose the correct alternative:-   

 (i) Modern basis of atomic number is -  

 (a) 14
7N        

 (b) 16
8 O  

 (c) 12
6 C        

 (d) Ar  

 

 (ii) Molality of pure water is -  

 (a) 18       

 (b) 50 

 (c) 1.33       

 (d) 55.6 

 

 (iii) Hess’s law is related to -  

 (a) Rate of reaction      

 (b) Equilibrium constant  

 (c) Change in heat of reaction   

 (d) Effect of pressure on the volume of gas 

 

 (iv) The Rate of a chemical reaction depends on -  

 (a) Active Mass        

 (b) Atomic wt . 

 (c) Equivalent Mass       

 (d) Molecular wt. 

 

 (v) Which of the following has the highest value of Ionization  

         Potential?  

 (a) Ca         

 (b) Ba 

 (c) Sr         

 (d) Mg 
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iz-2 fjDr LFkkuksa dh iwfrZ dfj;s%&           

(i) ngu Å"ek dk eku lnSo ---------------------------------------------------------------------jgrk gSA  

(ii) izØe tks rkijks/kh gksrk gS] -------------------------------------------------------------dgykrk gSA  

(iii) casthu dk ewykuqikrh lw=-----------------------------------------------------------------------------------gSA 

(iv) v.kqla[;rk lnSo -----------------------------------------------------------------------gksrh gSA  

(v) ,d gh ijek.kq ls cuk inkFkZ --------------------------------------------------------dgykrk gSA 

¼5½¼5½¼5½¼5½    

 

 Fill in the blanks:- 

(i) The value of heat of combustion is always ..............……….. 

(ii) The temperature resistant process is known as ....…..….…. 

(iii) The empirical formulae of Benzene is .....…………..……..… 

(iv) Molecularity is always .....…………………………….…..…… 

(v) The substance made up of same kind of atoms is known  

        as ……………… 

 

iz-3 lgh tksM+h cukb;s%&                                  

  ¼v½        ¼c½  

(i) vkghZfu;l lehdj.k     (i) ijek.kq Hkkj  

(ii) lkE;oLFkk ij eqDr ÅtkZ ifjorZu  (ii) 22-4 yhVj  

(iii) N.T.P ij xSl ds ,d eksy v.kqvksa  (iii) 'kwU;  

 dk vk;ru      

(iv) ekslys       (iv) ijek.kq Øekad  

(v) esUMyhQ      (v) RT/EaAeK −
=  

¼¼¼¼5½5½5½5½ 

 Match the columns- 

  (A)       (B) 

(i) Arrhenius equation    (i) Atomic mass 

(ii) The change in free energy  (ii) 22.4 lit. 

        at equilibrium 

(iii) The volume of 1 mole of gas   (iii) Zero 

 at N.T.P 

(iv) Moseley      (iv) Atomic Number 

(v) Mendeleev     (v) RT/EaAeK −
=  
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iz-4 ,d 'kCn@,d okD; esa mÙkj fyf[k;s%& 

(i) ,oksxkæks la[;k dk eku D;k gS\ 

(ii) fod.kZ laca/k dk dksbZ ,d mnkgj.k nsaA 

(iii) U;wVªkWu dh [kkst fdlus dh Fkh\ 

(iv) Mh- czkWXyh dk lehdj.k fyf[k;sA 

(v) vkorZ lkj.kh esa lcls vf/kd _.k fo|qrh rRo dkSu&lk gS\ 

¼¼¼¼5½5½5½5½ 

 Write answers in one word / one sentence- 

(i) Write the value of Avogadro’s Number. 

(ii) Give an example of diagonal relationship in elements. 

(iii) Who discovered Neutrons? 

(iv) Write De–broglie’s equation. 

(v) Which is the most electro negative element in the Periodic  

        table? 

 

iz-5 lgla;ksth ;kSfxdksa ds dksbZ nks vfHky{k.k fyf[k;sA 

Write any two characteristics of covalent compounds. 

vFkok@vFkok@vFkok@vFkok@OR 

vkca/k dks.k fdls dgrs gaS\ H2O esa H-O-H ca/k dks.k dk eku fyf[k;sA 

What is bond angle? Write the value of bond angle of H-O-H in  

H2O. 

¼¼¼¼2222½½½½ 

iz-6 ltkrh; Js.kh fdls dgrs gSa\  

What is Homologous series? 

vFkok@vFkok@vFkok@vFkok@OR 

Jà[kyu fdls dgrs gSa\   

What is Catenation? 

¼2½¼2½¼2½¼2½ 
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iz-7 laØe.k rRo fdls dgrs gSa\ buds dksbZ nks xq.k fyf[k;sA 

What are transition elements? Write its characteristics.(any two) 

vFkok@vFkok@vFkok@vFkok@OR 

laØe.k /kkrq jaxhu ;kSfxd D;ksa cukrs gSa\ 

Why transition elements form coloured compounds? 

¼¼¼¼3333½½½½ 

iz-8 izFke laØe.k Js.kh ds rRoksa ds uke rFkk bysDVªkWfud foU;kl fyf[k;sA 

Write down the names and electronic configurations of the first  

Transition series elements. 

vFkok@vFkok@vFkok@vFkok@OR 

laØe.k /kkrq,¡ pqEcdh; xq.k iznf’kZr djrh gSa] D;ksa\ mnkgj.k lfgr Li"V  

djsaA   

Why do transition elements shows magnetic properties? Explain  

with example. 

¼¼¼¼3333½½½½ 

iz-9 gsl ds fLFkj Å"ek ladyu dk fu;e fyf[k;sA 

Write the Hess’s law of constant heat summation. 

vFkok@vFkok@vFkok@vFkok@OR 

Å"ek ifjorZu H∆  ,oa ÅtkZ ifjorZu E∆  esa laca/k LFkkfir dfj;sA 

Derive relationship between H∆  enthalpy change and change in  

internal energy E∆ . 

¼¼¼¼4444½½½½ 

iz-10 lkE;oLFkk ls D;k le>rs gks\ lkE;oLFkk dks izHkkfor djus okys dkjdksa dks  

le>kb;sA   

What do you mean by chemical equilibrium? Explain the factors  

affecting chemical equilibrium. 

vFkok@vFkok@vFkok@vFkok@OR 

QSjkMs ds fo|qr vi?kVu dh O;k[;k dfj;sA 

Explain the Faraday’s law of electrolysis. 

¼¼¼¼4444½½½½ 
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iz-11 laidZ fof/k }kjk lY¶;wfjd vEy ds fuekZ.k esa gksus okyh vfHkfØ;kvksa dks Øe  

esa fyf[k;sA ukekafdr fp= cukb;sA 

Write the chemical equations for manufacturing of sulphuric acid  

by contact process and draw its labelled diagram.  

vFkok@vFkok@vFkok@vFkok@OR  

fuEu dks le>kb;s& 

(i) fuLrkiu   

(ii) HktZu 

(iii) izxyu 

(iv) /kkrqey   

Explain the following- 

(i) Calcination 

(ii) Roasting 

(iii) Smelting 

(iv) Slag 

¼¼¼¼4444½½½½ 

iz-12 iz;ksx 'kkyk esa DyksjksQkWeZ dSls cuk;k tkrk gS\ vfHkfØ;k vuqØe fyf[k;sA  

ukekafdr fp= cukb;sA                                                                 

How will you prepare chloroform in the laboratory? Write the 

chemical equations? Draw labelled diagram also. 

vFkok@vFkok@vFkok@vFkok@OR 

fuEu dks le>kb;s& 

(i) vk;MksQkWeZ ijh{k.k 

(ii) jtr niZ.k ijh{k.k 

Explain the following - 

(i) Iodoform Test  

(ii) Silver Mirror Test 

¼¼¼¼4444½½½½ 
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iz-13 fuEu dks le>kb;s&    

(i) oqVZ~t vfHkfØ;k 

(ii) ekjdksuhdkWQ dk fu;e 

Explain the following- 

(i) Wurtz reaction 

(ii) Markovnikov’s rule 

 vFkok@vFkok@vFkok@vFkok@OR 

fuEufyf[kr ifjorZu dSls djksxs& 

(i) csathu ls ukbVªkscsathu 

(ii) ,Fkhy ,YdksgkWy ls ,Fkhu 

How will you obtain- 

(i) Nitro Benzene form Benzene 

(ii) Ethene from ethyl alcohol 

¼4¼4¼4¼4½½½½ 

iz-14 vkn’kZ xSl lehdj.k D;k gS\ bldk O;atd Kkr dfj;sA 

What is ideal gas equation? Derive its expression. 

vFkok@vFkok@vFkok@vFkok@OR 

(i) fuEufyf[kr dks ifjHkkf"kr dfj;s& 

 (a) eksyjrk 

 (b) eksyyrk 

 (c) ukeZyrk 

 Define the following – 

 (a) Molarity 

 (b) Molality 

 (c) Normality 

(ii) ;fn 100 ml. NaOH foy;u esa 0.4gm NaOH ?kqyk gS] rks foy;u 

dh ukeZyrk Kkr dfj;sA 

If 0.4gm NaOH is dissolved in 100 ml. of NaOH solution, 

then find the normality of the solution.   

¼¼¼¼5555½½½½ 
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iz-15 fuEu dks le>kb;sA    

(i) gkbtsucxZ dh vfuf’prrk dk fu;e 

(ii) gq.M dk fu;e 

(iii) vkQckÅ dk fu;e 

(iv) ikÅyh ds viotZu dk fu;e 

(v) es.MyhQ dk vkorZ fu;e 

Explain the following- 

(i) Hiesenberg’s uncertainty principle 

(ii) Hund’s rule 

(iii) Aufbau’s rule 

(iv) Pauli’s exclusion principle 

(v) Mendeleev’s periodic law. 

 vFkok@vFkok@vFkok@vFkok@OR 

fuEu dks le>kb;s& 

(i) bysDVªkWu ca/kqrk 

(ii) vk;uu ÅtkZ 

(iii) fo|qr _.kkRedrk 

(iv) vk;fud f=T;k 

(v) fod.kZ laca/k 

Explain the following- 

(i) Electron affinity 

(ii) Ionisation energy 

(iii) Electronegativity  

(iv) Ionic radius 

(v) Diagonal relationship 

¼5¼5¼5¼5½½½½ 
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iz-16 fuEu vfHkfØ;kvksa dks le>kb;s& 

(i) jkbZesj&Vhesu vfHkfØ;k 

(ii) ,LVjhdj.k 

(iii) dkfcZy ,ehu vfHkfØ;k 

(iv) gkWQeSu czksekekbM vfHkfØ;k 

(v) Mk;t+̈ Vhdj.k 

Explain the following reactions- 

(i) Riemer-Tiemann reaction 

(ii) Esterification 

(iii) Carbyl amine reaction 

(iv) Hoffmann bromamide reaction 

(v) Diazotization 

 vFkok@vFkok@vFkok@vFkok@OR 

,YdksgkWy ,oa Qhuky esa dksbZ ik¡p varj fyf[k;sA 

Write any five differences between alcohols and phenols. 

¼¼¼¼5555½½½½ 

 [k.M & [k.M & [k.M & [k.M & ^̂̂̂cccc^̂̂̂    

SECTION-B 

¼d½ d`f"k foKku¼d½ d`f"k foKku¼d½ d`f"k foKku¼d½ d`f"k foKku    

(A) Agricultural Science                   

    

iz-17 e`nk iks"kd D;k gksrs gSa\  

What are soil nutrients? 

 vFkok@vFkok@vFkok@vFkok@OR 

tSo moZjd fdls dgrs gSa\ 

What are Bio-fertilizers? 

¼2½¼2½¼2½¼2½ 

iz-18 QkeZ ;kMZ [kkn D;k gS\    

What are farm yard manures? 

 vFkok@vFkok@vFkok@vFkok@OR 

la;qDr moZjd D;k gS\ 

What are composite fertilizers? 

¼2½¼2½¼2½¼2½ 
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iz-19 dEiksLV ,oa d`fe dEiksLV esa dksbZ rhu varj fy[kksA 

Write any three differences between compost and  

vermi compost. 

 vFkok@vFkok@vFkok@vFkok@OR 

e`nk xBu dk o.kZu dfj;sA 

Explain the constituents of soil. 

¼¼¼¼3333½½½½ 

iz-20 o`gr iks"kd ,oa lw{e iks"kd esa varj fyf[k;sA 

Write the difference between Macro-nutrients and Micro-

nutrients. 

 vFkok@vFkok@vFkok@vFkok@OR 

ukbVªkstu] QkWLQksjl ,oa dSfY’k;e U;wurk ds y{k.k D;k gaS\  

What are the symptoms of Nitrogen, Phosphorus and Calcium  

deficiency? 

¼¼¼¼3333½½½½ 

 ¼[k¼[k¼[k¼[k½ ½ ½ ½ tSo jlk;utSo jlk;utSo jlk;utSo jlk;u    

(B) Bio Chemistry                   

    

iz-17 isIVkbM ca/k fdls dgrs gSa\   

What is peptide bond? 

 vFkok@vFkok@vFkok@vFkok@OR 

lk/kkj.k fyfiM ds nks mnkgj.k fyf[k;sA 

Write any two examples of Simple Lipids. 

¼¼¼¼2222½½½½ 

iz-18 ,Ut+kbEl D;k gSa\     

What are enzymes? 

 vFkok@vFkok@vFkok@vFkok@OR 

nks ,ehuks vEyksa ds uke fyf[k;sA 

Write the names of any two amino acids. 

¼2½¼2½¼2½¼2½ 

iz-19 D.N.A ,oa R.N.A esa varj Li"V dfj;sA ¼dksbZ rhu½ 

Write any three differences between D.N.A and R.N.A. 

 vFkok@vFkok@vFkok@vFkok@OR 

dkcksZgkbMsªV dk tSfod egRo crkb;sA 

Explain the Biological importance of carbohydrates. 

¼¼¼¼3333½½½½ 
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iz-20 izksVhu ds dk;Z fyf[k;sA   
Write the functions of proteins. 

 vFkok@vFkok@vFkok@vFkok@OR 

,UtkbEl ds dk;Z fy[kksaA 
Write the functions of enzymes. 

¼¼¼¼3333½½½½ 

 ¼x¼x¼x¼x½ ½ ½ ½ i;kZoj.k ,oa mldk iznw"k.k i;kZoj.k ,oa mldk iznw"k.k i;kZoj.k ,oa mldk iznw"k.k i;kZoj.k ,oa mldk iznw"k.k     
 (C) Environment and its Pollution                   

    

iz-17 Hkkjh /kkrq D;k gS\ nks Hkkjh /kkrqvksa ds uke crkb;sA 
What are heavy metals? Write the names of two heavy metals. 

 vFkok@vFkok@vFkok@vFkok@OR 

ukfHkdh; fj,DVj D;k gS\ 
What are nuclear reactors? 

¼2½¼2½¼2½¼2½ 

iz-18 C.F.C ls vki D;k le>rs gks\ 
What do you understand by C.F.C? 

 vFkok@vFkok@vFkok@vFkok@OR 

izdk’k&jlk;fud /kwe D;k gS\ 
What is photochemical smog? 

¼2½¼2½¼2½¼2½    

iz-19 ukfHkdh; fofdj.k ls cpus ds rhu mik; fyf[k;sA  
Write any three precautions against nuclear radiations. 

 vFkok@vFkok@vFkok@vFkok@OR 

vkst+ksu irZ D;k gS\ vkst+ksu dh deh ds izHkko D;k gaS\ 
What is ozone layer? What is the effect of its deficiency? 

¼3½¼3½¼3½¼3½    

iz-20 dksbZ rhu ty iznw"kd ds uke crkb;s ,oa mlds izHkko ä dks Li"V dfj;sA 
Write the names of any three Water Pollutants and explain its 

effects. 
 vFkok@vFkok@vFkok@vFkok@OR 

ysM ds fo"kkDr izHkko ä dks le>kb;sA 
Explain the harmful effects of lead. 

¼3½¼3½¼3½¼3½    

 

------------------------------- 
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dqy iz’uksa dh la[;k % 20 dqy i`"Bksa dh la[;k % 08 

Total No. of Questions: 20 Total No. of Pages: 08 

gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018 

314 
fo"k; % fo"k; % fo"k; % fo"k; % tho tho tho tho foKkufoKkufoKkufoKku    ¼lS)kafrd½¼lS)kafrd½¼lS)kafrd½¼lS)kafrd½    

Subject: BIOLOGY (Theory) 

(Hindi & English Versions) 

le; % 03 ?k.Vs  iw.kk±d % 075 

Time: 03 Hours  Maximum Marks: 075 

    
funsZ’k%& funsZ’k%& funsZ’k%& funsZ’k%&     

    (i)    lHkh iz’u vfuok;Z gaSAlHkh iz’u vfuok;Z gaSAlHkh iz’u vfuok;Z gaSAlHkh iz’u vfuok;Z gaSA    

    (ii)    iz’u i= esa nks [k.M fn;s gSiz’u i= esa nks [k.M fn;s gSiz’u i= esa nks [k.M fn;s gSiz’u i= esa nks [k.M fn;s gSaa aa    [k.M ^v^ vkSj [k.M ^c^A[k.M ^v^ vkSj [k.M ^c^A[k.M ^v^ vkSj [k.M ^c^A[k.M ^v^ vkSj [k.M ^c^A    

 (iii)    [k.M ^v^ ds lHkh iz’u vfuok;Z gSaA[k.M ^v^ ds lHkh iz’u vfuok;Z gSaA[k.M ^v^ ds lHkh iz’u vfuok;Z gSaA[k.M ^v^ ds lHkh iz’u vfuok;Z gSaA    

 (iv)    [k.M [k.M [k.M [k.M ^c^ ds fodYiksa esa ls fdlh^c^ ds fodYiksa esa ls fdlh^c^ ds fodYiksa esa ls fdlh^c^ ds fodYiksa esa ls fdlh    ,d fodYi ds gh iz’u gy djuk gS,d fodYi ds gh iz’u gy djuk gS,d fodYi ds gh iz’u gy djuk gS,d fodYi ds gh iz’u gy djuk gSAAAA    

 (v)    tgk¡ vko’;d gks ogk¡tgk¡ vko’;d gks ogk¡tgk¡ vko’;d gks ogk¡tgk¡ vko’;d gks ogk¡    Li"V ,oa ukekafdr fp= vo’; cukLi"V ,oa ukekafdr fp= vo’; cukLi"V ,oa ukekafdr fp= vo’; cukLi"V ,oa ukekafdr fp= vo’; cuk;s;s;s;saa aaAAAA    

 (vi)    çççç----dddd----    15]16]17 ,oa 1815]16]17 ,oa 1815]16]17 ,oa 1815]16]17 ,oa 18    iz’uksa iz’uksa iz’uksa iz’uksa esaesaesaesa    fodYi fodYi fodYi fodYi fn;s x;s gSafn;s x;s gSafn;s x;s gSafn;s x;s gSaAAAA    

Instructions:-  

 (i) All Questions are compulsory. 

 (ii) There are two sections of paper, section A and section B. 

 (iii) All questions of section A are compulsory. 

 (iv) Options are given in section B. Attempt any one option I or II. 

 (v) Draw neat & labelled diagrams wherever necessary. 

           (vi) Internal options are given in Q. Nos. 15, 16, 17 and 18. 
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[k.M & [k.M & [k.M & [k.M & ^̂̂̂vvvv^̂̂̂    
SECTION – ‘A’ 

iz-1 fjDr LFkkuksa dh iwfrZ djks&  

(i) thou dk HkkSfrd vk/kkj --------------------------------------------------------------------------------- gSA 

(ii) izkd`frd oj.k dk er ------------------------------------------------------------ us izLrqr fd;kA  

(iii) vuqokaf’kd xq.kksa esa ifjorZu ------------------------------------------------------------------------------gSA 

(iv) dksf’kdk fHkfÙk dk izeq[k vo;o ----------------------------------------------------------------  gSA 

(v) ikS/kksa esa Hkkstu ifjogu ----------------------------------------------------------------}kjk gksrk gSA  

¼1¼1¼1¼1××××5555====5½5½5½5½    

 Fill in the blanks-  

(i) Physical basis of life is ………………………………………… 

(ii) The theory of natural selection is given by ………………….. 

(iii) The change of genetic characters is ………………………….  

(iv) Main component of cell wall is ………………………………... 

(v) The food transportation in plants is done by ………………... 

    

iz-2 lgh fodYi pquks & ¼1¼1¼1¼1××××5555====5½5½5½5½ 

 (i) lsfeuhQsjl ufydk;as ik;h tkrh gSa&  

 (a) o`"k.k esa               (b) v.Mk’k; esa  

 (c) o`Dd esa                       (d) QsQM+s esa  

 

 (ii) fuEu esa ls lR; Qy gS& 

 (a) uk’kikrh                     (b) ukfj;y 

 (c) lsc       (d) dktw 

 

 (iii) ladV dkyhu gkeksZu gS&  

 (a) ,YMksLVsjkWu      (b) Fkk;jkWfDlu  

 (c) ,Mªhusfyu       (d) bUlqfyu  
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 (iv) fcUnqlzko gksrk gS&  

 (a) jU/kzksa }kjk       (b) okrjU/kzksa }kjk  

 (c) tyjU/kzksa }kjk       (d) ckáRopk }kjk 

 

 (v) Qsyksfi;u V;wc fuEu esa ls fdldk Hkkx gS&  

 (a) xHkkZ’k;       (b) ew=okfguh  

 (c) v.Mkokfguh      (d) 'kqØokfguh 

 

 Choose the correct option-   

 (i) Seminiferous tubules are found in- 

 (a) Testis       (b) Ovary  

 (c) Kidney       (d) Lungs  

 

 (ii) Which of these is a true fruit? 

 (a) Pear       (b) Coconut  

 (c) Apple       (d) Cashew nut  

 

 (iii) It is an emergency hormone- 

 (a) Aldosterone      (b) Thyroxine  

 (c) Adrenaline     (d) Insulin  

 

 (iv) Guttation is- 

 (a) By Stomata      (b) By Lenticles  

 (c) By Hydathodes     (d) By Epidermis  

 

 (v) Fallopian tube is a part of - 

 (a) Uterus       (b) Ureters 

 (c) Oviduct        (d) Vas-deferens  
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iz-3 ,d 'kCn ;k okD; esa mÙkj nks &  

(i) /k¡ls gq;s jU/kz fdu ikS/kksa esa ik;s tkrs gaS\ 

(ii) Hkksiky xSl nq?kZVuk fdl jlk;u ds dkj.k gqbZ Fkh\ 

(iii) ekuo tula[;k dk lkaf[;dh; v/;;u D;k dgykrk gS\  

(iv) oslsDVkWeh D;k gS\ 

(v) rEckdw esa ik;s tkus okys gkfudkjd jlk;u dk uke fy[kksA  

¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Give one word or sentence answer- 

(i) Sunken stomata are found in which plants?  

(ii) Bhopal Gas Tragedy took place because of which  

 chemical?  

(iii) Statistical study of human population is called?  

(iv) What is vasectomy? 

(v) Write the name of the harmful chemical found in tobacco. 

 

iz-4 lgh tksfM+;k¡ cukb;s&         

  (v)                (c)      

(i) tkbye     (a) ekbVkssdkWfUMª;k 

(ii) vejcsy     (b) ih;w"k 

(iii) izdk’k vfHkfØ;k    (c) ty laogu 

(iv) ekLVj xzfUFk    (d) iw.kZ LrEHk ijthoh 

(v) ØsCl pØ     (e) xzSuk 

¼1¼1¼1¼1××××5555====5½5½5½5½ 
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 Match the following- 

  (A)              (B) 

(i) Xylem      (a) Mitochondria  

(ii) Cuscuta             (b) Pituitary  

(iii) Light reaction     (c) Water conduction  

(iv) Master gland     (d) Total stem parasite  

(v) Kreb’s cycle     (e) Grana  

 

iz-5 lR; @ vlR; fy[kks& 

(i) dSalj dk lEca/k cq<+kis ls gksrk gSA  

(ii) lkbys.V thUl viuh vfHkO;fDr dks iznf’kZr ugha djrsA 

(iii) igyk tUrq Dyksu HksM+ cuk;k x;k FkkA 

(iv) ngh fd.ou izfØ;k mRikn gSA 

(v) ,.VhckWMht fyfiM gksrh gSaA 

¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Write True or False- 

(i) Cancer is related to ageing. 

(ii) Silent genes do not express themselves.  

(iii) The first animal clone was sheep.  

(iv) Yogurt is product of fermentation.  

(v) Antibodies are lipids.  

 

iz-6 xsgw¡ vkSj eVj dk okuLifrd uke fy[kksA 

Write the botanical name of wheat and pea.     

¼2½¼2½¼2½¼2½ 

iz-7 letkr vaxksa dks mnkgj.k lfgr le>kb;sA 

Explain homologous organs with example.     

¼2½¼2½¼2½¼2½ 
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iz-8 mHk;pj oxZ ds nks y{k.k fy[kksA 

Write two characteristics of class Amphibia.     

¼2½¼2½¼2½¼2½ 

iz-9 ijkx.k D;k gS\ ;g fdrus izdkj dk gksrk gS\ 

What is pollination? What are its types?    

¼2½¼2½¼2½¼2½ 

iz-10 eksuksDyksuy ,.VhckWMht+ D;k gSa\ 

What are monoclonal antibodies?    

¼2½¼2½¼2½¼2½ 

iz-11 rus dh rhu fo’ks"krk,¡ fy[kksA 

Write three characteristics of stem.      

¼¼¼¼3333½½½½ 

iz-12 ;d`r ds dk;Z fy[kksA      

Write the functions of liver.    

¼¼¼¼3333½½½½ 

iz-13 tUetkr ,oa vftZr ¼mikftZr½ izfrjks/kdrk D;k gS\ 

What is Innate (inborn) and Acquired immunity?     

¼¼¼¼3333½½½½ 

iz-14 ,dladj ØkWl ,oa f}ladj ØkWl dks ifjÒkf"kr dhft,A 

Define monohybrid and Dihybrid cross.     

¼¼¼¼3333½½½½ 

iz-15 ikni txr dh izeq[k fo’ks"krk,¡ fy[kksA 

Write the main characteristics of Kingdom Plantae.     

vFkokvFkokvFkokvFkok@OR 

dksf’kdk fl)kUr dk izfriknu fdlus fd;k Fkk\ dksf’kdk fl)kar ds rhu 

izeq[k fcUnq fy[kksA                

Who propounded the Cell theory? Write three main points of Cell 

theory?   

¼¼¼¼4444½½½½ 
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iz-16 ,d izk:fid iq"i dh yEc dkV dk ukekafdr fp= cukb;s ,oa fofHkUu Hkkxksa 

ds uke fyf[k;sA      

Draw a labelled diagram of typical flower and write the names of 

its parts.      

vFkokvFkokvFkokvFkok@OR 

jDr ,oa yfldk esa varj fy[kksA        

Write the difference between blood and lymph.  

¼¼¼¼4444½½½½ 

iz-17 es#jTtq dh vuqizLFk dkV dk ukekafdr fp= cukb;s ,oa mlds dk;ksZa dk 

o.kZu dfj,A      

Draw a labelled diagram of T.S of Spinal cord and write its 

functions.  

vFkokvFkokvFkokvFkok@OR 

'kqØk.kqtuu ,oa v.Mk.kqtuu esa varj fy[kksA        

Write the difference between spermatogenesis and Oogenesis.  

¼¼¼¼5555½½½½ 

iz-18 ty iznw"k.k ds pkj dkj.kksa dks fyf[k;s ,oa jksdFkke ds mik;ksa dks le>kb;sA 

Write the four causes of water pollution and explain the 

measures for controlling water pollution.     

vFkokvFkokvFkokvFkok@OR 

tula[;k o`f) D;k gS\ blds dkj.k mRiUu gksus okyh leL;k;as fy[kksA    

What is population growth? Write the problems caused by 

population growth.   

¼¼¼¼5555½½½½ 
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 [k.M & [k.M & [k.M & [k.M & ^c^^c^^c^^c^    

SECTION – ‘B’ 

fodYi fodYi fodYi fodYi I        

Option I 

    

iz-19 lsD’ku dkVuk D;k gS\ ;g fdrus izdkj ls fd;k tkrk gS\ lsD’ku dkVus 

dh fof/k fy[kksA       

What is section cutting? In how many ways section cutting can 

be done and write the methods of section cutting? 

¼¼¼¼5555½½½½ 

iz-20 foPNsnu lw{en’khZ D;k gS\ bldk ukekafdr fp= cukvksA 

What is Dissecting Microscope? Draw its labelled diagram. 

¼¼¼¼5555½½½½ 

 fodYi fodYi fodYi fodYi II        

Option II 

    

iz-19 ou laj{k.k D;ksa vko’;d gS\ foLrkj ls le>kb;sA 

Why forest conservation is essential? Explain in detail.  

¼¼¼¼5555½½½½ 

iz-20 Ekksrh D;k gS\ blds fuekZ.k dh fof/k fy[kksA 

What is pearl? Explain the process of pearl formation.  

¼¼¼¼5555½½½½ 

 

 

------------------------------- 
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dqy iz’uksa dh la[;k % 24                                                     dqy i`"Bksa dh la[;k % 08 
Total No. of Questions: 24                                                       Total No. of Pages : 08 

gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018 

315 
fo"k; %fo"k; %fo"k; %fo"k; % bfrgklbfrgklbfrgklbfrgkl    

Subject: HISTORY 

(Hindi and English Version) 
le; % 03 ?k.Vs        iw.kk±d % 100 
Time: 03 Hours  Maximum Marks: 100 

ffffunsZ’k%&unsZ’k%&unsZ’k%&unsZ’k%&                
 (i) lHkh iz’u djuk vfuok;Z gSA lHkh iz’u djuk vfuok;Z gSA lHkh iz’u djuk vfuok;Z gSA lHkh iz’u djuk vfuok;Z gSA     
    (ii) iz’u Øekad 1 ls 5iz’u Øekad 1 ls 5iz’u Øekad 1 ls 5iz’u Øekad 1 ls 5    rd oLrqfu"B iz’u gSaA izR;sd iz’u 5 vad dk gSArd oLrqfu"B iz’u gSaA izR;sd iz’u 5 vad dk gSArd oLrqfu"B iz’u gSaA izR;sd iz’u 5 vad dk gSArd oLrqfu"B iz’u gSaA izR;sd iz’u 5 vad dk gSA        

 (iii) iz’u Øekad 6 ls 10 rd izR;sd iz’u ds fy, 2 vad giz’u Øekad 6 ls 10 rd izR;sd iz’u ds fy, 2 vad giz’u Øekad 6 ls 10 rd izR;sd iz’u ds fy, 2 vad giz’u Øekad 6 ls 10 rd izR;sd iz’u ds fy, 2 vad gaSaS aSaS] ,oa izR;sd dk mÙkj yxHkx ] ,oa izR;sd dk mÙkj yxHkx ] ,oa izR;sd dk mÙkj yxHkx ] ,oa izR;sd dk mÙkj yxHkx 
20 20 20 20 'kCnksa esa fyf[k,'kCnksa esa fyf[k,'kCnksa esa fyf[k,'kCnksa esa fyf[k,AAAA    

  (iv) iz’u Øekad 11 ls 15 rd izR;sd iz’u ds fy, 3 vad gSiz’u Øekad 11 ls 15 rd izR;sd iz’u ds fy, 3 vad gSiz’u Øekad 11 ls 15 rd izR;sd iz’u ds fy, 3 vad gSiz’u Øekad 11 ls 15 rd izR;sd iz’u ds fy, 3 vad gSaa aa aAaAaAaA    ,oa izR;sd iz'u dk mÙk,oa izR;sd iz'u dk mÙk,oa izR;sd iz'u dk mÙk,oa izR;sd iz'u dk mÙkj j j j     
            yxHkx 30 yxHkx 30 yxHkx 30 yxHkx 30 'kCnksa esa fy[ks'kCnksa esa fy[ks'kCnksa esa fy[ks'kCnksa esa fy[ksaa aaAAAA    

 (v) iz’u Øekad 16 ls 20 rd izR;sd iz’u ds fy, 4 vad gSiz’u Øekad 16 ls 20 rd izR;sd iz’u ds fy, 4 vad gSiz’u Øekad 16 ls 20 rd izR;sd iz’u ds fy, 4 vad gSiz’u Øekad 16 ls 20 rd izR;sd iz’u ds fy, 4 vad gSaa aa] ,oa izR;sd iz'u dk mÙkj ] ,oa izR;sd iz'u dk mÙkj ] ,oa izR;sd iz'u dk mÙkj ] ,oa izR;sd iz'u dk mÙkj 
40 'kCnksa esa fy[kuk gSA40 'kCnksa esa fy[kuk gSA40 'kCnksa esa fy[kuk gSA40 'kCnksa esa fy[kuk gSA    

    (vi) iz’u Øekad 21 vkSjiz’u Øekad 21 vkSjiz’u Øekad 21 vkSjiz’u Øekad 21 vkSj    22 22 22 22 izR;sd iz’u ds fy, 5 vad gSizR;sd iz’u ds fy, 5 vad gSizR;sd iz’u ds fy, 5 vad gSizR;sd iz’u ds fy, 5 vad gSaa aa] ,oa izR;sd iz'u dk mÙkj 75 ] ,oa izR;sd iz'u dk mÙkj 75 ] ,oa izR;sd iz'u dk mÙkj 75 ] ,oa izR;sd iz'u dk mÙkj 75 
'kCnksa esa fyf[k,'kCnksa esa fyf[k,'kCnksa esa fyf[k,'kCnksa esa fyf[k,AAAA        

 (vii) iz’u Øekad 23 vkSj 24 iz’u Øekad 23 vkSj 24 iz’u Øekad 23 vkSj 24 iz’u Øekad 23 vkSj 24 izizizizR;sd iz’u ds fy, 10 vad gSR;sd iz’u ds fy, 10 vad gSR;sd iz’u ds fy, 10 vad gSR;sd iz’u ds fy, 10 vad gSaa aa] izR;sd iz'u dk mÙkj 150 ] izR;sd iz'u dk mÙkj 150 ] izR;sd iz'u dk mÙkj 150 ] izR;sd iz'u dk mÙkj 150 
'kCnksa esa fyf[k,'kCnksa esa fyf[k,'kCnksa esa fyf[k,'kCnksa esa fyf[k,AAAA    

Instruction:- 
 (i) All questions are compulsory. 

 (ii) Question Nos.1 to 5 are objective types. Each question is allotted 5     

                             marks. 

 (iii) Question Nos. 6 to 10 carry 2 marks each and answer should be written 

in about 20 words each. 

 (iv) Question Nos. 11 to 15 carry 3 marks each and answer should be written 

in about 30 words each. 

 (v)  Question Nos. 16 to 20 carry 4 marks each and answer should be written 

in about 40 words each. 

 (vi)  Question Nos. 21 and 22 carry 5 marks each and answer should be 

written in about 75 words each.  

   (vii) Question Nos. 23 and 24 carry 10 marks each and answer should be 

       written in about 150 words each.     
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iz-1 lgh fodYi dk p;u dhft, & ¼1¼1¼1¼1××××5555====5½5½5½5½ 
 (i) iqjk.kkas dh la[;k fdruh gS\ 

 (a) X;kjg                 (b)  iUæg  
 (c) vB~Bkjg                   (d)  bDdhl 

 

 (ii) bf.Mdk uked xzUFk ds ys[kd Fks &  

 (a) Ogsu lkax        (b)   esxLFkuht+  

 (c) rkjkukFk        (d)   Q+káku 

 

 (iii) “kjr ij ckcj ds vkØe.k ds le; fnYyh dk 'kkld dkSu Fkk\  
 (a) cgyksy yksnh       (b)   bczkfge yksnh  

 (c) fldUnj yksnh       (d)   nkSyr [kk¡ 

 

 (iv) ^xzS.M Vªad^ jksM dk fuekZ.k fdlus djok;k Fkk\  

 (a) tquSn         (b)   glu [kk¡  
 (c) 'ksj’kkg        (d)   vdcj 

 

 (v) “kjr esa fczfV’k uhfr dk D;k mís’; Fkk &  

 (a) y?kq m|ksxksa dk fouk’k      (b)   y?kq m|ksx dk fodkl 

 (c) gLrf’kYi dk fodkl      (d)   bueas ls dksbZ ugha 

 

 Select correct option –    

 (i) How many number of Purans are there? 

  (a) Eleven         (b) Fifteen 

 (c) Eighteen         (d) Twenty one  

 

 (ii) The author of book Indica was –  

 (a) Huen Tsang        (b)  Megasthenes 

 (c) Taranatha        (d)  Fa-Hien 

 

 (iii) Who was the ruler of Delhi at the time of invasion of Babur  

        on India – 

 (a) Bahlol Lodi        (b)  Ibrahim Lodi 

 (c) Sikandar Lodi        (d)  Daulat Khan 

 

 (iv) Who built the ‘Grand Trunk’ road? 

 (a) Junaid         (b)  Hasan Khan 

 (c) Sher Shah        (d)  Akbar 

 

 (v) What was the objective of British Policy in India? 

 (a) Destroying of small Industries. 

        (b) Development of small Industries. 

 (c) Handicraft development. 

        (d) None of these. 
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iz-2 fjDr LFkkuksa dh iwfrZ dhft, &  

(i) xqIr dky esa phuh ;k=h ---------------------------------- us Hkkjr dh ;k=k dh FkhA 

(ii) vdcjukek xzUFk dh jpuk ---------------------------------- us dh FkhA 

(iii) gYnh ?kkVh dk ;q) vdcj o -------------------------- dh lsuk ds e/; gqvk FkkA 

(iv) xksn & fu"ks/k uhfr ds izfriknd ---------------------------------- FksA 

(v) cqUnsy[k.M esa ØkfUrdkfj;ksa dk usr`Ro jkuh --------------------- dj jgh FkhA 

¼1¼1¼1¼1××××5555====5½5½5½5½    

 Fill in the blanks-  

(i) Chinese traveller ……………… ,travelled to India in Gupta  

        period. 

(ii) ………….. wrote the Akbarnama. 

(iii) Battle of Haldi ghati was fought between army of Akbar and  

        ……………..   

(iv) ……………….. gave the Doctrine of Lapse.  

(v) Leadership of Revolutionaries was being done by Queen....  

 …….... ………. in Bundelkhand  

 

iz-3 lgh tksM+h cukb,&         

          ¼v½       ¼c½ 

(i) ukt+hokn     (a) cksY’ksfod ØkfUr 

(ii) la;qDr jk"Vª la?k    (b) Hkxr flag 

(iii) :lh ØkfUr     (c) egkRek xk¡/kh 

(iv) dkdksjh dkaM    (d) lqj{kk ifj"kn 

(v) Lons’kh vkUnksyu    (e) fgVyj 

¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Make correct pair –  

            (A)               (B) 

(i) Nazism     (a) Bolshevik Revolution 

(ii) United Nations Organisation (b) Bhagat Singh 

(iii) Russian Revolution   (c) Mahatma Gandhi 

(iv) Kakori Conspiracy   (d) Security Council 

(v) Swadeshi Movement  (e) Hitler 
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iz-4 fuEufyf[kr okD;ksa ds lR;@vlR; crkb, & 

(i) j?kqoa’ke dh jpuk dkyhnkl us dh FkhA 

(ii) rSewj yax ds vkØe.k ds le; fnYyh dk 'kkld vdcj FkkA 

(iii) MwIys Hkkjr esa Ýsap lkezkT; LFkkfir djuk pkgrk FkkA 

(iv) jkeÑ".k fe’ku dh LFkkiuk Lokeh foosdkuan us dh FkhA 

(v) 1919 esa dk¡xzsl nks Hkkxksa esa foHkkftr gqbZA 

¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Show True or False from the following sentences - 

(i) Kalidas created Raghuvansham. 

(ii) At the time of Taimur lang’s invasion, the ruler of Delhi was 

  Akbar. 

(iii) Dupleix wanted to establish a French empire in India.  

(iv) Swami Vivekanand established Ramakrishna Mission.  

(v) In the year 1919, congress was divided in two parts. 

 

iz-5 fuEufyf[kr iz’uksa ds mÙkj ,d 'kCn ;k ,d okD; eas nhft, %& 

(i) egkohj Lokeh ds cpiu dk D;k uke Fkk\ 

(ii) lu~ 1857 ds la?k"kZ dk rkRdkfyd dkj.k D;k Fkk\ 

(iii) Hkkjrh; jk"Vªh; dk¡xzsl ds laLFkkid dkSu Fks\ 

(iv) “kjr dh LorU=rk dh ?kks"k.kk dc gqbZ\ 

(v) izFke fo’o ;q) dc 'kq# gqvk\ 

¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Give answers of the following questions in one word or in one 

sentence –  

(i) What was the name of Mahavir Swami in his childhood? 

(ii) What was the immediate reason for Revolt of 1857? 

(iii) Who was the founder of Indian National Congress? 

(iv) When was India’s Independence declared?   

(v) When was the First World War started? 
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iz-6 e/; ik"kk.k ;qx ds vkStkjksa ds uke fyf[k,A 

Write the names of weapons of Middle stone age?    

¼2½¼2½¼2½¼2½ 

iz-7 flU/kq lH;rk dks gM+Iik lH;rk Hkh D;ksa dgrs gaS\ 

Why is the Sindhu civilization also called Harappan civilization?      

¼2½¼2½¼2½¼2½ 

iz-8 jft+;k lqyrku dkSu Fkh\  

Who was Razia Sultan?    

¼2½¼2½¼2½¼2½ 

iz-9 Iyklh dk ;q) dc vkSj fdl&fdl ds chp gqvk\ 

When did the battle of Plassey occur and between whom?    

¼2½¼2½¼2½¼2½ 

iz-10 20oha 'krkCnh esa efgykvksa }kjk viukbZ xbZ ubZ ukSdfj;k¡ D;k Fkha\ 

What were the new occupations taken up by the ladies in 20th 

Century?     

¼2½¼2½¼2½¼2½ 

iz-11 ifg, ds vfo"dkj ls ekuo thou esa D;k ifjorZu vk;k\ 

What change came in the human life by the invention of Wheel?    

¼3¼3¼3¼3½½½½ 

iz-12 jksySV ,DV D;k gS\    

What is Rowlatt Act?    

¼3¼3¼3¼3½½½½ 

iz-13 czã lekt us fdu lkekftd dqjhfr;ksa dk vUr djus dk iz;Ru fd;k\ 

Bramha Samaj tried to reform which odd social customs of the 

society?     

¼3¼3¼3¼3½½½½ 

iz-14 “kjrh;ksa }kjk lkbeu deh’ku dk cfg"dkj D;ksa fd;k x;k\ 

Why Simon Commission was boycotted by Indians?      

¼3¼3¼3¼3½½½½ 



[315]  Page 6 of 8                                                             

iz-15 vlg;ksx vkUnksyu ds izkjEHk gksus ds dkj.k fyf[k,A 

Write reasons for initiation of Non co-operation movement.     

¼3¼3¼3¼3½½½½ 

iz-16 ckS) /keZ esa dkSu ls pkj vk;Z lR; crk;s x, gSa\ 

Which are the four Noble truths of Buddhism?    

vFkokvFkokvFkokvFkok@OR 

leqæxqIr ds dky dh eqækvksa ls mldh dkSu lh fo’ks"krkvksa dk irk pyrk  

gS\ 

Which of the main features are known from the coins of 

Samudragupta’s period?  

¼4¼4¼4¼4½½½½ 

iz-17 flU/kq lE;rk ds fuokfl;ksa ds lkekftd thou ds ckjs esa vki D;k tkurs gSa\ 

What do you know about the social lives of residents of Sindhu  

civilization?    

vFkokvFkokvFkokvFkok@OR 

foKku rFkk rduhdh ds {ks= esa xqIr dky dh izxfr dk mYys[k dhft,A         

Mention progress of Gupta period in the field of Science and 

technology.  

¼4¼4¼4¼4½½½½ 

iz-18 'ksj'kkg lwjh us iz’kkldh; i)fr;ksa esa D;k egRoiw.kZ ifjorZu fd;s\ 

What major reforms were done by Sher Shah Suri in the  

Administrative policies? 

vFkokvFkokvFkokvFkok@OR 

“kjr esa 'kq# gq, lwQh er dh fo’ks"krk,¡ fyf[k,A    

Write down the features of Sufism that started in India.  

¼¼¼¼4444½½½½ 
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iz-19 'kkgtgk¡ dkyhu LFkkiR; dyk dk ifjp; nhft,A 

Give introduction of the Architecture in the era of Shah Jahan?    

vFkokvFkokvFkokvFkok@OR 

vykmíhu f[kyth ds cktkj fu;U=.k dh izeq[k fo’ks"krk,¡ fyf[k,A 

Write down the main Market Control regulations by  

Alauddin Khilji. 

¼¼¼¼4444½½½½ 

iz-20 izFke fo’o ;q) ds pkj dkj.k fyf[k,A 

Write the four reasons of First world war.    

vFkokvFkokvFkokvFkok@OR 

1917 dh :l dh ØkfUr ds izHkko fyf[k,A 

Write the effects of the Russian revolution 1917. 

¼¼¼¼4444½½½½ 

iz-21 dkcZu 14 fof/k D;k gS\ bfrgkldkjksa ds fy, bldh D;k mi;ksfxrk gS\ 

What is Carbon 14 method? What is its use to the Historians?     

vFkokvFkokvFkokvFkok@OR 

xkU/kkj dyk dh fo’ks"krk,¡ fyf[k,A 

Write down the features of Gandhara Kala? 

¼¼¼¼5555½½½½ 

iz-22 “kjr ds LorU=rk vkUnksyu esa lqHkk"kpUæ cksl ds ;ksxnku dks fyf[k,A    

Write down the contributions of Subhash Chandra Bose in 

India’s freedom struggle.     

vFkokvFkokvFkokvFkok@OR 

“kjr ds jk"Vªh; vkUnksyu esa vlg;ksx vkUnksyu ds egRo dh foospuk 

dhft,A 

Explain the importance of Non co-operation movement among 

the national movements of India? 

¼¼¼¼5555½½½½ 
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iz-23 eqgEen rqxyd dh fofHké ;kstukvksa dk o.kZu dhft,A 

Describe the different schemes of Muhammad Tughlaq?    

vFkokvFkokvFkokvFkok@OR 

f’kokth dh v"Viz/kku O;oLFkk ds fo"k; eas fyf[k,A 

Write down about Shivaji’s Council of eight ministers (Ashta 

Pradhan)? 

¼¼¼¼10101010½½½½ 

iz-24 lu~ 1857 ds foæksg ds izeq[k dkj.k fyf[k,A 

Write down main reasons of Revolt of 1857.    

vFkokvFkokvFkokvFkok@OR 

Iyklh ds ;q) ds dkj.k ,oa egRo dks Li"V djsaA 

Describe the reasons for the battle of Plassey and give its 

importance. 

¼10¼10¼10¼10½½½½ 

 

------------------------------- 
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dqy iz’uksa dh la[;k % 26 dqy i`"Bksa dh la[;k % 12 
Total No. of Questions: 26 Total No. of Pages: 12 

gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018 

316 
fo"k; %fo"k; %fo"k; %fo"k; % HkwxksyHkwxksyHkwxksyHkwxksy    

Subject: GEOGRAPHY 

(Hindi & English Versions) 

le; % 03 ?k.Vs  iw.kk±d % 100 
Time: 03 Hours  Maximum Marks: 100 

funsZ’k&funsZ’k&funsZ’k&funsZ’k&    

    (i)    lHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaA    
    (ii)    ç’u&i= esa fn;s x;s funsZ’k lko/kkuhiwoZd iç’u&i= esa fn;s x;s funsZ’k lko/kkuhiwoZd iç’u&i= esa fn;s x;s funsZ’k lko/kkuhiwoZd iç’u&i= esa fn;s x;s funsZ’k lko/kkuhiwoZd i<<<<+dj ç’uksa ds mÙkj fyf[k,A +dj ç’uksa ds mÙkj fyf[k,A +dj ç’uksa ds mÙkj fyf[k,A +dj ç’uksa ds mÙkj fyf[k,A     
    (iii)    iz’u iz’u iz’u iz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSØekad 1 ls 5 rd oLrqfu"B iz’u gSØekad 1 ls 5 rd oLrqfu"B iz’u gSØekad 1 ls 5 rd oLrqfu"B iz’u gSaa aaA izR;sd A izR;sd A izR;sd A izR;sd iz’u 5 vad dk gSA 5iz’u 5 vad dk gSA 5iz’u 5 vad dk gSA 5iz’u 5 vad dk gSA 5××××1] 51] 51] 51] 5××××5¾25 vad5¾25 vad5¾25 vad5¾25 vad    

    (iv)    iz’u iz’u iz’u iz’u Øekad 6 ls 26 rd esa vkUrfjd fodYi fn;s x;s gSaAØekad 6 ls 26 rd esa vkUrfjd fodYi fn;s x;s gSaAØekad 6 ls 26 rd esa vkUrfjd fodYi fn;s x;s gSaAØekad 6 ls 26 rd esa vkUrfjd fodYi fn;s x;s gSaA 

    (v)    iz’u iz’u iz’u iz’u Øekad 6 ls 10 rd izR;sd ç’u ds fy;s 2 vad fu/kkZfjr gSa ,oa izR;sd ç’u dk mÙkj 30 Øekad 6 ls 10 rd izR;sd ç’u ds fy;s 2 vad fu/kkZfjr gSa ,oa izR;sd ç’u dk mÙkj 30 Øekad 6 ls 10 rd izR;sd ç’u ds fy;s 2 vad fu/kkZfjr gSa ,oa izR;sd ç’u dk mÙkj 30 Øekad 6 ls 10 rd izR;sd ç’u ds fy;s 2 vad fu/kkZfjr gSa ,oa izR;sd ç’u dk mÙkj 30 
'kCnksa esa fy[kuk gSA'kCnksa esa fy[kuk gSA'kCnksa esa fy[kuk gSA'kCnksa esa fy[kuk gSA    

         (vi)    iz’u iz’u iz’u iz’u Øekad 11 ls 14 rd izR;sd ç’u ds fy;s Øekad 11 ls 14 rd izR;sd ç’u ds fy;s Øekad 11 ls 14 rd izR;sd ç’u ds fy;s Øekad 11 ls 14 rd izR;sd ç’u ds fy;s 3333    vad gSavad gSavad gSavad gSa    ,oa izR;sd ç’u dk mÙkj 75 'kCnksa esa ,oa izR;sd ç’u dk mÙkj 75 'kCnksa esa ,oa izR;sd ç’u dk mÙkj 75 'kCnksa esa ,oa izR;sd ç’u dk mÙkj 75 'kCnksa esa 
fy[kuk gSAfy[kuk gSAfy[kuk gSAfy[kuk gSA    

        (vii)     iz’u iz’u iz’u iz’u Øekad 1Øekad 1Øekad 1Øekad 15 ls 215 ls 215 ls 215 ls 21    rd izR;sd iz’u rd izR;sd iz’u rd izR;sd iz’u rd izR;sd iz’u ddddssss    ffffyyyy;;;;ssss    4444    vvvvaaaadddd    ggggSSSS aa aa    ,,,,ooooaa aa    çççç’’’’uuuu    ddddkkkk    mmmmÙÙÙÙkkkkjjjj    111122220000    ''''kkkkCCCCnnnnkkkkss ss aa aa    eeeessss aa aa                    
fy[kuk gSA     fy[kuk gSA     fy[kuk gSA     fy[kuk gSA         

        (viii)    iz’u iz’u iz’u iz’u Øekad Øekad Øekad Øekad 22222222    ls 26 rd ls 26 rd ls 26 rd ls 26 rd izR;sd iz’u ds fy;s 5 vad gSa ,oa ç’u dk mÙkj yxHkx 150 'kCnksa esa izR;sd iz’u ds fy;s 5 vad gSa ,oa ç’u dk mÙkj yxHkx 150 'kCnksa esa izR;sd iz’u ds fy;s 5 vad gSa ,oa ç’u dk mÙkj yxHkx 150 'kCnksa esa izR;sd iz’u ds fy;s 5 vad gSa ,oa ç’u dk mÙkj yxHkx 150 'kCnksa esa 
fy[kuk gSAfy[kuk gSAfy[kuk gSAfy[kuk gSA    

Note-  

 (i) All questions are compulsory.  

 (ii) Read the instructions of the question paper carefully and answer the questions.  

 (iii) Question Nos. 1 to 5 are objective type. Each question carries 5 marks.            

5××××1,5××××5 =25  marks. 

            (iv)   Internal options are given in Q. No 6 to 26.        

          (v)    Question No. 6 to 10 are assigned 2 marks each and answer should be given in 

about 30 words.    

                   (vi)     Question No. 11 to 14 are assigned 3 marks and answer should be given in about                             

                             75 words. 

                  (vii)     Question No. 15 to 21 are assigned 4 marks and answer should be given in about  

                             120 words.                              

                  (viii)    Question No. 22 to 26 are assigned 5 marks and answer should be given in about                             

                             150 words.  
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iz-1 lgh fodYi pqudj fyf[k;s & ¼1¼1¼1¼1××××5555====5½5½5½5½ 

 (i) volknh 'kSy dk mnkgj.k gS&   

 (a) xzsukbV     

 (b) laxejej  

 (c) cyqvk iRFkj        

 (d) cslkYV 

 

 (ii) iou ds fu{ksi.k dk;Z ls cuus okyh LFkykd`fr gS&  

 (a) N=d 'kSy      

 (b)  V vkdkj dh ?kkVh   

 (c) MsYVk      

 (d) cj[kku  

 

 (iii) fgeky; fdl izdkj dk ioZr gS&  

 (a) eksM+nkj ioZr     

 (b) CykWd ioZr   

 (c) Tokykeq[kh ioZr     

 (d) izkphu ioZr  

 

 (iv) yVdrh ?kkVh curh gS&  

 (a) unh ls      

 (b) fgeun ls   

 (c) ugj ls     

 (d) gok ls  

 

 (v) jkWfd ioZr ls mrjrh xeZ gok dks dgrs gSa&  

 (a) QkWu       

 (b) fpuwd  

 (c) yw      

 (d) feLVjy 
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 Choose the correct option-   

 (i) An example of sedimentary rock is - 

 (a) Granite     

 (b) Marble  

 (c) Sandstone     

 (d) Besalt  

 

 (ii) Which topographical features are made by wind deposition-  

 (a) Mushroom Rock   

 (b) V-shaped Valley  

 (c) Delta      

 (d) Barkhan  

 

 (iii) What type of mountains is the Himalayas? 

 (a) Fold mountain    

 (b) Block mountain  

 (c) Volcanic      

 (d) Oldest mountain 

 

 (iv) A Hanging valley is formed by- 

 (a) River      

 (b) Glacier   

 (c) Canal     

 (d) wind  

 

 (v) A Hot wind blowing on the West slopes of the rocky 

 mountain is called- 

 (a) Foehn      

 (b) Chinook  

 (c) Loo       

 (d) Mistral  
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iz-2 fuEufyf[kr fjDr LFkkuksa dh iwfrZ dhft,&  

(i) VSxk ds taxyksa esa ---------------------------------------------------------------------- ydM+h gksrh gSA 

(ii) nf{k.k Hkkjr dh nks ufn;k¡ --------v©j--------gSa] tks if'pe fn’kk esa cgrh gSaA 

(iii) ------------------------------------------------------------------------------------------------ tyks<+ feÍh {ks= gSA 

(iv) pk; mRiknu esa Hkkjr dk ----------------------------------------------------------------- LFkku gSA 

(v) pkoy vkSj twV ds fy;s ------------------------------------------------------ o"kkZ vko’;d gSA 

¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Fill in the blanks-  

(i) The Taiga forests are known for their ……………… wood. 

(ii) The two major West flowing rivers of South India are 

 ………..……………. and …………………..   

(iii) ……….is the region of alluvial soil.  

(iv) India’s position in tea production in the world is…………  

(v) Rice and jute require …………………..…………….. rainfall.  

 

iz-3 izR;sd dk ,d okD; esa mÙkj fyf[k,& 

(i) Hkkjr esa lcls vf/kd ued mRiknu d©u djrk gS\ 

(ii) ,d js’ksnkj Qly dk uke fyf[k,A  

(iii) ckEcs gkbZ dgk¡ fLFkr gS\ 

(iv) xYQ&LVªhe fdl izdkj dh ty/kkjk gS\ 

(v) Hkkjr dh lcls Å¡ph ioZr pksVh dkSulh gS\ 

¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Answer each in one sentence - 

(i) Who is the largest producer of salt in India? 

(ii) Write the name of one fibre crops. 

(iii) Where is the Bombay high located?  

(iv) What type of current is Gulf Stream? 

(v) Which is the highest mountain peak in India?  
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iz-4 lgh tksM+h cukb;s&         
 (A)               (B) 

(i) ipe<+h     (a) volknh 'kSy 

(ii) mn;iqj ds fuoklh }kjk vkl  (b) 0° v{kka’k js[kk 

 ikl dh >hyksa dk Hkze.k 

(iii) dks;yk     (c) osYM 

(iv) Hkwe/; js[kk     (d) LFkkuh; i;ZVu  

(v) nf{k.kh vÝhdk     (e) e/;izns’k 

¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Match the following:-  

 (A)      (B) 

(i) Pachmari     (a) Sedimentary rock  

(ii) A resident of Udaipur visiting (b) 0° latitude  

        its lakes   

(iii) Coal      (c) Weld  

(iv) Equator      (d) Local tourism 

(v) South Africa     (e) Madhya Pradesh  

 

iz-5 lgh ;k xyr fyf[k,&  

(i) ekuo Hkwxksy dh mi’kk[kk tula[;k Hkwxksy gSA 

(ii) Hkkjr esa nks izdkj dh feÍh ik;h tkrh gSA 

(iii) yksxksas ds ,d LFkku ls nwljs LFkku ij tkus dks izokl dgrs gSaA 

(iv) Hkkjr dh lk{kjrk dh nj esa rhoz o`f) gks jgh gSA 

(v) Hkkjr ds iBkj dh vkd`fr f=Hkqt ds leku gSA 

¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Write true or false -  

(i) Sub branch of human geography is population geography.   

(ii) Two major types of soils are found in India.   

(iii) Movement of people from one place to another is called 

migration.  

(iv) The rate of literacy is rising rapidly in India.   

(v) The shape of Indian Great Plateau is triangular.  
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iz-6 :ikUrfjr 'kSy ds nks mnkgj.k fyf[k;sA 

Write any two examples of metamorphic rocks.     

vFkokvFkokvFkokvFkok@@@@OR 

vi{k; D;k gS\                 

What is weathering?  

¼2½¼2½¼2½¼2½ 

iz-7 Tokj HkkVk fdls dgrs gSa\  

What are tides?     

vFkokvFkokvFkokvFkok@@@@OR 

c<+rh gqbZ xgjkbZ ds lkFk egklkxjh; ty dk rkieku D;ksa ?kV tkrk gS\    

Why does temperature of ocean decreases as its depth 

increases?   

¼2½¼2½¼2½¼2½ 

iz-8 pÍku fdls dgrs gSa\      

What are Rocks?     

vFkokvFkokvFkokvFkok@@@@OR 

vkXus; pÍkuksa ds dksbZ nks mnkgj.k fyf[k,A         

Write two examples of Igneous rocks.  

¼2½¼2½¼2½¼2½ 

iz-9 Hkkjr dh Hkw&lhek ls yxs nks iM+kslh ns’kksa ds uke fyf[k,A 

Write the names of two neighbouring countries of India.     

vFkokvFkokvFkokvFkok@@@@OR 

dkasd.k rV dk foLrkj dgk¡ ls dgk¡ rd gS\        

Write the places associated to the Konkan coast respectively.  

¼2½¼2½¼2½¼2½ 
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iz-10 Hkkjr esa ik;h tkus okyh fefÍ;ksa ds uke fyf[k;sA 

Write the names of soils which are found in India.       

vFkokvFkokvFkokvFkok@@@@OR 

e`nk laj{k.k dh dksbZ nks fof/k;k¡ fyf[k;sA        

Write two methods of Soil conservation.  

¼2½¼2½¼2½¼2½ 

iz-11 Tokykeq[kh ds rhu izdkj fyf[k;sA 

Write three types of Volcanoes.    

vFkokvFkokvFkokvFkok@@@@OR 

oyu D;k gS\     

What is fold?  

¼¼¼¼3333½½½½ 

iz-12 egklkxjh; ty/kkjkvksa ds rhu izHkko fyf[k;sA 

Write the three effects of ocean currents.     

vFkokvFkokvFkokvFkok@@@@OR 

egklkxjh; fury dk ukekafdr js[kkfp= cukb;sA        

Draw a labelled diagram of Ocean Basins.  

¼¼¼¼3333½½½½ 

iz-13 o`f"V Nk;k izns’k fdls dgrs gSa\ 

What is rain shadow area?     

vFkokvFkokvFkokvFkok@@@@OR 

ok;qnkc dh fHkUurk ds rhu dkj.k fyf[k,A        

Write three causes of variations in air pressure.  

¼¼¼¼3333½½½½ 
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iz-14 Hkkjr ds de tula[;k ?kuRo okys jkT;ksa ds uke fyf[k;sA 

Write the names of states with low population density in India.     

vFkokvFkokvFkokvFkok@@@@OR 

izokl ds rhu dkjd fyf[k;sA        

Write three causes of migration.  

¼¼¼¼3333½½½½ 

iz-15 Tokykeq[kh dk ukekafdr js[kkfp= cukb;sA 

Draw a labelled diagram of a Volcano.    

vFkokvFkokvFkokvFkok@@@@OR 

N=d 'kSy fdls dgrs gSa\ bldk fuekZ.k dgk¡ vkSj dSls gksrk gS\        

What are Mushroom rocks? Where and how are they formed? 

¼¼¼¼4444½½½½ 

iz-16 ekSle vkSj tyok;q esa pkj vUrj fyf[k;sA 

Write four differences between weather and climate.    

vFkokvFkokvFkokvFkok@@@@OR 

o"kkZ fdrus izdkj dh gksrh gS\        

How many types of rainfall are there? 

¼¼¼¼4444½½½½ 

iz-17 tSoe.My ds ?kVd fyf[k;sA  

Write elements of Biosphere.      

vFkokvFkokvFkokvFkok@@@@OR 

ty pØ D;k gS\                

What is the Hydrological cycle?  

¼¼¼¼4444½½½½ 
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iz-18 Hkkjr esa dks;yk dgk¡ ik;k tkrk gS\ 

Where is coal found in India?     

vFkokvFkokvFkokvFkok@@@@OR 

Hkkjr esa lwrh oL= m|ksx ds LFkkuh;dj.k ds pkj dkj.k fyf[k;sA        

Write any four factors responsible for the localisation of cotton 

industry in India?  

¼¼¼¼4444½½½½ 

iz-19 nloha iapo"khZ; ;kstuk ds mÌs’; fyf[k;sA 

Write the aims of 10th five year plan. 

vFkokvFkokvFkokvFkok@@@@OR 

vuqdwyre lalk/ku mi;ksx D;k gS\    

What is optimum use of resource? 

¼¼¼¼4444½½½½ 

iz-20 i;ZVu m|ksx ds pkj YkkHk fyf[k;sA 

Write four benefits of tourism industry.     

vFkokvFkokvFkokvFkok@@@@OR 

i;ZVu dh pkj uohu i)fr;k¡ fyf[k;sA        

Write four new methods of tourism.  

¼¼¼¼4444½½½½ 

iz-21 nSfud thou esa Hkwxksy ds pkj mi;ksx fyf[k;sA 

Write four uses of geography in daily life.      

vFkokvFkokvFkokvFkok@@@@OR 

Hkwxksy dh 'kk[kk,¡ fyf[k;sA            

Write the branches of geography.  

¼¼¼¼4444½½½½ 
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iz-22 V vkdj dh ?kkVh ,oa U vkdkj dh ?kkVh esa ik¡p vUrj fyf[k;sA 

Write five differences between V shaped and U shaped valley.     

vFkokvFkokvFkokvFkok@@@@OR 

cj[kku dk ukekafdr js[kkfp= cukb;sA        

Draw a labelled diagram of Sand-dune.   

¼¼¼¼5555½½½½ 

iz-23 Rkkieku dks izHkkfor djus okys ik¡p dkj.k fyf[k;sA 

Write five factors affecting temperature.     

vFkokvFkokvFkokvFkok@@@@OR 

ty lehj ,oa Fky lehj dk ukekafdr js[kkfp= cukb;sA        

Draw a labelled diagram of Land and Sea breeze. 

¼¼¼¼5555½½½½ 

iz-24 Hkkjr dh tyok;q dks izHkkfor djus okys ik¡p dkj.k fyf[k;sA 

Write five factors affecting climate of India.     

vFkokvFkokvFkokvFkok@@@@OR 

'khr _rq dk o.kZu dhft;sA        

Explain Winter season. 

¼¼¼¼5555½½½½ 
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iz-25 fn;s x;s Hkkjr ds ekufp= esa fUkEufyf[kr n’kkZb;s& 

¼i½ vjc lkxj  

¼ii½ eqEcbZ   

¼iii½ psUubZ    

¼iv½ fnYyh   

¼v½ Fkkj dk e#LFky       

Show the following on the given outline map of India- 

(i) Arabian sea  

(ii) Mumbai 

(iii)   Chennai  

(iv) Delhi  

(v) Thar desert       

vFkokvFkokvFkokvFkok@@@@OR 

fn;s x;s Hkkjr ds ekufp= esa fUkEufyf[kr n’kkZb;s& 

¼i½ y{k}hi  

¼ii½ ueZnk unh 

¼iii½ ckWEcs gkbZ 

¼iv½ NksVk ukxiqj dk iBkj  

¼v½ dksydkrk 

Show the following on the given outline map of India-  

(i) Lakshadweep 

(ii) Narmada river  

(iii) Bombay high  

(iv) Plateau  of chota Nagpur  

(v) Kolkata   

¼¼¼¼5555½½½½ 
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iz-26 Hkkjr dh tula[;k forj.k dks izHkkfor djus okys ik¡p dkj.k fyf[k;sA 

Write five factors affecting the distribution of population in India.    

vFkokvFkokvFkokvFkok@@@@OR 

Hkkjr esa fyaxkuqikr de D;ksa gS\    

Why sex ratio is low in India?  

¼¼¼¼5555½½½½ 

 

------------------------------- 
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fo"k; %fo"k; %fo"k; %fo"k; % jktuhfr jktuhfr jktuhfr jktuhfr 'kkL='kkL='kkL='kkL=    

Subject: POLITICAL SCIENCE 

(Hindi & English Versions) 
le; % 03 ?k.Vs                                                                       iw.kk±d % 100 

Time: 03 Hours                                                               Maximum Marks: 100 

    

lkekU; lkekU; lkekU; lkekU; funsZ’k %&funsZ’k %&funsZ’k %&funsZ’k %&        

     (i)    iz’u&i= iz’u&i= iz’u&i= iz’u&i= ds nks Hkkx ^d^ ,oa ^[k^ gSds nks Hkkx ^d^ ,oa ^[k^ gSds nks Hkkx ^d^ ,oa ^[k^ gSds nks Hkkx ^d^ ,oa ^[k^ gSaa aaAAAA    

    (ii)    dsfUnzd ekdsfUnzd ekdsfUnzd ekdsfUnzd ekWWWWM~;wy ¼[k.M ^d^½ ds lHkh iz’u vfuok;Z gSM~;wy ¼[k.M ^d^½ ds lHkh iz’u vfuok;Z gSM~;wy ¼[k.M ^d^½ ds lHkh iz’u vfuok;Z gSM~;wy ¼[k.M ^d^½ ds lHkh iz’u vfuok;Z gSaa aaAAAA    

 (iii)    ijh{kkfFkZ; äijh{kkfFkZ; äijh{kkfFkZ; äijh{kkfFkZ; ä    dks ^[k^ Hkkx esa p;u dh lqfo/kkdks ^[k^ Hkkx esa p;u dh lqfo/kkdks ^[k^ Hkkx esa p;u dh lqfo/kkdks ^[k^ Hkkx esa p;u dh lqfo/kk    gS] gS] gS] gS] mUgsa fodYimUgsa fodYimUgsa fodYimUgsa fodYi    &&&& I    vFkokvFkokvFkokvFkok                

fodYifodYifodYifodYi    & & & & II    esa ls iz’uksa dks gy djuk gksxkAesa ls iz’uksa dks gy djuk gksxkAesa ls iz’uksa dks gy djuk gksxkAesa ls iz’uksa dks gy djuk gksxkA    

 (iv)    izR;sd iz’u vkSj mlds izR;sd Hkkx ds vadksizR;sd iz’u vkSj mlds izR;sd Hkkx ds vadksizR;sd iz’u vkSj mlds izR;sd Hkkx ds vadksizR;sd iz’u vkSj mlds izR;sd Hkkx ds vadksaa aa    dks iz’u ds lkeus gh n’kkZ;k x;k dks iz’u ds lkeus gh n’kkZ;k x;k dks iz’u ds lkeus gh n’kkZ;k x;k dks iz’u ds lkeus gh n’kkZ;k x;k 

gSAgSAgSAgSA    

General Instructions:-  

 (i)  The paper consists of section A & B.  

 (ii) All questions in core module (Section A) are compulsory. 

 (iii) Candidates are given choice in section B. They are required to attempt 

questions from either option - I or option – II. 

 (iv) Maximum marks of each question and each part, thereof, have been 

indicated against it. 
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[k.M[k.M[k.M[k.M    & & & & ^̂̂̂vvvv^̂̂̂    
SECTION – ‘A’ 

iz-1 fjDr LFkkuksa dh iwfrZ dhft,&  

(i) ^^jkT;^^ 'kCn dk iz;ksx loZizFke ---------------------------------------- us fd;k FkkA 

(ii) ekDlZokfn;ksa ds vuqlkj jkT; ---------------------------------------------------------------- gSA 

(iii) lalnkRed yksdra= esa vlyh lÙkk --------------------------- ds ikl gksrh gSA 

(iv) lafo/kku ---------------------------------------------------------------------------- dk laxzg gksrk gSA 

(v) lafo/kku ds -------------------la’kks/ku vf/kfu;e }kjk iapk;rh jkt laLFkkvksa 

     dks laoS/kkfud ntkZ fn;k x;k gSA 

¼5½¼5½¼5½¼5½    

 Fill in the blanks-  

(i) The term ‘State’ was first used by ………………………….. 

(ii) According to the Marxists, state is a ……………………..  

(iii) In a parliamentary democracy, the …………………………  

        enjoys the real power. 

(iv) A constitution is a body of …………………………………... 

(v) Panchayati  Raj  institutions  were provided Constitutional  

        status by  the ……Constitutional Amendment Act. 

 

 

iz-2 lgh fodYi nhft, %& ¼5½¼5½¼5½¼5½ 

 (i) jk"Vªifr in ds fy, U;wure vk;q gS &  

 (a) 21 o"kZ    (b) 25 o"kZ  

 (c) 30 o"kZ    (d) 35 o"kZ 

    

 (ii) tc jk"Vªifr o mijk"Vªifr] nksuksa gh miyC/k ugha gksrs] rks jk"Vªifr  

     dk inHkkj dkSu laHkkyrk gS &  

 (a) iz/kkuea=h     (b) Hkkjr ds eq[; U;k;k/kh’k  

 (c) eq[; fuokZpu vk;qDr         (d)    yksdlHkk v/;{k  

 

 (iii) eq[;ea=h ds usr`Ro esa ea=hifj"kn~ fdlds izfr mÙkjnk;h gksrh gS & 

 (a) fo/kkulHkk    (b) fo/kku ifj"kn~  

 (c) jkT;iky         (d)    jk"Vªifr 
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 (iv) Vksy VSDl D;k gS\  

 (a) lkoZtfud lEifÙk ds foØ; ij dj    

        (b) iqy vFkok lM+d iz;ksx djus ij dj   

 (c) fctyh ij dj      

        (d) mijksDr esa ls dksbZ ugha  

 

 (v) lkoZHkkSfed o;Ld erkf/kdkj dk vFkZ gS] fd oksV dk vf/kdkj &  

 (a) lHkh o;Ld efgykvksa vkSj iq#"kksa dks gSA 
 (b) dsoy iq#"kksa dks gSA  

 (c) dsoy efgYkkvksa dks gSA        

        (d) vo;Ldksa dks gSA 

 

 Choose the correct answer -   

 (i) The minimum age for the office of the president of India  

         is - 

 (a) 21 years    (b) 25 years 

 (c) 30 years    (d) 35 years 

 

 (ii) Who acts as President when neither the President nor the  

        Vice-President is available -  

 (a) The Prime Minister    

        (b) The Chief Justice of India   

 (c) The Chief Election Commissioner            

        (d) The Speaker of Lok Sabha  

 

 (iii) The Chief Minister, along with the State council of  

         Ministers is collectively responsible to -  

 (a) The Legislative Assembly  (b)The Legislative Council  

 (c) The Governor of the State (d) The President of India   

 

 (iv) What is a toll tax?  

 (a) Tax on the sale of Pubic property.   

 (b) Tax for the use of bridges or roads.  

 (c) Tax on electricity.       

        (d) None of these 

 

 (v) Universal Adult Franchise means the enjoyment of the  

        right to vote by - 

 (a) All adult – both men and women 

  (b) Only men 

 (c) Only women      

        (d) Minors  
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iz-3 lgh vFkok xyr pqfu;s & 

(i) {ks=okn us izk;% jkT;ksa dks dsUnz ls vf/kd Lok;Ùkrk dh ekax djus 

 gsrq mdlk;k gSA  

(ii) ljdkj vklkuh ls tuer dh vogsyuk dj ldrh gSA 

(iii) turk LFkk;h vkSj jk"Vªh; ekeyksa esa dksbZ #fp ugha ysrhA  

(iv) lafo/kku vU; fiNM+s oxksZa dh igpku ugha djrk gSA 

(v) foKku vkSj izkS|ksfxdh esa rhoz fodkl i;kZoj.k {kj.k dk ,d eq[;  

     dkjd gSA 

¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Choose  True or False - 

(i) Regionalism has often led to the demand by states for

 greater autonomy from the center.   

(ii) The Government can easily afford to ignore Public 

 opinion.   

(iii) Public does not take interest in local and national affairs.   

(iv) The constitution does not identify other backward classes.  

(v) The fast development in science and technology is a 

 major factor contributing to the environmental 

 degradation.  

 

iz-4 mnkjokn dk D;k vFkZ gS\  

What is meant by liberalism?    

¼2½¼2½¼2½¼2½ 

iz-5 fyf[kr lafo/kku ds egRo dks crkb,A    

Explain the significance of Written Constitution.     

¼2½¼2½¼2½¼2½ 

iz-6 jkT;lHkk ds lnL;ksa dh dk;Z&vof/k fdruh gksrh gS\ 

What is the tenure of members of Rajya Sabha?     

¼2½¼2½¼2½¼2½ 

iz-7 Hkkjr ds pquko vk;ksx ds dksbZ nks dk;Z crkb,A 

Write any two functions of Election Commission of India.     

¼2½¼2½¼2½¼2½ 
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iz-8 vPNs 'kklu dh izeq[k ck/kkvksa dh ppkZ dhft,A¼dksbZ nks½¼dksbZ nks½¼dksbZ nks½¼dksbZ nks½ 

Discuss the main hindrance to good governance. (any two)     

¼2½¼2½¼2½¼2½ 

iz-9 i;kZoj.k dh nks leL;kvksa dk o.kZu dhft,A 

Discuss any two Environmental Problems.     

¼2½¼2½¼2½¼2½ 

iz-10 volj dh lekurk dk D;k vFkZ gS\ 

What do you mean by Equality of Opportunity?     

¼3¼3¼3¼3½½½½ 

iz-11 'kgjh LFkkuh; fudk;ksa ds izeq[k dk;Z fyf[k,A 

Identify the major functions of Urban Local Bodies.    

¼3¼3¼3¼3½½½½ 

iz-12 jkT;iky dh fu;qfDr fdl izdkj gksrh gS\  

How is a Governor Appointed?     

¼3¼3¼3¼3½½½½ 

iz-13 laiznk;okn D;k gS\      

What is Communalism?     

¼3¼3¼3¼3½½½½ 

iz-14 jkT; fdls dgrs gaS\ la{ksi esa jkT; ds ?kVdksa dk mYys[k dhft,A 

What is a State? Briefly explain the elements of a State.      

¼¼¼¼4444½½½½ 

iz-15 laln ds dk;kZsa dh O;k[;k dhft,A 

Discuss the functions of Parliament.     

¼4¼4¼4¼4½½½½ 

iz-16 jktuhfrd ny dh vko’;d fo’ks"krk,¡ fyf[k;sA 

Describe the essential features of a Political Party.    

¼4¼4¼4¼4½½½½ 

iz-17 ,d LoLFk tuer ds fuekZ.k esa vkus okyh ck/kkvksa dk fo’ys"k.k djsaA 

Analyse the hindrances in the formation of Sound Public 

Opinion.     

¼4¼4¼4¼4½½½½ 

iz-18 Hkkjr dh fons’k uhfr ds ewy fl)karksa dk mYys[k dhft;sA 

Discuss the basic tenets of India’s Foreign Policy.  

vFkokvFkokvFkokvFkok@@@@OR 

xqVfujis{k uhfr dh lkFkZdrk dk o.kZu dhft,A        

Discuss the relevance of the Policy of Non–alignment.     

¼5¼5¼5¼5½½½½ 
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iz-19 Hkkjr vkSj phu ds chp 1962 esa gq, ;q) ds dkj.kksa dk o.kZu dhft,A 

Discuss the causes of 1962 War between India and China.  

vFkokvFkokvFkokvFkok@@@@OR 

ukHkdh; ekeyksa ds lanHkZ esa Hkkjr&vejhdh laca/kksa dk o.kZu dhft,A        

Describe the Indo-US relations with regard to the nuclear  

issues.     

¼5¼5¼5¼5½½½½ 

iz-20 Lora=rk ds vf/kdkj ds vUrxZr N% ekSfyd vf/kdkjksa dk o.kZu dhft,A 

Describe six Fundamental Freedoms granted under the Right  

to Freedom.  

vFkokvFkokvFkokvFkok@@@@OR 

gekjs lafo/kku esa of.kZr ekSfyd dÙkZO;ksa dks lwphc) djsaA        

Recall the Fundamental Duties in our constitution.     

¼5¼5¼5¼5½½½½ 

iz-21 Hkkjr esa {ks=okn dks c<+kus okys dkjd crkb,A  

Explain causes for growth of Regionalism in India.  

vFkokvFkokvFkokvFkok@@@@OR 

tuer fuekZ.k dh ,tsafl;ksa dk o.kZu djsaaA        

Describe the various agencies of Public Opinion?     

¼5¼5¼5¼5½½½½ 

 [k.M[k.M[k.M[k.M    & & & & ^̂̂̂cccc^̂̂̂    

SECTION – ‘B’ 

    

iz-22 lR;@vlR; crkb;s & 

(i) lwpuk vkSj lapkj izkS/kksfxdh esa Økafr ds ckn oS’ohdj.k dks cy  

      feykA 

(ii) la;qDr jk"Vª lkekU;r% lnL; ns’kksa dh ?kjsyw leL;kvksa ij fopkj 

  ugha  djsxkA 

(iii) ftyk iz’kklu ljdkj ds lHkh dk;kasZ dks lapkfyr djrk gSA  

(iv) vkbZ- ,e- ,Q- dk iwjk uke Hkkjrh; eqnzk dks"k gSA 

(v) lnL; ns’kksa }kjk fooknksa ds 'kkafriw.kZ lek/kku gsrq vkxzg djus okys  

     la;qDr jk"Vª dh ?kks"k.kkvksa ,oa izLrkoksa dk ck/;dkjh izHkko gSA 

¼5½¼5½¼5½¼5½    
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 Choose right / wrong -   

(i)  Globalisation is aided by revolution in information and  

         communication technology.  

(ii) The United Nations cannot normally take up domestic  

         problems of its member countries.  

(iii) District administration is the total functioning of the  

        Government.  

(iv) The full form of IMF is Indian Money Fund.  

(v) United Nations declarations and resolutions urging the  

        member countries to solve the dispute by peaceful means  

        have binding effect.  

 

iz-23 fLDr LFkkuksa dh iwfrZ dhft, & 

(i) vUrjkZ"Vªh; U;k;ky; ds ttksa dk p;u -----------------------------------------------}kjk  

     fd;k tkrk gSA 

(ii) ekuo vf/kdkj fnol ---------------------------------d¨ euk;k tkrk gSA  

(iii) lfpoky; dk iz’kklfud izeq[k ------------------------------------------ dgykrk gSA 

(iv) dSfcusV lfpo dk eq[; dk;Z ----------------------------------dks lgk;rk miyC/k  

     djkuk gSA 

(v) -----------------------lfefr us dsUnzh; lrdZrk vk;ksx ds xBu dk lq>ko  

     fn;k FkkA 

¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Fill in the blanks - 

(i) The judges of the World court are elected by……………... 

(ii) Which day, every year, is observed as the Human Rights  

 Day...........?  

(iii) ……...is the administrative head of the Secretariat. 

(iv) The chief function of the cabinet secretary is to provide  

   assistance to the …………………… 

(v) The ………………….committee recommended setting up  

 of Central Vigilance Commission.  

 



[317]  Page 8 of 8                                            ( )                 

 fodYi & fodYi & fodYi & fodYi & I 

Option - I 

 

iz-24 f}rh; fo’o ;q) esa fot;h ns’kksa ds uke fyf[k;sA 

Name the Victorious countries in the Second World War.     
¼2½¼2½¼2½¼2½ 

iz-25 'khr ;q) ds le; dkSu ls nks lSU; xqV cus\  

Identify two military alliances formed during the Cold War era.      
¼2½¼2½¼2½¼2½ 

iz-26 oS’ohdj.k ds cqjs izHkkoksa ij izdk’k Mkfy,A  

Discuss the negative effects of globalisation.       

¼¼¼¼3333½½½½ 

iz-27 la;qDr jk"Vª ?kks"k.kk i= ds mís’;ksa o fl)karksa dh O;k[;k dhft,A 

 Discuss the purposes and principles of the UN Charter.     
¼4¼4¼4¼4½½½½ 

iz-28 la;qDr jk"Vª }kjk fu’kL=hdj.k ds fy, fd, x;s iz;klksa ds dqN igyqvksa  

ij ppkZ djsaA       

Discuss some aspects of the efforts done by the United 

Nations for disarmament.     

¼4¼4¼4¼4½½½½ 

 fodYi & fodYi & fodYi & fodYi & II 

Option - II 

    

iz-24 dSfcusV lfpoky; ds laxBu dk o.kZu dhft,A 

Describe the Organization of the Cabinet Secretariat.    

¼2½¼2½¼2½¼2½ 

iz-25 ukSdj'kkgh dh D;k ifjHkk"kk gS\ 

Define Bureaucracy.     

¼2½¼2½¼2½¼2½ 

iz-26 oscj ds ukSdj’kkgh ekWMy ds eq[; y{k.k D;k gSa\ 

What are the major characteristics of Weber’s model of  

Bureaucracy?      

¼3¼3¼3¼3½½½½ 

iz-27 ftyk/kh’k dh 'kfDr;k¡ vkSj dk;ksZa dh ppkZ djsaA 

Discuss the powers and functions of the District Collector.     

¼4¼4¼4¼4½½½½ 

iz-28 dsUnzh; yksd lsok vk;ksx ds fØ;k dykiksa dh O;k[;k djsaaA 

Explain the functions of the Union Public service commission.     

¼4¼4¼4¼4½½½½ 

------------------------------- 
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fo"k; %fo"k; %fo"k; %fo"k; % vFkZ’kkL=vFkZ’kkL=vFkZ’kkL=vFkZ’kkL=    

Subject: ECONOMICS 

(Hindi & English Versions) 

le; % 03 ?k.Vs  iw.kk±d % 100 

Time: 03 Hours  Maximum Marks: 100 

funsZ’k%&funsZ’k%&funsZ’k%&funsZ’k%&                

    (i) lHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaA    
    (ii) iz’u Øekad 1 ls 5 rd oiz’u Øekad 1 ls 5 rd oiz’u Øekad 1 ls 5 rd oiz’u Øekad 1 ls 5 rd oLrqfu"B iz’u gSaA izR;sd iz’u ijLrqfu"B iz’u gSaA izR;sd iz’u ijLrqfu"B iz’u gSaA izR;sd iz’u ijLrqfu"B iz’u gSaA izR;sd iz’u ij    5 vad 5 vad 5 vad 5 vad fu/kkZfjr fu/kkZfjr fu/kkZfjr fu/kkZfjr gSaA gSaA gSaA gSaA     
                    (iii) iz’u Øekad 6 ls 10 rd iz’u Øekad 6 ls 10 rd iz’u Øekad 6 ls 10 rd iz’u Øekad 6 ls 10 rd vfr y?kqvfr y?kqvfr y?kqvfr y?kq    mÙkjh; iz’umÙkjh; iz’umÙkjh; iz’umÙkjh; iz’u    gSaA izR;sd gSaA izR;sd gSaA izR;sd gSaA izR;sd iz’u ij 2 vad fu/kkZfjr iz’u ij 2 vad fu/kkZfjr iz’u ij 2 vad fu/kkZfjr iz’u ij 2 vad fu/kkZfjr 

gSaA 'kCn lhek gSaA 'kCn lhek gSaA 'kCn lhek gSaA 'kCn lhek   30 'kCn gSA30 'kCn gSA30 'kCn gSA30 'kCn gSA    
         (iv) iz’u Øekad 11 ls 14 rd iz’u Øekad 11 ls 14 rd iz’u Øekad 11 ls 14 rd iz’u Øekad 11 ls 14 rd y?kq mÙkjh; iz’u gSaA y?kq mÙkjh; iz’u gSaA y?kq mÙkjh; iz’u gSaA y?kq mÙkjh; iz’u gSaA izR;sd izR;sd izR;sd izR;sd iz’u iz’u iz’u iz’u ij ij ij ij 3 vad 3 vad 3 vad 3 vad fu/kkZfjrfu/kkZfjrfu/kkZfjrfu/kkZfjr    gSaA gSaA gSaA gSaA 

'kCn lhek 75 'kCn gSA'kCn lhek 75 'kCn gSA'kCn lhek 75 'kCn gSA'kCn lhek 75 'kCn gSA    
                   (v)    iz’u Øekad 15 ls 21 rd iz’u Øekad 15 ls 21 rd iz’u Øekad 15 ls 21 rd iz’u Øekad 15 ls 21 rd nh?kZ nh?kZ nh?kZ nh?kZ mÙkjh; iz’u gSmÙkjh; iz’u gSmÙkjh; iz’u gSmÙkjh; iz’u gSaa aaA A A A izR;sd iz’u ij izR;sd iz’u ij izR;sd iz’u ij izR;sd iz’u ij 4 vad 4 vad 4 vad 4 vad fu/kkZfjrfu/kkZfjrfu/kkZfjrfu/kkZfjr    gSaAgSaAgSaAgSaA                           

'kCn lhek 120 'kCn gS'kCn lhek 120 'kCn gS'kCn lhek 120 'kCn gS'kCn lhek 120 'kCn gSA  A  A  A      
                  (vi)    iz’u Øekad 22 ls 26 rd iz’u Øekad 22 ls 26 rd iz’u Øekad 22 ls 26 rd iz’u Øekad 22 ls 26 rd fuca/kkRed iz’u gSfuca/kkRed iz’u gSfuca/kkRed iz’u gSfuca/kkRed iz’u gSaa aaAAAA    izR;sd izR;sd izR;sd izR;sd iz’u ij 5 vad fu/kkZfjr gSaA iz’u ij 5 vad fu/kkZfjr gSaA iz’u ij 5 vad fu/kkZfjr gSaA iz’u ij 5 vad fu/kkZfjr gSaA 

'kCn lhek 150 'kCn gSA'kCn lhek 150 'kCn gSA'kCn lhek 150 'kCn gSA'kCn lhek 150 'kCn gSA    
                (vii) iz’u Øekad iz’u Øekad iz’u Øekad iz’u Øekad 6 ls 26 esa6 ls 26 esa6 ls 26 esa6 ls 26 esa    vkarfjd fodYi fn, x, gSaAvkarfjd fodYi fn, x, gSaAvkarfjd fodYi fn, x, gSaAvkarfjd fodYi fn, x, gSaA 

Instruction:- 

 (i) All questions are compulsory. 

 (ii) Q. No. 1 to 5, are objective type questions. Each question carries 5 marks. 

 (iii) Q. No.  6 to 10, are very short answer questions. Each question carries 2 marks. 

Word limit is 30 words.  

 (iv) Q. No. 11 to 14, are short answer questions. Each question carries 3 marks. 

Word limit is 75 words.  

 (v) Q. No. 15 to 21, are long answer questions. Each question carries 4 marks. Word 

limit is 120 words.   

 (vi)  Q. No 22 to 26, are essay type questions. Each question carries 5 marks. Word 

limit is 150 words.   

           (vii) Q. No. 6 to 26 have internal options. 
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iz-1 lgh fodYi pqfu;s & 

(A) fdlh ifjokj }kjk lkbfdy dh [kjhnnkjh gS&  

 (i) fuos’k               

     (ii) mRiknu  

 (iii) miHkksx                  

     (iv)  mi;qZDr esa ls dksbZ ughaaA 

¼¼¼¼5½5½5½5½ 

 (B) mRiknu dh Je iz/kku rduhd dk vFkZ gS&  

 (i) mRiknu esa dsoy Je dk iz;ksxA              

     (ii) mRiknu bdkbZ ij Jfed dk LokfeRoA  

 (iii) vko’;d oLrqvksa ds mRiknu dh rduhd A                 

     (iv)  oLrqvksa ds mRiknu esa iw¡th dh vis{kk Je dk vf/kd iz;ksxA 

 

 (C) mRiknu laHkkouk oØ ij dksbZ fcUnq n’kkZrk gS&  

 (i) lalk/ku o`f)              

     (ii) lalk/kuksa dk vdq’ky iz;ksx  

 (iii) lalk/kuksa dh csjkstxkjh                  

     (iv)  lalk/kuksa dk iw.kZ ,oa dq’ky iz;ksxA 

 

 (D) jk"Vªh; vk; fo’ys"k.k esa ^?kjsyw {ks=* dk vFkZ gS&  

 (i) vkfFkZd {ks=       

        (ii) HkkSxksfyd {ks=  

 (iii) fuoklh        

        (iv) ukxfjd 

 

 (E) okLrfod vk; blds lerqY; gS&  

 (i) pkyw dher ij vk;         

        (ii) izkIr ekSfæd vk;  

 (iii) fLFkj dherksa ij vk;        

        (iv) lk/ku vk; 
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 Choose the correct objective-  

(A) Purchase of a cycle by a household is- 

 (i) investment     

        (ii) production 

 (iii) consumption        

        (iv) none of the above 

 

 (B) Labour intensive technique of production means- 

 (i) the  use  of only labour in production    

        (ii) production unit is owned by labour 

 (iii) the technique used for producing necessities  

        (iv) the use of more labour than capital in producing 

goods. 

 

 (C) A point on production possibility curve shows- 

 (i) growth of resources     

        (ii) inefficient utilisation of resources 

 (iii) unemployment of resources      

        (iv) full and efficient utilisation of resources 

 

 (D) The term ‘domestic territory’ in National Income is 

associated with- 

 (i) Economic territory          

        (ii) Geographical territory 

 (iii) Residents          

        (iv) Citizens 

 

 (E) Real income is same as- 

 (i)  Income of current  prices      

        (ii)    Money income received 

 (iii) Income at constant prices      

        (iv)    Factor income 
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iz-2 fjDr LFkkuksa dh iwfrZ dhft,&  

(i)  lkaf[;dh-----------------------------------------------------------dk ,d egRoiw.kZ midj.k gSA 
(ii) lkaf[;dh; vk¡dM+s ,d------------------------------------:i ls ,df=r fd;s tkrs gaSA 
(iii) vk¡dM+ksa ds fo’ys"k.k dk vFkZ---------------------------------------------dh lgk;rk ls 

fu"d"kZ fudkyuk gSA 
(iv) fjtoZ cSad cqysfVu vkSj jk"Vªh; vk; ys[kk--------------vk¡dM+ksa ds L=¨r gaSA 
(v) dsUæh; lkaf[;dh laxBu---------------------------------ij vk¡dM+s izdkf’kr djrk gSA 

¼¼¼¼5½5½5½5½ 

 Fill in the blanks-  

(i) Statistics is an important tool of……………………………..… 

(ii) Statistical data is collected in a …………….………..manner. 

(iii) Analysis of data means drawing conclusions from data with     

the help of…………………… 

(iv) Reserve bank Bulletin and National accounts statistics are 

sources of…………………..data. 

(v) Central Statistical Organisation publishes data 

on……………………………..….. 

 

iz-3 lgh tksM+h feykb;s&         
 ^v*       ^c* 
(i) ykHk    (a) dqy vkxe dk dqy ykxr ls de gksuk 
(ii) lkekU; ykHk  (b) dqy vkxe dh dqy ykxr ls vf/kdrk 
(iii) vlkekU; ykHk  (c) lhekar vkxe ¾ lhekar ykxr 

(iv) gkfu    (d) dqy vkxe dh izR;{k ykxr ls vf/kdrk 
(v) vf/kdre ykHk  (e) dqy vkxe ¾ dqy ykxr 

¼¼¼¼5½5½5½5½ 

 Match the columns-  

 ‘A’      ‘B’ 

(i) Profit          (a) Less Total revenue than Total cost 

(ii) Normal profit  (b) Excess of Total revenue than Total 

cost. 

(iii) Super Normal profit (c) Marginal revenue = Marginal cost 

(iv) Loss   (d) Excess of Total revenue than 

direct cost. 

(v) Maximum profit (e) Total revenue = Total cost 
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iz-4 lR;@vlR; fyf[k,&  

(i) migkj] nku] dj vkfn varj.k Hkqxrku gSaA 

(ii) vFkZO;oLFkk ds lkekU; dher Lrj dk v/;;u ,d lef"V vFkZ’kkL=h; 

v/;;u gksxkA 

(iii) lef"V v/;;u vFkZ’kkL= dh fdlh ,d bdkbZ dk v/;;u gSA 

(iv) eqæk ds varxZr dsoy uksV ,oa flDds vkrs gSaA 

(v) vkfFkZd fu;kstu us m|ksxksa dk rhoz foLrkj fd;k gSA 

¼¼¼¼5½5½5½5½ 

 Write True or False- 

(i) Gifts, donations, taxes etc. are transfer payments. 

(ii) Study of general price level in the economy is the  

        Macroeconomic study. 

(iii) Macroeconomic study relates to an individual unit of 

economy. 

(iv) Only coins and notes come under money. 

(v) Economic planning has brought about a rapid expansion of 

industries. 

 

iz-5 ,d 'kCn@okD; esa mÙkj nhft,&  

(i) jk"Vªh; cht fuxe dh LFkkiuk fdl o"kZ esa dh xbZ\ 

(ii) vFkZO;oLFkk esa ^m|ksx* fdl {ks= dk O;olk; gS\ 

(iii) D;k Hkkjr isVªksy ds mRiknu esa vkRefuHkZj gS\ 

(iv) Hkkjr esa 2001 esa fyax vuqikr fdruk Fkk\ 

(v) ns’k dh tula[;k vkSj {ks=Qy ds vuqikr dks D;k dgrs gSa\ 

¼¼¼¼5½5½5½5½ 

 Write answers in one word / sentence -  

(i) In which year National Seeds Corporation was established? 

(ii) Which type of profession is ‘industry’ in economy? 

(iii) Is India independent in the production of petrol? 

(iv) What was the gender ratio in 2001 in India? 

(v) What is the ratio of a country’s population and area called? 
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iz-6 vFkZO;oLFkk dk vFkZ crkb,A  

Write the meaning of Economy.    

vFkokvFkokvFkokvFkok@@@@OR 

mRiknu laHkkouk oØ fdls dgrs gSa\        

What is Production Possibility Curve? 

¼2½¼2½¼2½¼2½ 

iz-7 lkaf[;dh ls D;k vk’k; gS\  

What is meant by Statistics?    

vFkokvFkokvFkokvFkok@@@@OR 

rkfydk fdls dgrs gSa\            

What is a Table? 

¼2½¼2½¼2½¼2½ 

iz-8 cUn ,oa [kqyh vFkZO;oLFkk esa varj crkb,A 

State the difference between Closed and Open Economy.     

vFkokvFkokvFkokvFkok@@@@OR 

LVkWd ,oa izokg esa D;k varj gS\        

Differentiate between Stock and Flow.  

¼2½¼2½¼2½¼2½ 

iz-9 O;f"V vFkZ’kkL= dk D;k vFkZ gS\ 

What is the meaning of Macroeconomics?    

vFkokvFkokvFkokvFkok@@@@OR 

lef"V vFkZ’kkL= dk D;k vFkZ gS\        

What is the meaning of Microeconomics? 

¼2½¼2½¼2½¼2½ 



[318]  Page 7 of 11                                             ( )                 

iz-10 Hkkjrh; vFkZO;oLFkk esa d`f"k dk ,d egRo fyf[k,A 

Write one importance of agriculture in Indian Economy.    

vFkokvFkokvFkokvFkok@@@@OR 

tula[;k dk vFkZ le>kb,A        

Describe the meaning of Population. 

¼2½¼2½¼2½¼2½ 

iz-11 vFkZO;oLFkk esa vkfFkZd leL;kvksa ds dkj.k crkb,A 

State the causes of economic problems in Economy.    

vFkokvFkokvFkokvFkok@@@@OR 

vkfFkZd lao`f) vkSj vkfFkZd fodkl esa rhu varj crkb,A        

Write three differences between Economic growth and Economic 

development. 

¼3¼3¼3¼3½½½½ 

iz-12 vFkZO;oLFkk dh rhu vk/kkjHkwr vkfFkZd xfrfof/k;k¡ crkb,A 

State three basic economic activities of an Economy.    

vFkokvFkokvFkokvFkok@@@@OR 

ns’k dh jk"Vªh; vk; vuqekuksa ds rhu mi;ksxksa dk mYys[k dhft,A        

Explain any three uses of National Income estimates of a 

country. 

¼3¼3¼3¼3½½½½ 

iz-13 fdlh oLrq dh ek¡x dks izHkkfor djus okys rRoksa dh foospuk dhft,A 

Explain the factors affecting demand of a commodity.    

vFkokvFkokvFkokvFkok@@@@OR 

fdlh oLrq dh iwfrZ dks izHkkfor djus okys rRoksa dh foospuk dhft,A        

Explain the factors affecting supply of a commodity. 

¼3¼3¼3¼3½½½½ 
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iz-14 Lora=rk ds le; Hkkjrh; vFkZO;oLFkk dh dksbZ rhu fo’ks"krk,¡ fyf[k;sA 

Write any three characteristics of Indian Economy at the time of 

independence.    

vFkokvFkokvFkokvFkok@@@@OR 

Hkkjr esa vkfFkZd fu;kstu ds rhu mn~ns’; fyf[k;sA        

Write three objectives of Economic Planning in India. 

¼3¼3¼3¼3½½½½ 

iz-15 cgqopu ds :i esa lkaf[;dh; vk¡dM+ksa dh dksbZ pkj fo’ks"krk,¡ fyf[k;sA 

Write any four characteristics of Statistical data in plural sense.    

vFkokvFkokvFkokvFkok@@@@OR 

,dopu ds :i esa lkaf[;dh; fof/k;ksa dh dksbZ pkj fo’ks"krk,¡ fyf[k;sA        

Write any four characteristics of Statistical methods in singular 

sense. 

¼4¼4¼4¼4½½½½ 

iz-16 Rkkfydk ds dksbZ pkj ?kVd fyf[k;sA 

Write any four parts of a Table.    

vFkokvFkokvFkokvFkok@@@@OR 

vadxf.krh; ek/; ds nks xq.k ,oa nks nks"k fyf[k;sA    

Write two merits and two demerits of Arithmetic mean. 

¼¼¼¼4444½½½½ 

iz-17 mRiknu ds pkj lk/kuksa dk o.kZu dhft;sA 

Explain four factors of Production.    

vFkokvFkokvFkokvFkok@@@@OR 

fuos’k ds izdkj fyf[k;sA            

Write the types of Investment. 

¼4¼4¼4¼4½½½½ 
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iz-18 O;f"V vkSj lef"V vFkZ’kkL= esa varj fyf[k;sA 

Distinguish between Macro and Microeconomics.    

vFkokvFkokvFkokvFkok@@@@OR 

ek¡x dk fu;e D;k gS\ blds viokn fyf[k;sA        

What is Demand’s law? Write its exceptions. 

¼4¼4¼4¼4½½½½ 

iz-19 lu~ 1991 ds iwoZ dh vkfFkZd uhfr;ksa dh fo’ks"krk,¡ fyf[k;sA 

Write the characteristics of Economic policy before 1991.    

vFkokvFkokvFkokvFkok@@@@OR 

ubZ vkS|ksfxd uhfr ds eq[; fcUnq fyf[k;sA        

Write main points of New Industrial Policy. 

¼4¼4¼4¼4½½½½ 

iz-20 Hkkjrh; vFkZO;oLFkk esa m|ksxksa dk egRo fyf[k;sA 

Write the importance of industries in Indian economy.    

vFkokvFkokvFkokvFkok@@@@OR 

tula[;k o`f) ns’k ds lalk/kuksa dks dSls izHkkfor djrh gS\        

How does the population growth affects the resources of a 

country? 

¼4¼4¼4¼4½½½½ 

iz-21 Hkkjrh; d`f"k dh fuEu mRikndrk ds pkj dkj.k fyf[k;sA 

Write four causes of Low Productivity of Indian Agriculture.    

vFkokvFkokvFkokvFkok@@@@OR 

Hkkjr esa tula[;k dh lajpuk dk o.kZu dhft,A        

Explain the structure of Population in India. 

¼4¼4¼4¼4½½½½ 
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iz-22 vkS|ksfxd fodkl ij izHkko Mkyus okys dkjd fyf[k;sA 

Write the factors affecting Industrial development.    

vFkokvFkokvFkokvFkok@@@@OR 

tula[;k o`f) dh leL;k D;k gS\ blds lek/kku ds mik; fyf[k;sA        

What is the problem of population growth? Write its remedies to 

solve it. 

¼5¼5¼5¼5½½½½ 

iz-23 fuEu vko`fÙk forj.k ls izkIrkadksa dk vadxf.krh; ek/; vizR;{k jhfr ls Kkr 

dhft,& 

izkIrkad 4 5 6 7 8 9 

Nk= la[;k 6 3 2 3 4 2 

Calculate the Arithmetic mean from the following frequency 

distribution by short-cut method- 

Marks 4 5 6 7 8 9 

No. of students 6 3 2 3 4 2 

vFkokvFkokvFkokvFkok@@@@OR 

fuEu fuEu vk¡dM+kas ds vk/kkj ij izR;{k jhfr }kjk vadxf.krh; ek/; Kkr dhft;s&     

izkIrkad 1&3 3&5 5&7 7&9 

Nk= la[;k 5 3 5 7 

Calculate Arithmetic mean from the following data by direct 

method- 

Marks 1-3 3-5 5-7 7-9 

No. of students 5 3 5 7 
 

¼5¼5¼5¼5½½½½ 
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iz-24 dqy ykxr dks mnkgj.k ,oa rkfydk }kjk le>kb,A 

Explain Total cost with example and table.    

vFkokvFkokvFkokvFkok@@@@OR 

lhekar ykxr dks mnkgj.k ,oa rkfydk }kjk le>kb,A        

Explain Marginal cost with example and table. 

¼5¼5¼5¼5½½½½ 

iz-25 ctVh; uhfr ds mÌs’; fyf[k,A 

Write the objectives of Budget policy.    

vFkokvFkokvFkokvFkok@@@@OR 

Hkkjrh; fjtoZ cSad fdl izdkj eqæk dh iwfrZ dks fu;af=r djrh gS\        

How Indian Reserve Bank controls the supply of money? 

¼5¼5¼5¼5½½½½ 

iz-26 vkfFkZd fodkl dh izfØ;k esa vFkZO;oLFkk esa D;k ifjorZu gksrs gSa\ 

What changes happen in economy in the process of economic 

development?    

vFkokvFkokvFkokvFkok@@@@OR 

Hkkjrh; vFkZO;oLFkk ds eq[; y{k.k fyf[k;sA        

Write the main characteristics of Indian economy. 

¼5¼5¼5¼5½½½½ 

------------------------------- 
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Subject: Business Studies (COMMERCE)  

le; % 03 ?k.Vs                                                                           iw.kk±d % 100 
Time: 03 Hours                                                                   Maximum Marks: 100 

    

funsZ’k %&funsZ’k %&funsZ’k %&funsZ’k %&    

    (i)    bl iz’u i= esa nks [k.M gSbl iz’u i= esa nks [k.M gSbl iz’u i= esa nks [k.M gSbl iz’u i= esa nks [k.M gSaa aa] [k.M ^] [k.M ^] [k.M ^] [k.M ^^v^^v^^v^^v^^ ^ ^ ^ rFkk [k.M rFkk [k.M rFkk [k.M rFkk [k.M ^̂̂̂^c^^c^^c^^c^^̂̂̂AAAA    

    (ii)    [k.M ^v^ ds lHkh ç’u[k.M ^v^ ds lHkh ç’u[k.M ^v^ ds lHkh ç’u[k.M ^v^ ds lHkh ç’uksksksks aa aa    dks gy djuk gSAdks gy djuk gSAdks gy djuk gSAdks gy djuk gSA                           

    (iii)    [k.M ^c^ [k.M ^c^ [k.M ^c^ [k.M ^c^ esaesaesaesa    nks fodYinks fodYinks fodYinks fodYi    gSgSgSgSaa aaA ijh{kkfFkZ;ksA ijh{kkfFkZ;ksA ijh{kkfFkZ;ksA ijh{kkfFkZ;ksaa aa    dks dsoy ,d fodYi dsdks dsoy ,d fodYi dsdks dsoy ,d fodYi dsdks dsoy ,d fodYi ds    gh iz’uksa ds mÙkjgh iz’uksa ds mÙkjgh iz’uksa ds mÙkjgh iz’uksa ds mÙkj    

                                                                nsus gSnsus gSnsus gSnsus gSaa aaAAAA                

Instructions - 

 (i) This Question Paper consists of two sections “A” and “B”. 

 (ii) All Questions from section “A” are to be attempted.   

          (iii) Section “B” has got two options, candidates are required to attempt questions  

    from one option only.     
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[k.M & [k.M & [k.M & [k.M & ^̂̂̂vvvv^̂̂̂    

SECTION – ‘A’ 

iz-1 fjDr LFkkukas dh iwfrZ dhft,&  

(i) i'kqikyu ,oa xqykc dh [ksrh---------------------------------m|ksx gSA  

(ii) Vkbfiax e’khu ij dk;Z djus okys O;fDr dks----------------------------dgrs gSaA 

(iii) nks ns’kkas ds e/; gksus okys O;kikj dks------------------------------------------dgrs gSaA 

(iv) izcU/k dk lcls igyk dk;Z------------------------gSA 

(v) nh?kZdkyhu foÙk----------------------------o"kZ ;k vf/kd ds fy, vko’;d gksrk gSA 

¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Fill in the blanks-  

(i) Animal husbandry and Rose farming are…………Industries. 

(ii) The person who works on typing machine is known    

        as……............... 

(iii) Trade between two countries is called…………………….. 

(iv) The first function of the management is…………… 

(v) Long term finance is required for………years or more time. 
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iz-2 ,d 'kCn@okD; esa mÙkj fyf[k,&  

(i) vk; vftZr djus ds fy, tks fØ;k,¡ dh tkrh gaS] mUgas D;k dgrs gaS\ 

(ii) LFkk;h iw¡th izkIr djus dk lcls egRoiw.kZ L=ksr D;k gS\ 

(iii) cM+h ek=k esa oLrq ds Ø;&foØ; djus okys O;kikj dks D;k dgrs gSa\ 

(iv) oSKkfud izcU/k ds fl)kUrksa dk izfriknu fdlus fd;k Fkk\ 

(v) va’k fdrus izdkj ds gksrs gSa\ 

¼1¼1¼1¼1××××5555====5½5½5½5½    

 Answers the following in one word / sentence -  

(i) What are the activities done for earning income called? 

(ii) What is the main source to obtain fixed capital? 

(iii) The Trade in which buying and selling of goods is on  large   

 scale is called? 

(iv) Who advocated the principles of scientific management? 

(v) How many types of shares are there? 

    

iz-3 lR; @ vlR; esa mÙkj nhft,& 

(i) foi.ku ,oa foØ; esa vUrj ugha gSA  

(ii) foKkiu] foØ; lao/kZu esa lgk;d gSA 

(iii) miHkksDrk lUrqf"V foi.ku dh vk/kqfud fopkj /kkjk gSA 

(iv) jkstxkj esa iw¡th dh vko’;drk gksrh gSA 

¼1¼1¼1¼1××××4444====4444½½½½ 

 Answer the following in True or False- 

(i) There is no difference between Marketing & Sales. 

(ii) Advertising is helpful in sales promotion. 

(iii) Customer satisfaction is the modern concept of marketing. 

(iv) Capital is required in employment. 
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iz-4 lgh fodYi pqudj fyf[k, & ¼1¼1¼1¼1××××4444====4444½½½½ 

 (i) -----------] O;kikj rFkk O;kikj dh lgk;d fØ;kvksa dks dgrs gaS&  

 (a) m|ksx                   (b) is’kk  

 (c) okf.kT;                      (d) O;kikj 

 

 (ii) foi.ku izcU/k]----------ls lEcfU/kr gS&  

 (a) foØ; lao/kZu     (b) foKkiu  

 (c) mRikn feJ.k     (d) mijksDr lHkh 

 

 (iii) -----------] foi.ku dk dk;Z ugha gS&  

 (a) foKkiu      (b) ifjogu  

 (c) laxzg.k      (d) vfHkizsj.k 

 

 (iv) -----------] LFkk;h iw¡th esa lfEefyr ugha gS&  

 (a) e’khusa       (b) Hkou  

 (c) QuhZpj      (d) nsunkj 

 

 Select the correct answer of the following-   

 (i) Activities of trade and auxiliaries to trade is called- 

 (a) Industry      (b) Profession 

 (c) Commerce     (d) Trade 

 

 (ii) Marketing Management is related with- 

 (a) Sales promotion    (b) Advertising 

 (c) Product mix     (d) All of these 

 

 (iii)    ……… is not a function of Marketing- 

 (a) Advertising     (b) Transportation 

 (c) Storing      (d) Motivation 

 

 (iv) ………..is not included in fixed capital- 

 (a) Machines      (b) Building 

 (c) Furniture      (d) Debtor 
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iz-5 lgh tksfM+;k¡ cukb;s&         

 (v)       (c) 

(i) foKkiu     (a) ifjogu 

(ii) tksf[ke     (b) dk;Z lUrqf"V 

(iii) vfHkizsj.k     (c) foØ; lao/kZu 

(iv) HkkSfrd forj.k    (d) ykHk 

¼1¼1¼1¼1××××4444====4444½½½½ 

 Match the columns-  

 (A)       (B) 

(i) Advertising    (a) Transportation 

(ii) Risk      (b) Job satisfaction 

(iii) Motivation    (c) Sales promotion 

(iv) Physical Distribution  (d) Profit 

 

iz-6 thfodk ls D;k vk’k; gS\  

What do you mean by Career?    

vFkokvFkokvFkokvFkok@@@@OR 

jkstxkj ds voljkas dh lwpukvksa ds dksbZ nks L=ksr crkb;sA        

Write any two sources of information of Employment 

opportunities.  

¼2½¼2½¼2½¼2½ 

iz-7 Lojkstxkj dk vFkZ crkb;sA  

Write the meaning of self-employment.    

vFkokvFkokvFkokvFkok@@@@OR 

Lojkstxkj esa lQyrk ds fy, dksbZ nks vko’;d xq.k crkb;sA        

Explain in brief any two qualities required for success in Self 

employment.   

¼2½¼2½¼2½¼2½ 
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iz-8 LFkk;h iw¡th fdls dgrs gaS\  

What is Fixed capital?    

vFkokvFkokvFkokvFkok@@@@OR 

dk;Z’khy iw¡th ls D;k vk’k; gS\        

What do you mean by Working capital? 

¼2½¼2½¼2½¼2½ 

iz-9 is'kk dh rhu fo’ks"krk,¡ crkb;sA 

Write any three characteristics of profession.    

vFkokvFkokvFkokvFkok@@@@OR 

jkstxkj ds dksbZ rhu y{k.k crkb;sA        

Write any three characteristics of Employment. 

¼3¼3¼3¼3½½½½ 

iz-10 m|ksx ds izdkj crkb;sA  

Explain the types of Industries.     

vFkokvFkokvFkokvFkok@@@@OR 

ns’kh O;kikj ds izdkj crkb;sA        

Explain the types of Internal Trade. 

¼3¼3¼3¼3½½½½ 

iz-11 ,dkdh O;kikj ds rhu ykHk crkb;sA 

Write any three advantages of Sole Trade.    

vFkokvFkokvFkokvFkok@@@@OR 

la;qDr fgUnq ifjokj O;olk; dh rhu fo’ks"krk,¡ crkb;sA        

Write any three characteristics of Joint Hindu Family Business. 

¼3¼3¼3¼3½½½½ 

iz-12 ,dkdh O;kikj ,oa lk>snkjh esa varj crkb;sA 

Write the difference between Sole Trade and Partnership.    

vFkokvFkokvFkokvFkok@@@@OR 

la;qDr iw¡th okyh dEiuh rFkk lgdkjh lfefr esa varj crkb;sA        

Write the difference between Joint Stock Company and  

Cooperative Society. 

¼3¼3¼3¼3½½½½ 
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iz-13 O;kolkf;d cSadks ds dk;Z crkb;sA 

Explain the functions of Commercial Banks.    

vFkokvFkokvFkokvFkok@@@@OR 

Hk.Mkj.k ds dk;Z crkb;sA            

Explain the functions of Warehouses. 

¼¼¼¼4444½½½½ 

iz-14 Fkksd O;kikj ds ykHk crkb;sA  

Explain the advantages of Wholesale Trade.     

vFkokvFkokvFkokvFkok@@@@OR 

Fkksd O;kikj ,oa QqVdj O;kikj esa varj crkb;sA        

Write the difference between Wholesale Trade and Retail Trade. 

¼4¼4¼4¼4½½½½ 

iz-15 izcU/k ds dk;Z crkb;sA      

Write the functions of Management.    

vFkokvFkokvFkokvFkok@@@@OR 

;kstuk izfØ;k ds pj.k crkb;sA        

Explain the steps of Planning process 

¼4¼4¼4¼4½½½½ 

iz-16 laxBu ds fl)kUr crkb;sA  

Explain the principles of Organisation.    

vFkokvFkokvFkokvFkok@@@@OR 

HkrhZ ds ckº; L=ksrksa dks le>kb;sA        

Explain the external sources of Recruitment. 

¼4¼4¼4¼4½½½½ 
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iz-17 Lkerk va’k ,oa iwokZf/kdkj va’kksa esa vUrj crkb;sA 

Write the difference between Equity Shares and Preference  

Shares.    

vFkokvFkokvFkokvFkok@@@@OR 

_.ki=ksa ds izdkj crkb;sA            

Explain the types of Debentures. 

¼4¼4¼4¼4½½½½ 

iz-18 foHkkxh; Hk.Mkj ds ykHk crkb;sA 

Explain the advantages of Departmental Stores.    

vFkokvFkokvFkokvFkok@@@@OR 

foHkkxh; Hk.Mkj ,oa cgqla[;d nqdkukas esa varj crkb;sA        

Differentiate between Departmental stores and Multiple stores. 

¼5¼5¼5¼5½½½½ 

iz-19 funsZ’ku ds egRo dks le>kb;sA 

Explain the importance of Direction.    

vFkokvFkokvFkokvFkok@@@@OR 

vfHkizsj.k dk egRo crkb;sA            

Write the importance of Motivation. 

¼5¼5¼5¼5½½½½ 

iz-20 Hkkjrh; vkS|ksfxd foÙk fuxe ds dk;Z crkb;sA 

Explain the functions of Industrial Financial Corporation of India.    

vFkokvFkokvFkokvFkok@@@@OR 

jkT; foÙk fuxe ds dk;Z crkb;sA        

Explain the functions of State Financial Corporation.  

¼5¼5¼5¼5½½½½ 



[319]  Page 9 of 12                                             ( )                 

iz-21 foKkiu ds mÌs’; crkb;sA  

Explain the objectives of Advertisement.     

vFkokvFkokvFkokvFkok@@@@OR 

,d vPNs fcØhdÙkkZ ds xq.k crkb;sA        

Explain the qualities of a good salesman. 

¼5¼5¼5¼5½½½½ 

 [k.M & [k.M & [k.M & [k.M & ^c^@^c^@^c^@^c^@SECTION – ‘B’ 

fodYifodYifodYifodYi&&&& I /Option – I  

    

iz-22 fjDr LFkku dh iwfrZ dhft,& 

Fill in the blank- 

dk;kZy; fdlh laLFkku dk ,d-----------------------------------foHkkx gksrk gSA 

Office is a…………………department of any Institution.  

¼¼¼¼1111½½½½ 

iz-23 lR;@vlR; esa mÙkj nhft,& 

Answer the following in true or false-    

QsDl }kjk] fyf[kr lans’k Hkstk tk ldrk gSA 

The written message can be sent by fax.    

¼1¼1¼1¼1½½½½ 

iz-24 ,d 'kCn@okD; esa mÙkj nhft,& 

Answer the following in one word/sentence.    

Qkby iz.kkyh dk uke] ftlesa LFkkukUrj.k isVh dk iz;ksx fd;k tkrk gSA 

Name the filing system in which transfer box is used. 

¼1¼1¼1¼1½½½½ 
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iz-25 vuqØef.kdk fdls dgrs gSa\  

What is Indexing? 

¼2½¼2½¼2½¼2½ 

iz-26 dk;kZy; ls D;k vk’k; gS\  

What do you mean by Office?    

¼2½¼2½¼2½¼2½ 

iz-27 ,d vPNh Qkby O;oLFkk ds vfuok;Z rRo crkb;sA 

Explain the essential elements of a good filing system.    

¼4¼4¼4¼4½½½½    

iz-28 vuqØef.kdk ds izdkj crkb;sA 

Explain the types of Indexing.    

¼4¼4¼4¼4½½½½    

iz-29 dk;kZy; ds egRo dks Li"V dhft,A 

Explain the importance of Office.    

¼5¼5¼5¼5½½½½    

 fodYi&fodYi&fodYi&fodYi& II /Option – II     

iz-22 fjDr LFkku Hkfj;s&” 

Fill in the blanks- 

cSad os laLFkk,¡ gaS] tks---------------------------------dk O;olk; djrh gaSA 

Bank are those institutions which are dealing in………………. 

¼1¼1¼1¼1½½½½    

Ikz-23 lR;@vlR; esa mÙkj nhft,& 

Answer the following in true or false-    

cSad dk dk;Z oLrqvksa dk O;kikj djuk gksrk gSA 

Function of the bank is trading of goods. 

¼1¼1¼1¼1½½½½    

iz-24 ,d 'kCn@okD; esa mÙkj nhft,& 

Write answer in one word/sentence-    

Hkkjr ds dsUnzh; cSad dk D;k uke gS\ 

What is the name of Central Bank of India. 

¼1¼1¼1¼1½½½½    
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iz-25 cSad ls D;k vk’k; gS\ 

What do you mean by Bank? 

¼2¼2¼2¼2½½½½    

iz-26 cSad ,oa egktu esa dksbZ nks vUrj crkb;sA 

Write any two differences between Bank and “MAHAJAN”. 

¼2¼2¼2¼2½½½½    

iz-27 Pkkyw [kkrk ,oa cpr [kkrk esa vUrj crkb;sA 

Write the difference between Current Account and Savings  

Account. 

¼4¼4¼4¼4½½½½    

iz-28 okf.kfT;d cSad ds ykHk crkb;sA 

Write the advantages of Commercial Banks. 

¼4¼4¼4¼4½½½½    

iz-29 cSad ds izdkj crkb;sA 

Explain the types of banks. 

¼5¼5¼5¼5½½½½    

 fodYi&fodYi&fodYi&fodYi& III /Option – III     

iz-22 fjDr LFkku dh iwfrZ dhft;s& 
Fill in the blanks- 

dkj[kkuk vf/kfu;e-----------------------------------esa cuk;k x;k FkkA 
Factories Act was passed in………………………. 

¼1¼1¼1¼1½½½½    

iz-23 lR;@vlR; esa mÙkj nhft,& 
Answer the following in true or false-    

Jfed ogh dgykrk gS] tks etnwjh ikrk gSA 
Labour is the person who get wages. 

¼1¼1¼1¼1½½½½    

iz-24 ,d 'kCn@okD; esa mÙkj nhft,& 

Write answer in one word/sentence-    

,d dkj[kkus ds fy, U;wure fdrus Jfed gksuk vko’;d gS\ 
How many minimum labours or workers are required for a 

factory? 

¼1¼1¼1¼1½½½½    

iz-25 dkj[kkus ls D;k vk’k; gS\ 
What do you mean by factory? 

¼2¼2¼2¼2½½½½    

iz-26 dkj[kkuk iz.kkyh ds nks y{k.k crkb;sA 
Write any two characteristics of factory system? 

¼2¼2¼2¼2½½½½    

iz-27 dkj[kkuk Jfedksa ds LokLF; lEca/kh izko/kku crkb;sA 
Explain the provisions related with health of factory workers. 

¼4¼4¼4¼4½½½½    
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iz-28 dkj[kkus esa Jfedksa gsrq lqj{kk ds mik; crkb;sA 
What are the basic requirements for safety of workers in factory? 

¼4¼4¼4¼4½½½½    

iz-29 dkj[kkuk vf/kfu;e 1948 ds vuqlkj dk;Z n’kkvksa ds eq[; izko/kku crkb;sA 
Write the main provisions of working conditions as per the  

Factory Act 1948. 

¼5¼5¼5¼5½½½½    

 fodYi&fodYi&fodYi&fodYi& IV /Option – IV     

iz-22 fjDr LFkku Hkfj;s& 
Fill in the blanks- 

,tsUlh vuqcU/k ds fy,----------------------------------vfuok;Z gSA 
…………..is essential for Agency Contract. 

¼1¼1¼1¼1½½½½    

iz-23 lR;@vlR; esa mÙkj nhft,& 
Answer the following in true or false-    

,d Ok;Ld gh ,tsUV cu ldrk gSA 
An adult can only become an agent. 

¼1¼1¼1¼1½½½½    

iz-24 ,d 'kCn@okD; esa mÙkj nhft,& 

Answer in one word/sentence.    

,tsUV ds izR;sd dk;Z ds izfr dkSu mÙkjnk;h gksrk gS\ 
Who is responsible for each work of an agent? 

¼1¼1¼1¼1½½½½    

iz-25 ,tsUV dks ifjHkkf"kr dhft,A 
Define Agent. 

¼2¼2¼2¼2½½½½    

iz-26 ,tsUlh dh nks fo’ks"krk,¡ crkb;sA 
Write any two characteristics of Agency. 

¼2¼2¼2¼2½½½½    

iz-27 ,tsUV vkSj ukSdj esa varj crkb;sA 
Write the difference between Agent and Servant.  

¼4¼4¼4¼4½½½½    

iz-28 ,tsUV ds izeq[k dÙkZO; crkb;sA 
Explain the main duties of Agent. 

¼4¼4¼4¼4½½½½    

iz-29 foKkiu ,tsUlh dk egRo crkb;sA 
Write the importance of Advertising Agency. 

¼5¼5¼5¼5½½½½    

 

------------------------------- 
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dqy iz’uksa dh la[;k % 29                                                                  dqy i`"Bksa dh la[;k % 16 
Total No. of Questions:  29                                                        Total No. of Pages: 16 

gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018 

320 

fo"k; %fo"k; %fo"k; %fo"k; % ys[kk’kkL=ys[kk’kkL=ys[kk’kkL=ys[kk’kkL=    

Subject: ACCOUNTANCY 

le; % 03 ?k.Vs                                                                           iw.kk±d % 100 

Time: 03 Hours                                                                                                              Maximum Marks: 100 

    

funsZ’k %&funsZ’k %&funsZ’k %&funsZ’k %&        

 (i) blblblbl    iz’u i= esa nks [k.M iz’u i= esa nks [k.M iz’u i= esa nks [k.M iz’u i= esa nks [k.M gSgSgSgSaa aa&&&&    [k.M ^v^ rFkk [k.M ^c^A[k.M ^v^ rFkk [k.M ^c^A[k.M ^v^ rFkk [k.M ^c^A[k.M ^v^ rFkk [k.M ^c^A    

    (ii) [k.M ^v* ds lHkh iz’uks[k.M ^v* ds lHkh iz’uks[k.M ^v* ds lHkh iz’uks[k.M ^v* ds lHkh iz’uksaa aa    dks gy djuk dks gy djuk dks gy djuk dks gy djuk gSgSgSgSAAAA    

 (iii) [k.M [k.M [k.M [k.M ^̂̂̂cccc****    esa nks esa nks esa nks esa nks fodYi gSfodYi gSfodYi gSfodYi gSaa aaA ifj{kkfFkZ;ksA ifj{kkfFkZ;ksA ifj{kkfFkZ;ksA ifj{kkfFkZ;ksaa aa    dks dsoy ,d fodYi ds gh iz’uksa ds mÙkj dks dsoy ,d fodYi ds gh iz’uksa ds mÙkj dks dsoy ,d fodYi ds gh iz’uksa ds mÙkj dks dsoy ,d fodYi ds gh iz’uksa ds mÙkj 

nsus gSnsus gSnsus gSnsus gSaa aaAAAA    

Instructions -  

 (i)   The Question paper consists of two sections, “A” and “B”  

 (ii) All Questions from section “A” are to be attempted.  

           (iii)  Section “B” has got two options, candidates are required to attempt questions 

from one option only.        
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 [k.M&v[k.M&v[k.M&v[k.M&v@@@@Section-A     

iz-1 fjDr LFkkuksa dh iwfrZ dhft,&  

(i) ys[kkadu dk {ks= cgh[kkrk ds {ks= ls-------------------------------------------------------gSA 

(ii) O;kikj ds Lokeh us tks /ku O;kikj esa yxk;k gS] mls------------------------------------- 

dgrs gSaA 

(iii) ykHk gkfu [kkrk ,d---------------------------------------------------------------------------------[kkrk gSA 

(iv) fpëk O;olk; dh---------------------------------------------------------------fLFkfr dks n’kkZrk gSA 

(v) ykHk u dekus okyh laLFkkvksa dk izeq[k mÌs’;---------------------------------gksrk gSA 

¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Fill in the blanks-  

(i) Scope of Accounting is………..….than that of book keeping. 

(ii) The amount that has been contributed by the owner in the 

business is called…………….………. 

(iii) Profit and Loss Account is a….………………………account. 

(iv)   Balance sheet discloses…………..position of the business. 

(v) The main aim of Not-for-profit organisation is providing…..... 

 

iz-2 lR;@vlR; esa mÙkj nhft;s& 

(i) O;ogkjksa dks udycgh esa fy[kus dh fof/k dks [krkSuh dgrs gSaA  

(ii) jksdM+ iqLrd ds jksdM+ LrEHk dk 'ks"k lnSo ukes gksrk gSA 

(iii) etnwjh izR;{k O;; gSA 

(iv) vk;&O;; [kkrk O;fDrxr [kkrk gSA 

(v) lk>snkjh vuqca/k lnSo fyf[kr gksrk gSA 

¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Answer the following in True / False- 

(i) Process of writing transactions in journal is called Posting.  

(ii) The balance of cash column of cash book is always Debit. 

(iii) Wages is a direct expense.  

(iv) Income and expenditure A/c is a Personal Account. 

(v) Partnership agreement is always in writing. 
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iz-3 ,d 'kCn@okD; esa mÙkj nhft,&  

(i) udycgh ds izk:i esa fdrus LrEHk gksrs gSa\ 

(ii) uxn jkf’k vFkok eky] tks Lokeh }kjk Lo;a ds mi;ksx gsrq fudkyk 

tkrk gS] mls dgrs gaS\ 

(iii) leLr izR;{k O;;ksa dks fdl [kkrs esa fy[kk tkrk gS\ 

(iv) vk;&O;; [kkrk fdl [kkrs dh lgk;rk ls cuk;k tkrk gS\ 

¼1¼1¼1¼1××××4444====4444½½½½ 

 Answer the following in one word / sentence-  

(i) How many columns are drawn in the format of Journal? 

(ii) The amount of cash or goods withdrawn by the proprietor 

for personal use is called? 

(iii) In which account all direct expenses are charged? 

(iv) By which account’s help the Income and Expenditure 

Account is prepared? 

 

iz-4 lgh fodYi pqudj fyf[k;s& 

(i) ftl O;fDr dks m/kkj eky cspk tkrk gS] mls dgrs gSa&  

 (a) nsunkj         (b) ysunkj  
 (c) mRiknd                 (d) mijksDr esa ls dksbZ ugha 

¼1¼1¼1¼1××××4444====4444½½½½ 

 (ii) lk>snkjh lays[k ds vHkko esa lk>snkj }kjk fn;s x;s _.k ij C;kt 
fn;k tkrk gS&  

 (a) 4% p.a.     (b)   6% p.a. 

 (c) 9% p.a.     (d)   12% p.a. 

 

 
(iii) v vkSj c 3%1 ds vuqikr ls ykHk gkfu ck¡Vrs gaSA os l dks 

4

1
 Hkkx ds 

fy, lk>snkjh esa izos’k nsrs gSaA muds ykHk foHkktu dk vuqikr gksxk& 

 (a) 10 % 2 % 4     (b)    9 % 3 % 4 
 (c) 8 % 3 % 5            (d)    8 % 5 % 3 

 

 (iv) QeZ ds fo?kVu ij QeZ ds ykHk&gkfu [kkrs dk 'ks"k LFkkukUrfjr fd;k 
tkrk gS%   

 (a) lk>snkjksa ds iw¡th [kkrs esa         (b)    olwyh [kkrs esa  

 (c) ykHk gkfu forj.k [kkrs esa  (d)  mijksDr esa ls dksbZ ugha 
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 Select the correct answer of the following-  

(i) That person to whom, we sell goods on credit is called- 

 (a) Debtor            (b)  Creditor 

 (c) Manufacturer           (d)  None of above 

 

 (ii) In the absence of agreement (partnership deed), Interest is 

given on loan by the partner at: 

 (a) 4% p.a.    (b)  6% p.a. 

 (c) 9% p.a.    (d)  12% p.a. 

 

 (iii) A and B share profits in the ratio of 3:1.They admit C in 

partnership for 
4

1
 share. Their profit sharing ratio will be- 

 (a) 10 : 2 : 4     (b)  9 : 3 : 4 

 (c) 8 : 3 : 5            (d)  8 : 5 : 3 

 

 (iv) The Balance of Profit and Loss A/c of the firm under 

dissolution is transferred to- 

 (a) Partner’s capital A/c   (b)  Realisation A/c 

 (c) Profit & Loss appropriation A/c  (d)  None of the above 

 

iz-5 lgh tksfM+;k¡ cukb;s&         

 (A)              (B) 

(i) vf/kd`r iw¡th    (a) izcU/k esa Hkkfxrk ugha 

(ii) ik"kZn lhek fu;e    (b) va’kkas esa ifjorZu 

(iii) _.k i=/kkjh    (c) jftLVMZ iw¡th 

(iv) ifjorZu }kjk 'kks/ku   (d) dEiuh dh vk/kkj f’kyk 

¼1¼1¼1¼1××××4444====4444½½½½ 

 Match the following-  

 (A)                       (B) 

(i) Authorised capital   (a) No right in Management 

(ii) Memorandum of Association (b) Conversion in shares 

(iii) Debenture holder   (c) Registered capital 

(iv) Redemption by conversion (d) Base of the company 
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iz-6 iqLrikyu ls D;k vk’k; gS\  

What do you mean by Book keeping?    

vFkokvFkokvFkokvFkok@@@@OR 

ys[kkadu fdls dgrs gSa\            

What is Accounting? 

¼2½¼2½¼2½¼2½ 

iz-7 cSad lek/kku fooj.k i= cukus ds dksbZ nks mÌs’; crkb;sA 

Write any two objectives for preparing Bank Reconciliation 

statement.    

vFkokvFkokvFkokvFkok@@@@OR 

ryiV dh ifjHkk"kk nhft;sA            

Define Trial Balance. 

¼2½¼2½¼2½¼2½ 

iz-8 ,d i{kh; v’kqf);k¡ D;k gaS\  

What are single sided errors?    

vFkokvFkokvFkokvFkok@@@@OR 

f}&i{kh; v’kqf);ksa ls D;k vk’k; gS\        

What is meant by double sided errors? 

¼2½¼2½¼2½¼2½ 

iz-9 dEI;wVj dh dksbZ nks fo’ks"krk,¡ crkb;sA” 

Write any two characteristics of computer.    

vFkokvFkokvFkokvFkok@@@@OR 

dEI;wVj dh dksbZ nks lhek,¡ crkb;sA        

Write any two limitations of computer. 

¼2½¼2½¼2½¼2½ 

iz-10 ldy ykHk ls D;k vk’k; gS\ 

What do you mean by Gross profit?    

vFkokvFkokvFkokvFkok@@@@OR 

izR;{k O;; fdls dgrs gSa\            

What do you mean by Direct expenses? 

¼2½¼2½¼2½¼2½ 
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iz-11 fuEufyf[kr O;ogkjkas ls  ys[kkadu lehdj.k rS;kj dhft,& 
  ` 

1- jksdM+ ls O;kikj izkjEHk fd;k   90]000 
2- udn eky [kjhnk   30]000 
3- jtr ls m/kkj eky [kjhnk   15]000 

Prepare Accounting Equation from the following transactions- 
  ` 

1. Commenced business with cash   90,000 
2. Brought goods for cash   30,000 
3. Brought goods from Rajat on credit 15,000 

vFkokvFkokvFkokvFkok@@@@OR 
ys[kkadu izek.kdksa ds izdkj crkb;sA        
Explain in brief the types of Accounting Vouchers. 

¼3¼3¼3¼3½½½½ 

iz-12 fuEufyf[kr O;ogkjkas ls Ø; cgh cukb;s& 
2017  
vizsy 1 nhid ls 500`dk eky 10% O;kikfjd cês ij [kjhnkA  
vizsy 10 ujs'k ls 320` dk eky Ø; fd;kA   
vizsy 16 lat; ls 200`dk eky 5% O;kikfjd cês ij [kjhnkA   

Prepare purchases book from the following transactions-   

2017  

 April 1 Purchased goods from Deepak worth `500 at 10% 

trade discount 

  April 10 Purchased goods from Naresh worth `320   

 April 16 Purchased goods from Sanjay worth `200 at 5% 

trade discount  

vFkokvFkokvFkokvFkok@@@@OR 

eq[; jkstukepk esa fdu ysu&nsuksa dk ys[kk fd;k tkrk gS\        
Which Transactions can be recorded in Journal proper? 

¼3¼3¼3¼3½½½½ 

iz-13 eSuqvy ,oa dEI;wVªhdr̀ ys[kkadu esa varj crkb;sA 
Write difference between Manual Accounting and Computerised 
Accounting.    

vFkokvFkokvFkokvFkok@@@@OR 
dEI;wVªhd`r ys[kkadu i)fr ds fy;s vk/kkjHkwr vko’;drkvksa dk o.kZu 
dhft,A                 
Describe the basic requirements for Computerised Accounting 
system. 

¼3¼3¼3¼3½½½½ 
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iz-14 31 ekpZ 2017 dks uhps fn;s x;s [kkrksa ds 'ks"k ls ryiV cukb;s& 
iw¡th [kkrk 4000`] jksdM+ [kkrk 1020`] Ø; [kkrk 7900`] foØ; [kkrk 
5000`] vkgj.k [kkrk 50`] cêk izkIr 20`] osru [kkrk 50`A 
Prepare a Trial Balance from the following balances of accounts 

on 31 March 2017- 

Capital A/c `4000, Cash A/c `1020, Purchases A/c `7900, 

Sales A/c `5000, Drawings A/c `50, Discount received `20, 

Salary  A/c `50. 

vFkokvFkokvFkokvFkok@@@@OR 

jksdM+ iqLrd ds cSad 'ks"k vkSj ikl cqd ds 'ks"k esa vUrj gksus ds dksbZ pkj 
dkj.kksa dks le>kb;sA                
Explain any four causes of difference in the Bank Balance of 

Cash book and Balance of pass book. 

¼4¼4¼4¼4½½½½ 

iz-15 ,d iqLrdky; ds [kkrksa ls izkIr fuEu lwpukvksa ls 31 ekpZ 2017 ds fy, 
izkfIr Hkqxrku [kkrk cukb;sA  
izkjafHkd jksdM+ 'ks"k 4000` 
izkIr izos’k 'kqYd 600` 
pUnk izkIr 1200` 
fdjk;k pqdk;k 150` 
iqLrdsa [kjhnh 1100` 
lekpkj i= Ø; 500` 
osru fn;k 500` 

Prepare Receipts and Payments A/c for 31 march 2017- 

Opening cash balance `4000 

Entry fee received `600 

Subscription received `1200 

Rent paid `150 

Books purchased `1100 

Newspaper purchased `500 

Salaries paid `500 

vFkokvFkokvFkokvFkok@@@@OR 

izkfIr Hkqxrku [kkrk ,oa vk;&O;; [kkrs esa varj crkb;sA        
Write the difference between Receipts and Payments A/c and 

Income and Expenditure A/c. 

¼4¼4¼4¼4½½½½ 
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iz-16 ,d QeZ esa v]c vkSj l lk>snkj gaS] tks ykHk gkfu 3 % 2 % 1 ds vuqikr esa 

ck¡Vrs gSaA Þcß dks 4200 ̀ okf"kZd osru rFkk Þlß dks dqy fCkØh tks 1]20]000` 

gS] ml ij 3% deh’ku fn;k tkrk gSA QeZ us o"kZ 2017 esa dqy fcØh ij 

10% ykHk vftZr fd;kA QeZ dk ykHk gkfu fu;kstu [kkrk cukb;sA” 

A, B and C who divide profits and losses in the ratio of 3:2:1 are 

partners in a firm. B is allowed a salary of `4200 yearly and C 

gets commission @ 3% on sales which is amounted to            

`1,20,000. In the year 2017 the firm earned profit @ 10% on 

total sales. Prepare profit and loss Appropriation Account. 

vFkokvFkokvFkokvFkok@@@@OR 

LFkk;h iw¡th [kkrk ,oa ifjorZu’khy iw¡th [kkrs esa vUrj crkb;sA        

Differentiate between Fixed capital account & Fluctuating capital 

account. 

¼4¼4¼4¼4½½½½ 

iz-17 v vkSj c 5%3 esa ykHk&gkfu foHkktu djrs gaSA mUgksaus l dks QeZ esa izos’k 

fn;k] tks fd 20]000` iw¡th ds vkSj 6000`[;kfr izC;kft ds fy, ykrk gSA 

mudk u;k ykHkkuqikr 7%4%3 gSA vko’;d udycgh izfof"V;k¡ dhft,A 

A and B share profits and losses in the ratio of 5:3. They admit C 

who brings in `20,000 as capital and `6,000 as premium for 

goodwill. The new profit sharing ratio is 7: 4: 3. Give necessary 

Journal Entries.    

vFkokvFkokvFkokvFkok@@@@OR 

[;kfr dks izHkkfor djus okys dkjd crkb;sA        

Explain the factors which affects on goodwill. 

¼4¼4¼4¼4½½½½ 
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iz-18 Hkkjrh fyfeVsM us 10`okys 12]000 va’k tkjh fd,A bl lEcU/k esa 2`vkosnu 

ij] 4`vkoaVu ij rFkk 4`izFke ,oa vafre ;kpuk ij ns; gSA lHkh jkf’k;k¡ 

;Fkk le; izkIr gks xbaZA dEiuh dh cfg;ksa esa vko’;d iath izfof"V;k¡ 

dhft,A    

Bharti Limited issued 12,000 shares of `10 each. The amount of 

share payable as `2 on application, `4 on allotment and `4 on 

first and final call. All amounts have been duly received. Pass 

necessary Journal Entries in the books of company.     

vFkokvFkokvFkokvFkok@@@@OR 

izhfe;e dh jkf’k dk mi;ksx fdu&fdu dk;ksZa ds fy, fd;k tk ldrk gS\        

For what purposes the amount of premium can be used? 

¼4¼4¼4¼4½½½½ 

iz-19 nhi fyfeVsM us ,d O;olk; dks 3]30]000`esa Ø; fd;kA Ø; ewY; dk 

Hkqxrku 8% _.ki=kas }kjk fd;k x;kA _.ki= 3]00]000`ds Fks] ftUgas bl 

ds fy, 10% izhfe;e ij fuxZfer fd;k x;kA dEiuh dh iqLrdksa ds tuZy 

esa vko’;d izfof"V;k¡ dhft,A 

Deep Limited purchased a business for `3,30,000.Purchase 

price was paid by 8% Debentures. Debentures of `3,00,000 

were issued at 10% premium for the purpose of purchase. Pass 

necessary Journal Entries in the books of the company.    

vFkokvFkokvFkokvFkok@@@@OR 

_.ki=ksa ds izdkj crkb;sA            

Explain the types of Debentures. 

¼¼¼¼4444½½½½ 
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iz-20 [kkrkcgh dk egRo crkb;sA  

Write the importance of Ledger.    

vFkokvFkokvFkokvFkok@@@@OR 

fuEufyf[kr O;ogkjksa dks vt; dh udycgh esa fyf[k,&        

2017  

vizsy 1 
lksgu dks 1600`dk eky 12

2

1
% O;kikfjd cês ij cspkA  

vizsy 4 nku esa 51` uxn ,oa 21` dk eky fn;kA    

vizsy 7 ekfyd us futh iz;ksx gsrq 50`dk eky O;kikj ls fudkykA   

vizsy 10 Lkksgu us 200` ewY; lwph dk eky okil fd;kA   

vizsy 18 jke dks 1]000` dk eky 10% O;kikfjd cêk rFkk 5% jksdM+ 

cês ij udn cspkA 

Enter the following transactions in the Journal of Ajay-  

2017  

April 1 
Sold goods to Sohan worth `1600 @ 12

2

1
 % 

Trade discount. 

 April 4 Gave away as Charity cash `51 and goods worth 

`21.  

April 7 Goods withdrawn by the proprietor for his personal 

use `50.  

April 10 Goods returned by Sohan of the list price of `200. 

April 18 Sold goods worth `1000 less 10% Trade discount 

and 5% cash discount to Ram for cash. 
 

¼5¼5¼5¼5½½½½ 
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iz-21 fuEukafdr ryiV ls 31 ekpZ 2017 dks O;kikj [kkrk] ykHk&gkfu [kkrk o 

fpV~Bk cukb;s& 

 MsfcV `  ØsfMV ` 

Ø;   40]000 iw¡th 15]000 

etnwjh   2]000 foØ; 50]000 

osru   8]000 orZu 7]800 

chek 1]000 cêk 2]400 

fdjk;k ,oa dj 1]200   

Hkou 18]000   

QuhZpj 5000   

 75]200  75]200 

 vafre Lda/k 3500    

From the following Trial Balance prepare Trading A/c, Profit & 

Loss A/c and Balance sheet on 31 march 2017- 

 Debit `  Credit ` 

Purchases   40,000 Capital 15,000 

Wages   2,000 Sales 50,000 

Salaries   8,000 Commission 7,800 

Insurance 1,000 Discount 2,400 

Rant &Taxes 1,200   

Building 18,000   

Furniture 5000   

 75,200  75,200 

Closing stock 3500. 

vFkokvFkokvFkokvFkok@@@@OR 

fpVB~k fdls dgrs gSa\ blds cukus ds mn~ns’; crkb;sA        

What is Balance sheet? What are the objectives of preparing it?  

¼5¼5¼5¼5½½½½ 
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iz-22 vt; vkSj cynso ,d QeZ ds cjkcj ds lk>snkj gSaA 31 ekpZ 2017 dks 
mudk fpVB~k fuEufyf[kr gS& 

nkf;Ro jkf’k ` lEifÙk jkf’k ` 
cSad vf/kfod"kZ   5]000 jksdM+ 10]000 
ns; foi=   7]000 nsunkj 20]000 
ysunkj 8]000 LVkWd 10]000 
iw¡th  miLdj 10]000 
 vt; 20]000   
 cynso 10]000   
 50]000  50]000 

mUgksaus psru d¨ 
4

1
 Hkkx ds fy, u;k lk>snkj cuk;kA og 8000` iw¡th ds 

,oa 6000` [;kfr ds fy, uxn yk;kA QuhZpj dk ewY; 16]000`vkSj LVkWd 
dk ewY; 8]000`vk¡dk x;kA ysunkjksa ij 10% dVkSrh lap; fd;k x;kA 
iquewZY;kadu [kkrk ,oa lk>snkjksa ds iw¡th [kkrs cukb;sA 
Ajay and Baldev are partners in a firm. Their Balance sheet, as 
on 31 march 2017,is as follows- 
Liabilities Amount ` Assets Amount ` 

Bank overdraft   5,000 Cash 10,000 

Bills payable   7,000 Debtor 20,000 

Creditors 8,000 Stock 10,000 

Capital  Furniture 10,000 

  Ajay 20,000   

  Baldev 10,000   

 50,000  50,000 

They admit Chetan as a partner for 
4

1
 share. He brought `8000 

as capital and `6000 as goodwill in cash. Furniture was valued 
at `16,000 and stock at `8000. Provision for discount on 
creditors was created @10%. Prepare revaluation A/c and 
partners capital Accounts. 

vFkokvFkokvFkokvFkok@@@@OR 

lk>snkjh ds fo?kVu vkSj lk>snkjh QeZ ds fo?kVu esa varj crkb;sA        

State the difference between the dissolution of partnership and  

partnership firm. 

¼5¼5¼5¼5½½½½ 
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iz-23 lerk va’k ,oa iwokZf/kdkj va’k esa varj crkb;sA 
Write the difference between Equity shares & Preferences 

shares.    
vFkokvFkokvFkokvFkok@@@@OR 

iou fyfeVsM us 1 vizsy 2013 dks 10]000 12% _.ki=    izR;sd 100`ds 

leewY; ij tkjh fd, ftudk 'kks/ku 31 ekpZ 2017 dks 10% izhfe;e ij 

fd;k tkuk gSA mijksDr O;ogkjksa ds fy;s fuxZeu ,oa 'kks/ku ds le; tuZy 
izfof"V;k¡ dhft,A            
On 1 April 2013, Pawan Limited issued 10,000 12% debentures 

of `100 each at par, redeemable at 10% premium on 31 march 

2017. Record these transactions in the Journal of the company 

at the time of issue and redemption. 

¼5¼5¼5¼5½½½½ 

 [k.M&c@[k.M&c@[k.M&c@[k.M&c@Section-B 

fodYi&fodYi&fodYi&fodYi&I@@@@Option-I 

    

iz-24 fjDr LFkku dh iwfrZ dhft,& 

rqyukRed fooj.k] levkdkj fooj.k rFkk ys[kkadu vuqikr foÙkh; fooj.kksa 

ds fo’ys"k.k ds-------------------------------------------------gSaA 

Fill in the blank -   

Comparative statement, Common size statement and 

Accounting Ratios are the…………………of financial Analysis.    

¼¼¼¼1111½½½½ 

iz-25 lR;@vlR; esa mÙkj nhft;s& 

foÙkh; fooj.k O;olk; dh 'kks/ku {kerk ds lwpd gSaA 

Answer the following in true or false-  

The financial statements are indicators of the solvency of 

business. 

¼1¼1¼1¼1½½½½ 

iz-26 ,d 'kCn@okD; esa mÙkj nhft,& 
ftu nkf;Roksa dk Hkqxrku ,d o"kZ ds vUnj gksrk gS] mUgsa D;k dgrs gaS\ 
Answer the following in one word/sentence- 
What are the liabilities which are payable under one year called? 

¼1¼1¼1¼1½½½½    
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iz-27 fuEufyf[kr lwpukvksa ls rqyukRed fooj.k i= 31 ekpZ 2016 ,oa 31 ekpZ 
2017 dks lekIr o"kZ gsrq cukb;sA 
fooj.k 2016 ` 2017 ` 
foØ;   2]40]000 3]00]000 
csps x;s eky dh ykxr  1]40]000 1]50]000 
vizR;{k O;;   40]000 50]000 
dj vk;kstu 12]000 20]000 

From the following information, prepare Comparative statement 

for the year ended 31 march 2016 and 31 march 2017- 

Particulars `2016 `2017 

Sales  2,40,000 3,00,000 

Cost of goods sold   1,40,000 1,50,000 

Indirect Expenses 40,000 50,000 

Provision for tax 12,000 20,000 
 

¼3¼3¼3¼3½½½½    

iz-28 fuEu lwpukvksa ls pkyw vuqikr ,oa rjy vuqikr Kkr dhft,& 
pkyw nkf;Ro 1]30]000 
rjy lEifÙk;k¡ 2]40]000 
LdU/k 20]000 

Calculate Current and Liquid Ratios from the following 

informations- 

Current liabilities 1,30,000 

Liquid Assets 2,40,000 

Stock 20,000 

         

¼4¼4¼4¼4½½½½    

iz-29 jksdM+ izokg fooj.k cukus ds mÌs’; crkb;sA 

Explain the objectives of preparing Cash flow statement. 

 

¼5¼5¼5¼5½½½½    

 fodYifodYifodYifodYi&&&&II@@@@Option-II     

iz-24 fjDr LFkku dh iwfrZ dhft,& 
------------------------¾ vizR;{k lkexzh $ vizR;{k etnwjh $ vizR;{k O;; 

Fill in the blank- 

……….= Indirect material + Indirect Labour + Indirect expenses 

¼1¼1¼1¼1½½½½    
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iz-25 ,d 'kCn@okD; esa mÙkj nhft,& 

ys[kkadu dh i)fr ftlls mRiknu dh izfr bdkbZ ykxr fudkyh tkrh gS] 

mls dgrs gSa\ 

Answer the following in one word/sentence- 

The branch of accounting in which we find out the cost per unit 

of the product is called? 

¼1¼1¼1¼1½½½½    

iz-26 lR;@vlR; esa mÙkj nhft,& 

ykxr ys[kkadu egRoiw.kZ xSj&ekSfnzd lwpukvksa dks izdV djrk gSA 

Answer the following in true or false-  

Cost Accounting discloses Non-monetary information. 

¼1¼1¼1¼1½½½½ 

iz-27 fuEu fooj.kksa ls ewy ykxr dh x.kuk dhft,& 

fooj.k jkf’k ` 

Ø; dh xbZ lkexzh dh ykxr   30]000 

lkexzh dk izkjfEHkd LVkWd  6]000 

lkexzh dk vafre LVkWd   4]000 

etnwjh dk Hkqxrku 3]000 

mRiknu gsrq fdjk;s ij yh xbZ e’khu dk fdjk;k 5]000 

Calculate the prime cost from the following information- 

Particulars `Amount 

Cost of material purchased 30,000 

Opening stock of material   6,000 

Closing stock of material  4,000 

Wages paid 3,000 

Rent paid for machinery used in production 5,000 
 

¼¼¼¼3333½½½½ 
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iz-28 fuEu lwpukvksa ls eky ds foØ; ewY; dh x.kuk djks&  

fooj.k jkf’k ` 

mRiknu dh dqy ykxr   1]45]000 

rS;kj eky dk izkjafHkd LVkWd  22]000 

rS;kj eky dk vafre LVkWd   6]000 

foØ; ,oa forj.k mifjO;;  25]000 

ykHk 22]000 

Calculate sales price from the following information- 

Particulars `Amount 

Total cost of production 1,45,000 

Opening stock of finished goods  22,000 

Closing stock of finished goods 6,000 

Sales & distribution overheads 25,000 

Profit 22,000 

 

¼4¼4¼4¼4½½½½    

iz-29 LVkWd ds fofHkUu Lrj¨a dk o.kZu dhft,A 

Describe the various stock levels. 

¼5¼5¼5¼5½½½½    

------------------------------- 
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dqy iz’uksa dh la[;k % 23                                              dqy i`"Bksa dh la[;k % 08 

Total No. of Questions: 23                                                         Total No. of Pages: 08 

gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018gk;j lsds.Mjh ijh{kk] twu & 2018 

321 
fo"k; %fo"k; %fo"k; %fo"k; % x`g foKkux`g foKkux`g foKkux`g foKku    

Subject: HOME SCIENCE 

(Hindi and English Version) 

le; % 03 ?k.Vs                                                                           iw.kk±d % 075 

Time: 03 Hours                                                                   Maximum Marks: 075 

funsZfunsZfunsZfunsZ’k %&’k %&’k %&’k %&    

    (i)    iz’u i= nks [k.Mksiz’u i= nks [k.Mksiz’u i= nks [k.Mksiz’u i= nks [k.Mksaa aa    esa cesa cesa cesa cVk gSA [k.M ^v* ,oa [k.M ^c*AVk gSA [k.M ^v* ,oa [k.M ^c*AVk gSA [k.M ^v* ,oa [k.M ^c*AVk gSA [k.M ^v* ,oa [k.M ^c*A    
    (ii)    [k.M[k.M[k.M[k.M    ^v^v^v^v****    ds lHkh iz’u gy djuk vfuok;Z gS] ds lHkh iz’u gy djuk vfuok;Z gS] ds lHkh iz’u gy djuk vfuok;Z gS] ds lHkh iz’u gy djuk vfuok;Z gS] iz’u Øekad 01 ls 04 rd oLrqfu"B iz’u Øekad 01 ls 04 rd oLrqfu"B iz’u Øekad 01 ls 04 rd oLrqfu"B iz’u Øekad 01 ls 04 rd oLrqfu"B 

iz’u gSiz’u gSiz’u gSiz’u gSaa aaAAAAizR;sd izR;sd izR;sd izR;sd iz’u ds lEeq[k mlds vad vkoafVr gSiz’u ds lEeq[k mlds vad vkoafVr gSiz’u ds lEeq[k mlds vad vkoafVr gSiz’u ds lEeq[k mlds vad vkoafVr gSaa aaAAAA    
                    (iii)    iz’u Øekad 05 ls 09 rd izR;sd iz’u ds fy, 2 vad vkoafVr gSiz’u Øekad 05 ls 09 rd izR;sd iz’u ds fy, 2 vad vkoafVr gSiz’u Øekad 05 ls 09 rd izR;sd iz’u ds fy, 2 vad vkoafVr gSiz’u Øekad 05 ls 09 rd izR;sd iz’u ds fy, 2 vad vkoafVr gSaa aa] ] ] ] iz’uksa dk mRrj iz’uksa dk mRrj iz’uksa dk mRrj iz’uksa dk mRrj 

yxHkx 30 ’kCnksa esa nhft,AyxHkx 30 ’kCnksa esa nhft,AyxHkx 30 ’kCnksa esa nhft,AyxHkx 30 ’kCnksa esa nhft,A    
    (iv)    iz’u Øekad 10 ls 15 rd izR;sd iz’u ds fy, 3 vad vkoafVr gSiz’u Øekad 10 ls 15 rd izR;sd iz’u ds fy, 3 vad vkoafVr gSiz’u Øekad 10 ls 15 rd izR;sd iz’u ds fy, 3 vad vkoafVr gSiz’u Øekad 10 ls 15 rd izR;sd iz’u ds fy, 3 vad vkoafVr gSaa aa] ] ] ] iz’uksa ds mRrj iz’uksa ds mRrj iz’uksa ds mRrj iz’uksa ds mRrj 

yxHkx 50 ’kCnksa esayxHkx 50 ’kCnksa esayxHkx 50 ’kCnksa esayxHkx 50 ’kCnksa esa    nhft,A nhft,A nhft,A nhft,A     

                                            (v) iiiiz’u Øekad 16 ls 18 rd izR;sd iz’u ds fy, 4 vad vkoafVr gSz’u Øekad 16 ls 18 rd izR;sd iz’u ds fy, 4 vad vkoafVr gSz’u Øekad 16 ls 18 rd izR;sd iz’u ds fy, 4 vad vkoafVr gSz’u Øekad 16 ls 18 rd izR;sd iz’u ds fy, 4 vad vkoafVr gSaa aaA A A A iz’uksa ds mRrj iz’uksa ds mRrj iz’uksa ds mRrj iz’uksa ds mRrj 

yxHkx 75 ’kCnksa esa nhft,A yxHkx 75 ’kCnksa esa nhft,A yxHkx 75 ’kCnksa esa nhft,A yxHkx 75 ’kCnksa esa nhft,A     

    (vi)    [k.M ^c[k.M ^c[k.M ^c[k.M ^c****    esa rhu oSdfYid Hkkx gS esa rhu oSdfYid Hkkx gS esa rhu oSdfYid Hkkx gS esa rhu oSdfYid Hkkx gS vvvv] ] ] ] cccc] ,oa ] ,oa ] ,oa ] ,oa llllA buesa ls dksbZ ,d gy djuk gSA   A buesa ls dksbZ ,d gy djuk gSA   A buesa ls dksbZ ,d gy djuk gSA   A buesa ls dksbZ ,d gy djuk gSA       

                                                  izR;sd iz’u ds lEeq[k mlds izR;sd iz’u ds lEeq[k mlds izR;sd iz’u ds lEeq[k mlds izR;sd iz’u ds lEeq[k mlds vad vkoafVr gSaAvad vkoafVr gSaAvad vkoafVr gSaAvad vkoafVr gSaA    

Note:- 

 (i) Question paper is divided in two parts: Part ‘A’ and Part ‘B’. 

 (ii) All questions in part ‘A’ are compulsory. Question No.1 to 04 are objective types. 

Each question is allotted 5 marks.     

 (iii) Question No. 5 to 9 carry 2 marks each. Write the answer in approx. 30 words 

each.   

                    (iv) Question No. 10 to 15 carry 3 marks each. Write the answer in approx. 50 words 

each. 

              (v)  Question No. 16 to 18 carry 4 marks each. Write the answer in approx. 75 words 

each. 

  (vi) Part ‘B’ consists of three electives A, B and C. Attempt any one of them. Marks 

are given in front of each of them.  
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[k.M & [k.M & [k.M & [k.M & ^̂̂̂vvvv^̂̂̂    

SECTION – ‘A’ 

iz-1 lgh fodYi pqudj fyf[k;s %&                                               ¼5½¼5½¼5½¼5½ 

 ¼v½ x`gfoKku dk vFkZ gS & 

  (i) ?kj dk izca/ku 

  (ii) lalk/kuksa ds izca/ku dh dyk 

  (iii) ?kj dks ltkus dh dyk 

 (iv) ?kj ij dke djus dk foKku 

 

 ¼c½ dk;Z ljyhdj.k ls & 

  (i) de le; [kpZ gksrk gSA 

  (ii) 'kfDr@ÅtkZ dh cpr gksrh gSA 

  (iii) le; vkSj ÅtkZ dh cpr gksrh gSA 

 (iv) midj.kksa dk iz;ksx gksrk gSA 

 

 ¼l½ fd’kksjkoLFkk dh vof/k fuEu ds e/; gS & 

  (i) tUe vkSj cpiu 

  (ii) cpiu vkSj o;Ld 

  (iii) o;Ld vkSj o`)koLFkk 

  (iv) cpiu vkSj o`)koLFkk 

 

 ¼n½ ykSg rRo dh deh ls gksrk gS & 

  (i) LdohZ 

  (ii) ,uhfe;k ¼jDrkYirk½ 

  (iii) ?ksa?kk 

  (iv) jrkSa/kh  

 

 ¼b½ pkoy dk HkaMkj.k djus esa bUgsa iz;qDr fd;k tk ldrk gS & 

  (i) uhe ds iÙks 

  (ii) fo’ks"k vk;qosZfnd xksfy;k¡ 

  (iii) ued vkSj gYnh 

  (iv) mijksDr lHkh 
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 Choose the correct option-   

 (a) Home Science means – 

  (i) The Science of managing a home. 

  (ii) The art of managing your resources. 

  (iii) The art of decorating your home. 

 (iv) The Science of doing work at home. 

 

 (b) Work simplification leads to – 

  (i) Spending less time 

  (ii) Saving energy  

  (iii) Saving time and energy 

 (iv) Use of gadgets 

 

 (c) Adolescence is the period between –  

  (i) Birth and Childhood 

  (ii) Childhood and Adulthood 

  (iii) Adulthood and Old age 

  (iv) Childhood and Old age 

 

 (d) Deficiency of Iron Causes –  

  (i) Scurvy 

  (ii) Anemia 

  (iii) Goitre 

 (iv) Night blindness 

 

 (e) Rice can be stored using – 

  (i) Neem leaves 

  (ii) Special Ayurvedic tablets  

  (iii) Lumps of salt and turmeric 

 (iv) All of the above 
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iz-2 fjDr LFkkuksa dh iwfrZ dhft,&  

(i) [kqys [kk| inkFkksaZ esa ---------------------------------------------- dh vf/kd lEHkkouk gSA 

(ii) izFke nks lky esa otu vkSj dn ------------------------------ xfr ls c<+rk gSA 

(iii) Åu ------------------------------------ rUrq gSaA 

(iv) jaxhu lwrh oL= dks -------------------------------------- esa lq[kkuk pkfg;sA 

(v) jksxkas dk mipkj nokb;k¡ vkSj ----------------------------------- ds }kjk gks ldrk gSA 

¼¼¼¼5½5½5½5½ 

 Fill in the blanks:- 

(i) The food items sold loose have high chances of …………... 

(ii) During the first two years, height and weight increase at a 

………… rate. 

(iii) Wool is a …………………………….. fibre. 

(iv) Coloured cotton articles should be dried in the ……………. . 

(v) Diseases can be treated by medicines and …………………  

        also. 

 

iz-3 ,d okD; esa mÙkj nhft, %&                                               

¼v½ O;; fdls dgrs gSa\ 

¼c½ dk;Z laxBu dh ifjHkk"kk fyf[k;sA 

¼l½ cqukbZ fdls dgrs gSa\ 

¼n½ larqfyr vkgkj fdls dgrs gSa\ 

¼b½ [kk| ifjj{k.k fdls dgrs gSa\ 

¼5½¼5½¼5½¼5½ 

 Write the answer in one sentence:– 

(a) What is expenditure? 

(b) Write the definition of work organisation. 

(c) What is Knitting? 

(d) What is Balanced Diet? 

(e) What is food preservation? 
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iz-4 lgh tksM+h cukb,&         
  ¼v½¼v½¼v½¼v½                                                                                                                            ¼¼¼¼cccc½½½½    
(i) vk;ksMhu      (i) de phuh okys Hkkstu 

(ii) e/kqesg                           (ii) lwrh] vo’kks"k.k okys 
(iii) fuos’k laLFkk                     (iii) xksan dk dyQ 

(iv) f’k’kq ds diM+ss    (iv) ?ksa?kk ¼Xok;Vj½ 

(v) js’keh oL=     (v) Mkd?kj 

¼5½¼5½¼5½¼5½ 

 Match the columns:-  

     (A)                                            (B) 

(i) Iodine    (i) Low sugar diet 

(ii) Diabetes    (ii) Made of absorbent cottons 

(iii) Institute of Investment  (iii) Gum starch 

(iv) Baby garments  (iv) Goitre 

(v) Silk cloth    (v) Post office 

 

iz-5 osru jkstxkj ,oa Lojkstxkj esa D;k varj gS\        
What is the differences between Wage and Self employment? 

¼2¼2¼2¼2½½½½ 

iz-6 lksyj dqdj mi;ksx ds ykHk fyf[k;sA 
Write the advantages of using Solar Cooker. 

¼2½¼2½¼2½¼2½ 

iz-7 MªkbZDyhfuax fdls dgrs gSa\ fdUgha nks vo’kks"kdksa ds uke fyf[k;sA 
What is Dry cleaning? Write any two names of Absorbents. 

¼2½¼2½¼2½¼2½ 

iz-8 dkcksZgkbMªsV dk eq[; dk;Z ,oa izkfIr ds lk/ku fyf[k;sA 
Write the main functions and sources of Carbohydrates. 

¼2½¼2½¼2½¼2½ 

iz-9 ,Utkbeksa ds izHkko dks jksdus ds dksbZ nks mik; fyf[k;sA 
Write any two methods of preventing the effect of enzymes. 

¼2½¼2½¼2½¼2½ 

iz-10 miHkksDrk ds d¨bZ rhu vf/kdkj le>kb;sA 
Explain any three Consumers Rights. 

¼¼¼¼3333½½½½ 

iz-11 cSad esa iSlk tek djus ds ykHk fyf[k;sA 
Write the advantages of keeping money in a bank. 

¼¼¼¼3333½½½½ 

iz-12 i;kZoj.k vid"kZ ds dksbZ rhu dkj.k le>kb;sA 
Write any three causes of environment degradation. 

¼3¼3¼3¼3½½½½ 

iz-13 mRifÙk ds vk/kkj ij rUrq dk oxhZdj.k dhft;sA 
Write the classification of fibre on the basis of Origin. 

¼3¼3¼3¼3½½½½ 

iz-14 dqiks"k.k ds dksbZ rhu dkj.k le>kb;sA 
Explain any three causes of Malnutrition. 

¼3¼3¼3¼3½½½½ 
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iz-15 “kstu dk j[k&j[kko djrs le; fdu ckrksa dk /;ku j[kuk pkfg;s\ 

What precautions should be taken while handling food? 

¼¼¼¼3333½½½½ 

iz-16 cky Je ds dksbZ pkj dkj.k le>kb;sA   

Explain any four causes of Child Labour. 

vFkok@vFkok@vFkok@vFkok@OR 

fd’kksjkoLFkk esa gksus okys 'kkjhfjd ifjorZuksa dks le>kb;sA 

Explain the Physical changes that occur during adolescence. 

¼¼¼¼4444½½½½ 

iz-17 /kCck NqM+krs le; dkSu lh lko/kkfu;k¡ viuk,axs\   

What are the general precautions to be taken for removing 

stains?   

vFkok@vFkok@vFkok@vFkok@OR 

oL=kas dk j[k&j[kko djrs le; fdu ckrksa dk /;ku j[kuk pkfg;s\  

What things should be kept in mind for maintaining of  

clothes? 

¼¼¼¼4444½½½½ 

iz-18 iks"kd rRo dh ekax dks izHkkfor djus okys dksbZ pkj dkjdksa dks le>kb;sA   

Explain any four factors which affect the requirement of 

Nutrients?  

vFkok@vFkok@vFkok@vFkok@OR 

“kstu ds dksbZ pkj izeq[k dk;ksZa dk o.kZu dhft;sA 

Describe any four main functions of food. 

¼¼¼¼4444½½½½ 

 [k.M & c[k.M & c[k.M & c[k.M & c    @@@@    PART -  B 

oSdfYid Hkkx & oSdfYid Hkkx & oSdfYid Hkkx & oSdfYid Hkkx & vvvv@@@@    ELECTIVE -  A    

    

iz-19 uSnkfud fujh{k.k D;k gS\  

What is Clinical Examination? 

¼¼¼¼1111½½½½ 

iz-20 iks"k.k f’k{kk dh fof/k;k¡ fyf[k;s\ 

Write the methods of Nutrition Education. 

¼3¼3¼3¼3½½½½ 
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iz-21 vk;ksMhu dk ’kjhj esa D;k egRo gS\ 

What is the Importance of Iodine in our body? 

¼3¼3¼3¼3½½½½ 

iz-22 Dokf’kvksjdj jksx ds dksbZ pkj y{k.k le>kb;sA 

Explain any four symptoms of Kwashiorkor disease. 

vFkok@vFkok@vFkok@vFkok@OR 

ejkLel jksx ds dksbZ pkj y{k.k le>kb;sA 

Explain any four symptoms of Marasmus disease. 

¼¼¼¼4444½½½½ 

iz-23 ¶yksjksfll jksx D;k gS\ ;g fdrus izdkj dk gksrk gS\ le>kb;sA   

What is Fluorosis disease? It is of how many types? Explain it.  

vFkok@vFkok@vFkok@vFkok@OR 

foVkfeu & ^,^ dh deh ls gksus okys dksbZ nks jksxksa dks le>kb;sA 

Explain any two diseases that occur due to vitamin–A deficiency. 

¼¼¼¼4444½½½½ 

 oSdfYid Hkkx & oSdfYid Hkkx & oSdfYid Hkkx & oSdfYid Hkkx & cccc@@@@    ELECTIVE -  B        

iz-19 [ksy dsUæ fdls dgrs gSa\  

 What is play centre? 

¼1¼1¼1¼1½½½½ 

iz-20 o`f) ,oa fodkl dks izHkkfor djus okys fdUgha rhu dkjdksa dks le>kb;sA 

Explain any three factors affecting the growth and development.  

¼3¼3¼3¼3½½½½ 

iz-21 [ksy dsUæ ds f’k{kd dk cPpksa ds izfr D;k mÙkjnkf;Ro gS\ 

What are the responsibilities of a play centre teacher towards  

children? 

¼3¼3¼3¼3½½½½    

iz-22 nh?kZdkyhu rFkk vYidkyhu ;kstuk esa varj crkb,A 

Write the difference between long term and short term planning.  

vFkok@vFkok@vFkok@vFkok@OR 

vkgkj dk;ZØe fu/kkZfjr djrs le; /;ku esa j[kus ;ksX; dksbZ pkj dkjdksa dks  

crkb,A 

State four points to be kept in mind while organising feeding  

programme. 

¼4½¼4½¼4½¼4½    
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iz-23 [ksy dsUæ vkSj ?kj ds laca/k dks dSls izHkkoh cuk;k tk;s\   

How to make play centre–Home relations effective?  

vFkokvFkokvFkokvFkok@OR 

cPpksa dh O;kogkfjd leL;kvksa ds D;k dkj.k gksrs gSa\ 

What are the causes of behaviour problems in children? 

¼4½¼4½¼4½¼4½    

 oSdfYid Hkkx & oSdfYid Hkkx & oSdfYid Hkkx & oSdfYid Hkkx & llll@@@@    ELECTIVE -  C     

iz-19 fMVjtsUV fdls dgrs gSa\  

What are detergents? 

¼1¼1¼1¼1½½½½ 

iz-20 uhy fdls dgrs gaS\ blds izdkj fyf[k;sA 

What is bluing? Write the types of bluing. 

¼¼¼¼3333½½½½ 

iz-21 js’ke ¼flYd½ dh dksbZ rhu fo’ks"krk;sa fyf[k;sA 

Write any three characteristics of Silk. 

¼3½¼3½¼3½¼3½ 

iz-22 /kqykbZ ds fy, oL=ksa dh rS;kjh ls vki D;k le>rs gSa\ 

What do you understand by preparation of clothes for  

washing?  

vFkokvFkokvFkokvFkok@OR 

vki fuEu nkx dSls NqM+k;saxs\ 

¼1½ pk; 

¼2½ gYnh 

How will you remove the following stains? 

(1) Tea 

(2) Turmeric (Haldi) 

¼4½¼4½¼4½¼4½    

iz-23 /kqykbZ dh dksbZ nks fof/k;k¡ le>kb;sA   

Explain any two methods for washing.  

vFkok@OR 

/kqykbZ ds fdUgha pkj midj.kksa dk o.kZu dhft;sA 

Describe any four equipments for Laundering. 

¼4½¼4½¼4½¼4½    

 

------------------------------- 
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fo"k; % fo"k; % fo"k; % fo"k; %  vk’kqfyfi fgUnh ¼vk’kqfyfi fgUnh ¼vk’kqfyfi fgUnh ¼vk’kqfyfi fgUnh ¼llllSSSS)k)k)k)kffffUrUrUrUrdddd½½½½    

Subject: SHORTHAND HINDI (PRINCIPLES) 
le; % 03 ?k.Vs                                                                           iw.kk±d % 100 
Time: 03 Hours                                                                   Maximum Marks: 100 

 [k.M ^^v^^[k.M ^^v^^[k.M ^^v^^[k.M ^^v^^        

 funsZ’k %funsZ’k %funsZ’k %funsZ’k %    

                        ¼1½    ¼1½    ¼1½    ¼1½    [k.M ^^v^^ ,oa [k.M ^^c^^ gsrq ijh{kkfFkZ;ksa dks VkbijkbVj [k.M ^^v^^ ,oa [k.M ^^c^^ gsrq ijh{kkfFkZ;ksa dks VkbijkbVj [k.M ^^v^^ ,oa [k.M ^^c^^ gsrq ijh{kkfFkZ;ksa dks VkbijkbVj [k.M ^^v^^ ,oa [k.M ^^c^^ gsrq ijh{kkfFkZ;ksa dks VkbijkbVj 

@ dEI;wVj dh O;oLFkk Lo;a djuh gksxhA@ dEI;wVj dh O;oLFkk Lo;a djuh gksxhA@ dEI;wVj dh O;oLFkk Lo;a djuh gksxhA@ dEI;wVj dh O;oLFkk Lo;a djuh gksxhA    

                        ¼¼¼¼2222½    [k.M ^^v^^ ,oa [k.M ½    [k.M ^^v^^ ,oa [k.M ½    [k.M ^^v^^ ,oa [k.M ½    [k.M ^^v^^ ,oa [k.M ^^c^^ fMDVs’ku ,oa vuqoknA^^c^^ fMDVs’ku ,oa vuqoknA^^c^^ fMDVs’ku ,oa vuqoknA^^c^^ fMDVs’ku ,oa vuqoknA    

                        ¼¼¼¼3333½    [k.M ^^l^^ lS)ka½    [k.M ^^l^^ lS)ka½    [k.M ^^l^^ lS)ka½    [k.M ^^l^^ lS)kafrd A frd A frd A frd A     

                        ¼¼¼¼4444½    ½    ½    ½    i;Zos{kd dk nkf;Ro gksxk fd os lHkh ijh{kkfFkZ;ksa ds i;Zos{kd dk nkf;Ro gksxk fd os lHkh ijh{kkfFkZ;ksa ds i;Zos{kd dk nkf;Ro gksxk fd os lHkh ijh{kkfFkZ;ksa ds i;Zos{kd dk nkf;Ro gksxk fd os lHkh ijh{kkfFkZ;ksa ds             

                                                dEI;wVj dh tk¡p djsaxsdEI;wVj dh tk¡p djsaxsdEI;wVj dh tk¡p djsaxsdEI;wVj dh tk¡p djsaxsA rr~i’pkr~ gh ijh{kk esa mi;ksx esa A rr~i’pkr~ gh ijh{kk esa mi;ksx esa A rr~i’pkr~ gh ijh{kk esa mi;ksx esa A rr~i’pkr~ gh ijh{kk esa mi;ksx esa     

                                                yk;k tk,Ayk;k tk,Ayk;k tk,Ayk;k tk,A    
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le;% 4le;% 4le;% 4le;% 45555    feuV              feuV              feuV              feuV                                          izk;ksfxd ijh{kkizk;ksfxd ijh{kkizk;ksfxd ijh{kkizk;ksfxd ijh{kk                                                                                                            iw.kk±iw.kk±iw.kk±iw.kk±d% 4d% 4d% 4d% 40000        

fMDVs’fMDVs’fMDVs’fMDVs’kkkku%u%u%u%    00005555    feuVfeuVfeuVfeuV    

vuqokn ,oa Vad.k vof/k% vuqokn ,oa Vad.k vof/k% vuqokn ,oa Vad.k vof/k% vuqokn ,oa Vad.k vof/k% 45454545    feuVfeuVfeuVfeuV    

 Hkkjr 'kkafrfiz; ns’k gSA og jk"Vªksa ds chp reke >xM+ksa dks 'kkafriwoZd 

okrkZ }kjk fuIkVkus dh uhfr ij lnk pyrk jgk gS vkSj la;qDr jk"Vªla?k 

esa rFkk vU; vUrjkZ"Vªh; laxBuksa rFkk lEesyuksa esa iw.kZfujL=hdj.k ds 

fy, la?k"kZ djrk jgk gSA fdUrq tc rd ,slh 'kfDr;k¡ fo|eku gSa] tks 

vU; jk"Vªksa dks nckus ds fy, 'kfDr dk mi;ksx djuk pkgrh gaS] rc rd 

viuh Lora=rk vkSj Lok/khu thou dh j{kk ds fy;s Hkkjr dks viuh 

izfrj{kk ds mik; Hkh djrs jguk gSA iM+kslh vkSj dy rd ds fe= phu 

ds fo’okl?kkrh vkØe.k ls bldh vko’;drk vkSj Hkh Li"V gks xbZ gSA 

     D;k nwljksa ds cy ij viuh izfrj{kk gks ldrh gS\ dHkh ughaA tks 

O;fDr nwljksa ds cy ij viuh izfrj{kk dh ckr lksprk gS] og vUrr% 

vius lcy fe= dk fe= ugha jg tkrk] nkl cu tkrk gSA ;gh ckr 

jk"Vªksa ds fy;s lp gSA viuh izfrj{kk ds uke ij tks jk"Vª fdlh 

'kfDr’kkyh jk"Vª ds QkSth xqV esa 'kkfey gks x, gSa] os lpeqp viuh 

Lok/khurk ls gkFk /kks cSBs gSaA 
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[k.M ^^[k.M ^^[k.M ^^[k.M ^^cccc^^^^^^^^    

le;% 4le;% 4le;% 4le;% 45555    feuV                                                              iw.kk±feuV                                                              iw.kk±feuV                                                              iw.kk±feuV                                                              iw.kk±d% d% d% d% 30303030        

fMDVs’fMDVs’fMDVs’fMDVs’kkkku%u%u%u%    00005555    feuVfeuVfeuVfeuV    

vuqokn ,oa Vad.k vof/k% vuqokn ,oa Vad.k vof/k% vuqokn ,oa Vad.k vof/k% vuqokn ,oa Vad.k vof/k% 45454545    feuVfeuVfeuVfeuV 

 

 

e/;izns’k 'kklu 

lkekU; iz’kklu foHkkx   

Øek¡d@3621@,d ¼4½                Hkksiky] fnuk¡d&07 ekpZ 2017 

izfr] 

       leLr lfpo] 

       leLr fo’ks"k lfpo]    

       leLr lEHkkxh; vk;qDr] 

       leLr foHkkxk/;{k] 

       e/;izns’k 'kkluA 

fo"k;& 'kkldh; dk;kZy; esa Vh Dyc cUn fd;s tkus ckcr~A 

 

      'kklu ds /;ku esa ;g ckr ykbZ xbZ gS fd 'kkldh; dk;kZy;ksa esa 

e/;kUrj ds le; vf/kdkfj;ksa ,oa deZpkfj;ksa }kjk lkewfgd :i ls cSBdj 

pk; ih tkrh gSA bl izdkj ds lewgksa dks lkekU;r% dk;kZy; Vh Dyc ds uke 

ls tkuk tkrk gSA ;nk&dnk ;g ns[kk x;k gS fd Vh Dyc ds lnL;x.k 

fu/kkZfjr le; ds ckn Hkh Vh Dyc esa cSBs jgrs gSaA bl n`f"V ls 'kklu us 

fu.kZ; fy;k gS fd mUgsa rRdky cUn fd;k tk,A 

fo'ks"k lfpo] 

e/;izns’k 'kklu] 

                                                          Hkksiky   

 

 



 

[324]  Page 4 of 4                                            ( )                 

[k.M ^^[k.M ^^[k.M ^^[k.M ^^llll^^^^^^^^ 
vk'kqfyfi fgUnh lS)kvk'kqfyfi fgUnh lS)kvk'kqfyfi fgUnh lS)kvk'kqfyfi fgUnh lS)kafrdafrdafrdafrd 

le;% 1 le;% 1 le;% 1 le;% 1 ?k.Vk?k.Vk?k.Vk?k.Vk    30 30 30 30 feuV                              feuV                              feuV                              feuV                                                                                                                              iw.kk±iw.kk±iw.kk±iw.kk±d% d% d% d% 30 30 30 30  
 funsZ’k %funsZ’k %funsZ’k %funsZ’k %    

lHkh iz’u vfuok;Z gSlHkh iz’u vfuok;Z gSlHkh iz’u vfuok;Z gSlHkh iz’u vfuok;Z gSaa aaA iz’uksa ds mÙkj lqokPA iz’uksa ds mÙkj lqokPA iz’uksa ds mÙkj lqokPA iz’uksa ds mÙkj lqokP; ,oa lqLi"V gksaA tgk¡      ; ,oa lqLi"V gksaA tgk¡      ; ,oa lqLi"V gksaA tgk¡      ; ,oa lqLi"V gksaA tgk¡      
vko’;d gks ogk¡ vk’kqfyfi dh vkmVvko’;d gks ogk¡ vk’kqfyfi dh vkmVvko’;d gks ogk¡ vk’kqfyfi dh vkmVvko’;d gks ogk¡ vk’kqfyfi dh vkmV    ykbu ykbu ykbu ykbu cukb;sAcukb;sAcukb;sAcukb;sA 

 

iz-1 vk'kqfyfi D;k gS\ ¼1½¼1½¼1½¼1½ 
iz-2 fgUnh Hkk"kk esa fdrus O;atu gSa\ ¼1½¼1½¼1½¼1½ 
iz-3 O;atuksa ds oxhZdj.k fdrus gSa\ ¼1½¼1½¼1½¼1½ 
iz-4 vk'kqfyfi js[kk{kjksa dh cukoV dk D;k vk/kkj gS\ ¼1½¼1½¼1½¼1½ 
iz-5 D;k ,d ls vf/kd js[kkvksa dks vkil esa feyk;k tk ldrk gS\ ¼1½¼1½¼1½¼1½ 
iz-6 js[kkvksa dks feykrs le; isafly dks mBk;k tkrk gS] vFkok ughaA ¼1½¼1½¼1½¼1½ 
iz-7 'kCn fpUg dk iz;ksx fdl izdkj ds 'kCnksa ds fy, fd;k tkrk gS\ ¼1½¼1½¼1½¼1½ 
iz-8 D;k okD;ka’k ,d 'kCn dk gksrk gS\ ¼1½¼1½¼1½¼1½ 
iz-9 D;k ^^’ku^^ vadq’k izkjEHk esa Hkh yxk;k tkrk gS\ ¼1½¼1½¼1½¼1½ 
iz-10 izLrko dk 'kCn fpUg fdl LFkku ij cuk;k tkrk gS\ ¼1½¼1½¼1½¼1½ 
iz-11 D;k vafre js[kk ds ckn Loj vkus ij js[kk dks vk/kk fd;k tk ldrk gS\ 

mnkgj.k nsdj Li"V djsaaA 
¼¼¼¼2222½½½½ 

iz-12 y?kq Loj ,oa nh?kZ Loj ds rhu&rhu mnkgj.k nhft,A ¼¼¼¼2222½½½½ 
iz-13 ^^l^^ oÙ̀k oØ js[kk{kjksa esa dgk¡ yxk;k tkrk gS\ ¼¼¼¼2222½½½½ 
iz-14 'kCn fpUg fdls dgrs gSa\ mnkgj.k nhft,A ¼¼¼¼2222½½½½ 
iz-15 dkV iz;ksx ds fl)k¡r ls eq[;r% D;k ykHk gksrk gS\ mnkgj.k lfgr 

le>kb,A 
¼¼¼¼4444½½½½ 

iz-16 fuEufyf[kr fjDr LFkkuksa dh iwfrZ dhft,&  
¼v½  vafre cM+k ^^l^^ o`Ùk ----------------------------------------------------------- dks n’kkZrk gSA 
¼c½  okD;ka’k esa cM+s o`Ùk dk iz;ksx ------------------------- ds fy, fd;k tkrk gSA 
¼l½  Lr] Lrj] ywi dks oØ js[kk{kjksa ds ------------------------------ fy[kk tkrk gSA 
¼n½  'ky js[kk dks ges’kk --------------------------------------- dh vksj fy[kk tkrk gSA 

¼¼¼¼4444½½½½ 

iz-17 fuEufyf[kr 'kCnksa dks vk’kqfyfi esa fyf[k,&¼dksbZ pkj½ 
¼i½   jkT;iky  ¼ii½   eq[;ea=h 
¼iii½  dysDVj  ¼iv½  rglhynkj 
¼v½   ea=h   ¼vi½  iz/kkuea=h         

¼¼¼¼4444½½½½ 

------------------------------- 
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fo"k; % [kk| lalk/kufo"k; % [kk| lalk/kufo"k; % [kk| lalk/kufo"k; % [kk| lalk/ku    

Subject: FOOD PROCESSING 

(Hindi and English Version) 
le; % 02 ?k.Vs                                                                           iw.kk±d % 040 
Time: 02 Hours                                                                   Maximum Marks: 040 

    

funsZ’k %&funsZ’k %&funsZ’k %&funsZ’k %&        

    (i)     lHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaA    

    (ii)     iz’u Øekad 1 ls 2 rd oLrqfu"B iz’u gSaA izR;sd iz’u 1iz’u Øekad 1 ls 2 rd oLrqfu"B iz’u gSaA izR;sd iz’u 1iz’u Øekad 1 ls 2 rd oLrqfu"B iz’u gSaA izR;sd iz’u 1iz’u Øekad 1 ls 2 rd oLrqfu"B iz’u gSaA izR;sd iz’u 1××××5¾5 vad dk gSA 5¾5 vad dk gSA 5¾5 vad dk gSA 5¾5 vad dk gSA     

    (iii)     iz’u Øekad 3 ls 12 rd vfry?kqÙkjh; iz’u gSaiz’u Øekad 3 ls 12 rd vfry?kqÙkjh; iz’u gSaiz’u Øekad 3 ls 12 rd vfry?kqÙkjh; iz’u gSaiz’u Øekad 3 ls 12 rd vfry?kqÙkjh; iz’u gSa    ftu ij 2&2 vad vkoafVr gSaA mÙkj ftu ij 2&2 vad vkoafVr gSaA mÙkj ftu ij 2&2 vad vkoafVr gSaA mÙkj ftu ij 2&2 vad vkoafVr gSaA mÙkj 

lhek yxHkx 15 'kCnA lhek yxHkx 15 'kCnA lhek yxHkx 15 'kCnA lhek yxHkx 15 'kCnA     

 (iv)     iz’u Øekad 13 ,oa 14 y?kqÙkjh; iz’u gSa ftu ij 3&3 vad vkoafVr gSaA mÙkj lhek iz’u Øekad 13 ,oa 14 y?kqÙkjh; iz’u gSa ftu ij 3&3 vad vkoafVr gSaA mÙkj lhek iz’u Øekad 13 ,oa 14 y?kqÙkjh; iz’u gSa ftu ij 3&3 vad vkoafVr gSaA mÙkj lhek iz’u Øekad 13 ,oa 14 y?kqÙkjh; iz’u gSa ftu ij 3&3 vad vkoafVr gSaA mÙkj lhek 

yxHkx 30 'kCnAyxHkx 30 'kCnAyxHkx 30 'kCnAyxHkx 30 'kCnA    

 (v)     iz’u Øekad 15 nh?kZÙkjh; iiz’u Øekad 15 nh?kZÙkjh; iiz’u Øekad 15 nh?kZÙkjh; iiz’u Øekad 15 nh?kZÙkjh; iz’u gSz’u gSz’u gSz’u gS    ftl ij 4 vad vkoafVr gSftl ij 4 vad vkoafVr gSftl ij 4 vad vkoafVr gSftl ij 4 vad vkoafVr gSA mÙkj lhek yxHkx A mÙkj lhek yxHkx A mÙkj lhek yxHkx A mÙkj lhek yxHkx 

45 'kCnA45 'kCnA45 'kCnA45 'kCnA              

    (vi)     iz’u Øekad 13 ls 15 esa vkarfjd fodYi fn, gSaA  iz’u Øekad 13 ls 15 esa vkarfjd fodYi fn, gSaA  iz’u Øekad 13 ls 15 esa vkarfjd fodYi fn, gSaA  iz’u Øekad 13 ls 15 esa vkarfjd fodYi fn, gSaA      

Note:-  

 (i) All questions are compulsory. 

 (ii)  Question No. 1-2 are objective type questions & each question is allotted 

1××××5=5 marks.  

 (iii) Question No. 03-12 are very short answer questions and are allotted 2-2 

marks each. Answer limit is approx 15 words.   

 (iv) Question No. 13 & 14 are short answer questions and are allotted 3-3 

marks each. Answer limit is approx 30 words. 

 (v) Question No. 15 is long answer question, allotted 4 marks. Answer limit 

is approx 45 words. 

        (vi) Internal options are given in questions No. 13-15. 
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iz-1 lgh fodYi fyf[k, & ¼5½¼5½¼5½¼5½ 

 (i) Hkkstu idkus dh loksZÙke fof/k gS & 
 (a) mckyuk   (b) ryuk  
 (c) Hkwuuk    (d) Hkki esa idkuk 

 

 (ii) lw{e iks"kd rRo gaS &  
 (a) dkcksZgkbMªsV~l   (b) olk 
 (c) foVkfeu    (d) izksVhu 

 

 (iii) ykSg rRo ¼vk;ju½ dh deh ls gksrk gS &  
 (a) ?ksa?kk     (b) jrkSa/kh  
 (c) fjdsV~l    (d) jDrghurk 

 

 (iv) dkyh fepZ esa feykoV dh tkrh gS &  
 (a) iihrs ds cht   (b) jk[k dh  
 (c) bZaV dk pwjk   (d) ikuh dh 

 

 (v) iz;qDr jklk;fud ifjj{kd gksus pkfg, &  
 (a) lqjf{kr ek=k esa   (b) cgqr vf/kd ek=k esa 
 (c) cgqr de ek=k esa  (d) fcydqy ugha 

 

 Choose the correct option-   

 (i) Best method of Cooking is -  

 (a) Boiling    (b) Frying  

 (c) Roasting    (d) Steaming 

 

 (ii) Micronutrients are -  

 (a) Carbohydrates  (b) Fats  

 (c) Vitamins    (d) Proteins 

 

 (iii) Deficiency of Iron causes -  

 (a) Goitre    (b) Night blindness  

 (c) Rickets    (d) Anemia 

 

 (iv) Black pepper is adulterated with-   

 (a) Papaya seeds  (b) Ash  

 (c) Brick powder   (d) Water 

 

 (v) Amount of chemical preservatives used should be -  

 (a) Within safe limit (b) Excessive  

 (c) Very less amount  (d) Nil 
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iz-2 lgh tksfM+;k¡ cukb;s &  

           ¼v½        ¼c½  

(i) dsd       (i) de nke ¼dher½ ij  

(ii) midj.k       (ii) vkyw fpIl 

(iii) fuoZYdu       (iii) le; o 'kfDr dh cpr  

(iv) ekSleh Qy o lfCt;k¡    (iv) csfdax 

(v) futZyhdj.k      (v) Qfy;k¡ 

¼¼¼¼5555½½½½ 

 Match the columns - 

 (A)        (B)  

(i) Cake       (i) Low in price  

(ii) Utensils       (ii) Potato chips  

(iii) Decortication      (iii) Save energy & time  

(iv) Seasonal fruits & vegetables          (iv) Baking  

(v) Dehydration      (v) Legumes 

 

iz-3 feykoV D;ksa dh tkrh gS\  

Why is adulteration done?    

¼2½¼2½¼2½¼2½ 

iz-4 miHkksDrk f’k{kk D;k gS\      

What is Consumer Education?  

¼2½¼2½¼2½¼2½ 

iz-5 [kk| laj{k.k fdls dgrs gSa\     

What is Food Preservation? 

¼2½¼2½¼2½¼2½ 

iz-6 [kk| lalk/ku D;k gS\      

What is Food Processing?  

¼2½¼2½¼2½¼2½ 

iz-7 gkbMªkstuhdj.k D;k gS\  

What is hydrogenation?   

¼2½¼2½¼2½¼2½ 

iz-8 [kk| ifjj{k.k ds ykHk fyf[k,A 

Write the advantages of food preservation.  

¼2½¼2½¼2½¼2½ 
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iz-9 jklk;fud ifjj{kdksa dk mi;ksx djrs le; fdu ckrksa dk /;ku j[ksaxs\ 

What are the precautions kept in mind while using chemical  

preservatives?  

¼2½¼2½¼2½¼2½ 

iz-10 izfØ;k fp= ¼¶yks 'khV½ fuekZrk ds fy;s D;ksa t:jh gS\ 

Why flow sheet (diagram/chart) is necessary for a producer?  

¼2½¼2½¼2½¼2½ 

iz-11 xq.koÙkk fu;a=.k ds Lrj fyf[k;s\ 

Write the levels of quality control? 

¼2½¼2½¼2½¼2½ 

iz-12 dwM+s&djdV ds lqjf{kr fuiVku ds fu;e fyf[k;s\ 

Write the safety ways of disposing garbage?  

¼2½¼2½¼2½¼2½ 

iz-13 Hkkstu idkus dh fofHkUu fof/k;k¡ dkSu&dkSu lh gaS\  

What are the different methods of cooking?  

vFkokvFkokvFkokvFkok@@@@OR    

Hkkstu idkus ds mÌs’; D;k&D;k gSa\  

What are the aims of cooking? 

¼¼¼¼3333½½½½ 

iz-14 miHkksDrk ds vf/kdkj dkSu&dkSu ls gaS\  

What are the Rights of Consumer?  

vFkokvFkokvFkokvFkok@@@@OR    

miHkksDrk dh leL;k,a dkSu&dkSu lh gaS\  

What are the problems of Consumers? 

¼¼¼¼3333½½½½ 

iz-15 Hkkstu ds dk;Z fyf[k;sA  

Write the functions of food.  

vFkokvFkokvFkokvFkok@@@@OR    

LFkwy ,oa lw{e iks"kd rRo D;k gaS\  

What are the Micro & Macronutrients? 

¼¼¼¼4444½½½½ 

 

 

------------------------------- 
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dqy iz’uksa dh la[;k % 14                                              dqy i`"Bksa dh la[;k % 03 
Total No. of Questions:  14                                                   Total No. of Pages: 03 
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605 

fo"k; %fo"k; %fo"k; %fo"k; % dVkbZ] flykbZ ,oa iks’kkd fuekZ.kdVkbZ] flykbZ ,oa iks’kkd fuekZ.kdVkbZ] flykbZ ,oa iks’kkd fuekZ.kdVkbZ] flykbZ ,oa iks’kkd fuekZ.k    
Subject: CUTTING, TAILORING AND DRESS MAKING 

le; % 02 ?k.Vs                                                                     iw.kk±d % 040 
Time: 02 Hours                                                               Maximum Marks: 040 

    

funsZ’k%&funsZ’k%&funsZ’k%&funsZ’k%&                

    lHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaA    

INSTRUCTIONS: -    

 All questions are compulsory.  

iz-1 fjDr LFkku dh iwfrZ dhft,&  

(i) ckWDl IyhV dk iz;ksx ------------------------------------------------ diM+ksa esa fd;k tkrk gSA 

(ii)   [kq’kh ds volj ij ------------------------------oL=ksa dk iz;ksx fd;k tkrk gSA 

(iii) ys vkmV diM+s dh ----------------------------------------------------- lkbM ij djuk pkfg,A 

(iv) cqjnkj diM+ksa dks --------------------------------------------------------------- ls izsl djuk pkfg,A 

(v) uki ysrs le; O;fDr ds --------------------------------------------- vksj [kM+s gksuk pkfg,A 

¼¼¼¼5½5½5½5½    

 Fill in the blanks-  

(i) Box pleats are used in …………….……….………. garments.  

(ii) ........................ clothes are preferred on festive occasions. 

(iii) Layout should be done on the ………………. side of the 

        fabric. 

(iv) Piled fabrics should be pressed with a ………………………..   

(v) Stand to the ……………side of the person being measured.  
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iz-2 lR; @ vlR; fyf[k,& 

(i) iSaV o Cykmt ds gqd ,d leku gaSA 

(ii) iSVuZ dsoy isij ij gh cuk;k tkrk gSA 

(iii) ikbfiax yxkrs le; iÍh dks [khapdj ugha yxkuk pkfg,A 

(iv) izsl djus ls igys izsl dks pSd djuk pkfg,A 

(v) fti ges’kk [kksydj yxkuh pkfg,A 

¼¼¼¼5½5½5½5½ 

 Write True or False- 

(i) The same kind of hooks are used in pants and blouses.  

(ii) Pattern is made only on paper.  

(iii) The bias strap should not be stretched while attaching.   

(iv) The press should be checked before pressing.  

(v) Zip should be kept open while attaching.  

    

iz-3 Qsflax D;k gS\       

What is facing?   

¼2½¼2½¼2½¼2½ 

iz-4 Yks vkmV fdls dgrs gSa\  

What is layout?  

¼2½¼2½¼2½¼2½ 

iz-5 cSysUl ekdZ fdls dgrs gSa\  

What do you mean by balance mark?  

¼2½¼2½¼2½¼2½ 

iz-6 isij iSVuZ ds izdkj fyf[k,A  

Write the types of paper pattern.  

¼2½¼2½¼2½¼2½ 
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iz-7 rqjikbZ dk Vk¡dk ,oa dkt Vk¡dk le>kb;sA 

Explain the Hemming stitch and Button hole stitch. 

¼2½¼2½¼2½¼2½ 

iz-8 MkV~Zl dh D;k vko’;drk gS\ 

What are the needs of darts?  

¼2½¼2½¼2½¼2½ 

iz-9 xeZ jax ,oa B.Ms jax dks le>kb;sA 

Explain the warm colours and cool colours.  

¼3¼3¼3¼3½½½½ 

iz-10 ys & vkÅV ds fl)kUr fyf[k;sA  

Write the principles of layout.  

¼3¼3¼3¼3½½½½ 

iz-11 dfVax ds midj.kksa dk o.kZu dhft,A 

Describe the equipments of cutting. 

¼3¼3¼3¼3½½½½ 

iz-12 izsl djrs le; D;k&D;k lko/kkfu;k¡ j[kuh pkfg,\ 

What are the precautions that should be kept in mind while doing 

 press? 

¼3¼3¼3¼3½½½½ 

iz-13 fQfVax esa vkus okys nks"kksa ds dkj.k fyf[k;sA 

Write the defects that can occur while doing fitting.  

¼3¼3¼3¼3½½½½ 

iz-14 jax o fMtkbu dk O;fDrRo ij izHkko le>kb;sA 

Explain the effect of colours and design on human personality.  

¼3¼3¼3¼3½½½½ 

 

 

------------------------------- 
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     616 
fo"k; % fo"k; % fo"k; % fo"k; %  dEI;wVj gkMZos;j] vlsEcyh ,oa esUVsusUldEI;wVj gkMZos;j] vlsEcyh ,oa esUVsusUldEI;wVj gkMZos;j] vlsEcyh ,oa esUVsusUldEI;wVj gkMZos;j] vlsEcyh ,oa esUVsusUl    

Subject: COMPUTER HARDWARE, ASSEMBLY AND MAINTENANCE 

le; % 03 ?k.Vs                                                                           iw.kk±d % 040 

Time: 03 Hours                                                                   Maximum Marks: 040 

    

funsZ’k %&funsZ’k %&funsZ’k %&funsZ’k %& lHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaA    

Note :- All questions are compulsory. 

  

iz-1 fjDr LFkkuksa dh iwfrZ dhft,&  

(i) ckbujh la[;k iz.kkyh esa vad -------------------------- vkSj ---------------------------- gaSA 

(ii) ------------------------- eq[; eseksjh gSA 

(iii) ALU dk iwjk uke --------------------------------------- gSA 

(iv) SMPS dk iwjk uke ------------------------------------ gSA 

(v) FDD dk iwjk uke ------------------------------------- gSA 

¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Fill in the blanks-  

(i) Binary no. system has digits ………… and …………….. 

(ii) ……………….. is a Main Memory. 

(iii) ALU stand for ………………… . 

(iv) SMPS stand for …………………. . 

(v) FDD stand for ……………….. . 
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iz-2 lR;@vlR; fyf[k, & 

(i) Parallel data transmission T;knk rst+ gksrk gS] Serial data  

     transmission dh rqyuk esaA 

(ii) Mkdir commands,directory or subdirectory (create) cukus ds  

     fy, bLRksEkkYk djrs gaSA 

(iii) Audio device driver dks uninstall ugha fd;k tk ldrk gSA 

(iv) Autonomous system dk collection, Network dgykrk gSA 

(v) Register ,d (Permanent) LFkk;h memory    eseksjh gSA 

¼1¼1¼1¼1××××5555====5½5½5½5½ 

 Write True or False- 

(i) Parallel data transmission is much faster than Serial data  

        transmission. 

(ii) Mkdir commands are used to create a directory or 

 subdirectory.  

(iii) Audio device driver cannot be uninstalled.  

(iv) Collection of Autonomous system is called Network. 

(v) Register is a permanent memory. 

 

iz-3 dEI;wVj D;k gS\ CykWd vkjs[k ds lkFk le>k,A 

What is Computer? Explain with block diagrams.    

¼2½¼2½¼2½¼2½ 

iz-4 dEI;wVj eseksjh D;k gS\    

What is Computer Memory?    

¼2½¼2½¼2½¼2½ 
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iz-5 ekWMse D;k gS\    

What is MODEM?    

¼2½¼2½¼2½¼2½ 

iz-6 fofHké izdkj ds lh ih ;w jftLVjksa dh O;k[;k dhft;sA    

Explain different types of CPU registers.    

¼2½¼2½¼2½¼2½ 

iz-7 lekukarj vkSj lhfj;y Vªkalfe’ku D;k gS\    

What is Parallel and Serial transmission?    

¼2½¼2½¼2½¼2½ 

iz-8 ;w ,l ch D;k gS\    

What is USB?    

¼2½¼2½¼2½¼2½ 

iz-9 LFkkiuk izfØ;k dh O;k[;k djasA    

Explain Installation Process.     

¼2½¼2½¼2½¼2½ 

iz-10 fu;a=.k d{k D;k gS\      

What is Control Panel?    

¼2½¼2½¼2½¼2½ 

iz-11 enjcksMZ dks le>kb,A      

Explain Motherboard.    

¼2½¼2½¼2½¼2½ 

iz-12 Computer Attacks D;k gS\ 

What is Computer Attacks?    

¼2½¼2½¼2½¼2½ 
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iz-13 usVodZ D;k gS\ fuEufyf[kr dh O;k[;k djas% 

(i)   yksdy ,fj;k usVodZ 

(ii) esVªksiksfyVu ,fj;k usVodZ 

(iii) okbM ,fj;k usVodZ    

What is Network? Explain the followings: 

(i)    Local Area Network (LAN) 

(ii)   Metropolitan Area Network (MAN) 

(iii)  Wide Area Network (WAN)    

¼3¼3¼3¼3½½½½ 

iz-14 ok;jl D;k gS\ fofHké izdkj ds ok;jl dh O;k[;k djsaA 

What is Virus? Explain different types of Computer virus.    

¼¼¼¼3333½½½½ 

iz-15 eseksjh inkuqØe dks la{ksi esa crk,A    

Explain Memory Hierarchy in brief.  

vFkok@OR 

ekWuhVj D;k gS\ laf{kIr esa fofHké izdkj ds ekWfuVjkas dh O;k[;k djsaA 

What is Monitor? Explain different types of monitors in brief.     

¼¼¼¼4444½½½½ 

 

------------------------------- 


